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#GH@BGI & 

.;JKALB@B> @=I;BKE@==M CBKH;=BDE J 

«/>MEA;==M B<KH=GNDE K O@PQKB=DR ES>B;ADE 

TDH S@C E>IG<>CB@==M =@ES@AL=>R B@ IGOK=DI@B>E=>R CB<@B;UDP 

=@ J@=MBBMR J T<@IB>S=GUG IK<CK @=UADPCLIGV OGE> 

=@ 1–2 IK<C@R =@ES@==M» 

%DCW; T<GE;H;==M: !DV5EM:D< =6;8?=67M=D< 78=L58EIDK=D< >=85GAEDIGI  
7T;WD@AL=DCBL: 4?56 I6 78IGA6I>A6 
#@B@ T<GE;H;==M: 2011–2013 =.A. 
9DALIDCBL CBKH;=BDE, MID Q<@A> KS@CBL E @=I;BKE@==D: 220 EI>JG=I85  
 
%;B@ @=I;BKE@==M: 5D5KDID @A?;GE 9?AH>56==B =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 5 @A?;GE8 J867?L8K=?L? H?57G==B =6 N6=BIIBC N @A6:IDK=?L? 
:>AE> 6=L78<EM:?V H?5D =6 1–2 :>AE6C I6 5DB5DID IA>J=?\8, B:8 5D=D:6TIM @8J 
K6E E@87:>56==B.  
 
.;JKALB@B> @=I;BKE@==M:  
1. ]: K6EI? $D E@87:>PIGEM 6=L78<EM:?T H?5?T? 

! A6N =6 JG=M – 79 %; 
! A6N =6 IDRJG=M – 6 %; 
! A6N =6 H8EB;M – 1 %; 
! =8:?7D – 0 %; 
! $6S 56A86=I – 15 %. 

2. FG $D @GAG56R=? E@87:>PIGEM 6=L78<EM:?T H?5?T? 
! 5J?H6 – 13 %; 
! > LA?H6JEM:DC H8E;BC – 11 %; 
! @? IG7G9?=> – 11 %; 
! N6E?Q6HD HGAGR8 +=IGA=GI – 55 %; 
! @A?RD56TKD N8 EI>JG=I6HD N6 ?QH8=?H – 10 %; 
! =6 N6=BIIBC N @A6:ID:D 6=L78<EM:?V H?5D – 84 %; 
! $6S 56A86=I – 1 %. 

3. (6 B:8 IGHD $D 7TQDIG E@87:>56IDEM? 
! H>ND:6 – 67 %; 
! E@?AI – 22 %; 
! E?;867M=8 HGAGR8 – 34 %; 
! :8=? – 71 %; 

! IG6IA – 24 %; 
! H?J6 – 29 %; 
! =65K6==B – 52 %; 
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! $6S 56A86=I – 19 %. 

4. !?7D $D E@87:>PIGEM, B:8 IA>J=?\8 $D 58JK>56PIG? 
! IA>J=?\8 5 A?N@?KD=6==8, @8JADH;8 I6 N65GASG==8 @A?EI?V A?NH?5D =6 
N=6<?H> KD ;8:65> J7B HG=G IGH> – 8 %; 

! IA>J=8EIM QA6ID >K6EIM > A?NH?58 KD JDE:>E8V =6 N=6<?H8 IGHD, N65RJD 
@?IAGQ>T, \?Q H8< E@85A?NH?5=D: J?J6I:?5? >I?K=D5 5DE7?57G==B 
E5?PV J>H:D – 6 %; 

! IA>J=8EIM 5DA6R6ID E5?V @?K>IIB I6 GH?;8V, 6 I6:?R AG6L>56ID =6 
5DA6RG==B ;DC @?K>II85 I6 GH?;8< 8=SDHD 7TJMHD – 23 %; 

! IA>J=8EIM QGN @8JL?I?5:D QA6ID >K6EIM > J867?L6C =6 N=6<?H8 HG=8 IGHD, 
@?BE=T56ID, > K?H> E>IM @A?Q7GHD – 17 %; 

! IA>J=8EIM ?QH8=T56IDEM 8=9?AH6;8PT, J>H:6HD > JDE:>E8V I6 5D:76J6ID 
?E?QDEID< @?L7BJ JA>NBH – 21 %; 

! $6S 56A86=I – 27 %. 
5. $DN=6KIG =6 E:87M:D 7GL:? KD 56R:? $6H 5J6PIMEB A?NH?56. 

5.1  3?N@?K6ID, @8JADH6ID I6 N65GASGID @A?EI> A?NH?5> =6 N=6<?H> KD 
;8:65> J7B HG=G IGH>; 

! 7GL:? – 31 %;  
! J?EI6I=M? 7GL:? – 41 %;  
! @?H8A=? – 27 %; 
! J?EI6I=M? E:76J=? – 1 %; 
! E:76J=? – 0 %. 

5.2  XA6ID  >K6EIM > A?NH?58 KD JDE:>E8V =6 N=6<?H8 IGHD; 
! 7GL:? – 36 %;  
! J?EI6I=M? 7GL:? – 41 %;  
! @?H8A=? – 22 %; 
! J?EI6I=M? E:76J=? – 0 %; 
! E:76J=? – 1 %. 

5.3  $DA6R6ID E5?V @?K>IIB I6 GH?;8V, 6 I6:?R AG6L>56ID =6 5DA6RG==B ;DC 
@?K>II85 I6 GH?;8< 8=SDHD 7TJMHD; 

! 7GL:? – 25 %;  
! J?EI6I=M? 7GL:? – 36 %;  
! @?H8A=? – 35 %; 
! J?EI6I=M? E:76J=? – 4 %; 
! E:76J=? – 0 %. 

5.4  XGN @8JL?I?5:D QA6ID >K6EIM > J867?L6C =6 N=6<?H8 IGHD, @?BE=T56ID, > 
K?H> E>IM @A?Q7GHD; 

! 7GL:? – 17 %;  
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! J?EI6I=M? 7GL:? – 30 %;  
! @?H8A=? – 42 %; 
! J?EI6I=M? E:76J=? – 11 %; 
! E:76J=? – 0 %. 

5.5  ,QH8=T56IDEM 8=9?AH6;8PT, J>H:6HD > JDE:>E8V I6 5D:76J6ID ?E?QDEID< 
@?L7BJ JA>NBH; 

! 7GL:? – 28 %;  
! J?EI6I=M? 7GL:? – 36 %;  
! @?H8A=? – 28 %; 
! J?EI6I=M? E:76J=? – 5 %; 
! E:76J=? – 3 %. 

6. 0D @?H8K6PIG $D @?HD7:D > E5?PH> H?57G==8? 
! I6: – 88 %; 
! =8 – 12 %. 

7. ]:8 ID@?58 @?HD7:D $D A?QDIG? 
!"#$#%&'(): 

! =GJ?IADH6==B @A65D7 5RD56==B 
K6E85 – 54 %; 

! =G@A65D7M=D< @?ABJ?: E785 – 25 %; 
! =G@A65D7M=G >I5?AG==B @DI67M=DC 8 
N6@GAGK=DC AGKG=M – 10 %; 

! @?A>SG==B 5RD56==B @6ED5=?L? 
EI6=> – 9 %; 

! NH8S>56==B 9?AH ?:AGHDC 
=G@A65D7M=DC J8PE785 – 13 %; 

! =G@A65D7M=D< 5DQ8A 9?AHD J8PE7?56 
– 10 %; 

! =G@A65D7M=G 5RD56==B @ADE785=D:85 
8 @AD:HGI=D:85 – 7 %; 

! =G@A65D7M=D< @?ABJ?: @AD:HGI=D:85 
> AGKG==8 – 15 %; 

! =G@A65D7M=G 5RD56==B @ADE58<=?L? 
58JH8=:6 8HG==D:6 – 2 %; 

! =G@A65D7M=G 5RD56==B N6<HG==D:85 
– 4 %; 

! 5RD56==B :67M:?56=DC EIA>:I>A N 
A8J=?V H?5D – 30 %. 

*+,-&'(): 
! =G@A65D7M=D< 5DQ8A ED=?=8H85 – 14 

%; 
! =GN=6==B EGH6=ID:D 7G:EDK=DC 
?JD=D;M – 21 %; 

! =G5H8==B @A65D7M=? @?PJ=>56ID 
7G:EDK=8 ?JD=D;8 – 12 %; 
./(+%&'(): 

! =G@A65D7M=6 JDE:ADH8=6;8B N5>:?5
DC ?JD=D;M – 15 %; 

! =GK8I:6, =G@A65D7M=6 
6AID:>7B;8B, 8=I?=6;8B I6 
5DE?I6 I?=> – 42 %; 

! =G@A65D7M=G E@8558J=GEG==B 
N5>:?5?L? I6 LA698K=?L? ?QA6N85 
H?5=DC 8 H?57G==P5DC ?JD=D;M – 
10 %. 

! $6S 56A86=I – 0 %. 
8. ]:\? @?H8K6PIG @?HD7:D, B:DH KD=?H VC 5D@A657BPIG? 

! N6@DI>T @A65D7M=> 58J@?58JM – 19 %;  
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! @?5I?ATT AGKG==B 8N @A65D7M=?T 58J@?58JJT – 76 %;  
! N6@DE>T @A65D7M=D< 56A86=I – 14 %; 
! @GAG9A6N?5>T – 55 %; 
! $6S 56A86=I – 1 %. 

9. ^?, =6 $6S> J>H:>, A?N>H8TIM @8J IGAH8=?H «=65K67M=?-EIA6IGL8K=6 
:?H@GIG=I=8EIM»? 

! NJ6I=8EIM =65K6IDEB E6H?EI8<=? I6 NJ?Q>56ID =?58 N=6==B – 20 %; 
! NJ6I=8EIM :?H@G=E>56ID 5 @A?;GE8 E@87:>56==B =GJ?EI6I=8EIM H?5=DC 

N=6=M – 12 %; 
! NJ8Q=8EIM EIA6IGL8K=? @76=>56ID 5D5KG==B =?5DC 7G:EDK=DC ?JD=D;M, 

?@6=>56==B @G5=?L? H6IGA867> – 68 %; 
! $6S 56A86=I – 1 %. 

10. 0D J?EI6I=M?, =6 $6S> J>H:>, K6E> @ADJ87BPIMEB J7B 9?AH>56==B 
=65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 5 J867?L8K=?H> H?57G==8 =6 N6=BIIBC N 
@A6:ID:D 6=L78<EM:?V H?5D? 

! I6: – 49 %; 
! =8 – 51 %. 

11. 0D 556R6PIG $D N6 =G?QC8J=G 9?AH>56==B =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 > $([? 

! I6: – 92 %; 
! =8 – 8 %. 

12. (6 B:?H> EI>@G=8 @8JL?I?5:D Q6:6765A85 $D 556R6PIG N6 J?;87M=G 9?AH>56==B 
=65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > J867?L8K=?H> H?57G==8? 

! =6 @GAS?H> :>AE8 – 49 %; 
! =6 JA>L?H> :>AE8 – 41 %; 
! =6 IAGIM?H> :>AE8 – 14 %; 
! =6 KGI5GAI?H> :>AE8 – 6 %. 

13. (6 B:DC E6HG N6=BIIBC, =6 $6S> J>H:>, J?;87M=? 9?AH>56ID  =65K67M=?-
EIA6IGL8K=> :?H@GIG=I=8EIM > J867?L8K=?H> H?57G==8? 

! @8J K6E N6=BIM N @A6:ID:D 6=L78<EM:?V H?5D – 79 %; 
! @8J K6E 7G:;8< N HGI?JD:D =65K6==B 8=?NGH=DC H?5 – 8 %; 
! @8J K6E @A6:IDK=DC N6=BIM N HGI?JD:D =65K6==B 8=?NGH=DC H?5 – 21 %. 

14. (6 $6S> J>H:>, 9?AH>56==B =65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > 
J867?L8K=?H> H?57G==8 P =G?QC8J=DH J7B @8J5D\G==B A85=B 5?7?J8==B 
6=L78<EM:?T H?5?T? 

! I6: – 89 %; 
! =8 – 11 %. 
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15. 0D 58JK>56PIG $D IA>J=8EIM @GAG@DI6ID 6=L78<EM:?T H?5?T =GNA?N>H87> 
$6H 8=9?AH6;8T =6 7G:;8BC N :>AE85 78=L58EIDK=DC JDE;D@78= 6=L78<EM:?T 
H?5?T? 

! I6: – 62 %; 
! =8 – 38 %. 

15.1 ]:DH KD=?H $D VV J?76PIG? 
! $6S 56A86=I – 9 %. 

16. 0D IA6@7B7?EM, \? @8J K6E A?NH?5D $D =G H?L7D @?BE=DID E@85A?NH?5=D:> 
E5?T J>H:>, \? @ADN5?JD7? J? N65GASG==B A?NH?5D? 

! N6N5DK6< I6: 8 58JQ>56PIMEB – 11 %; 
! K6EI? – 64 %; 
! A8J:? – 23 %;  
! =8:?7D – 2 %; 
! $6S 56A86=I – 0 %. 

17. ]: $D @?KD=6PIG N6N5DK6< J867?L? 
! A?N@?58J6T 8EI?A8T, B:6 N6;8:65DIM E@85A?NH?5=D:6 – 31 %; 
! B N6N5DK6< N6@DI>T, \?Q A?N@?K6ID A?NH?5> – 51 %; 
! B =G 7TQ7T A?N@?KD=6ID A?NH?5> @GASDH(-?T) – 17 %; 
! $6S 56A86=I  – 4 %. 

18. ]:\? $D EID:6PIGEB N @G5=?T IA>J=8EIT @8J K6E E@87:>56==B, B:8 IGC=8:D $D 
5D:?ADEI?5>PIG J7B @?J?76==B IA>J=?\85? 

! K6EI? @A?S> @?5I?ADID @DI6==B – 36 %; 
! @A?S> @?BE=DID =GN=6<?H8 E7?56, 5DA6ND, I?\?; – 60 % 
! 58JIBL>T K6E 58J@?58J8 – 5 %; 
! QGA> 6:ID5=> >K6EIM > J867?N8 – 15 %; 
! 5DA6R6T 8=IGAGE J? 58J@?58J=?V IGHD I6 N6J6T @DI6==B – 27 %; 
! 5DA6R6T I6 58JEI?TT E5?T J>H:> – 11 %; 
! $6S 56A86=I – 0 % 

19. ]: $D N6N5DK6< N65GAS>PIG J867?L? 
! @GASDH(-?T) @8JQD56T @8JE>H:D A?NH?5D – 10 %; 
! JB:>T N6 E@87:>56==B, 5DA6R6TKD @?K>IIB \?J? ?QL?5?AG=?V IGHD – 67 %; 
! N67DS6T H?R7D58EIM E@85A?NH?5=D:> N65GASDID A?NH?5> – 19 %; 
! @?EI>@?5? H67? QGA> >K6EIM > A?NH?58 8 5?=6 E6H6 N65GAS>PIMEB – 6 %; 
! RGEI6HD I6 H8H8:?T N?QA6R>T, \? K6E >RG N65GASDID A?NH?5> – 3 %. 
! $6S 56A86=I – 1 %. 

20. ^? $D A?QDIG, \?Q >=D:=>ID @6>N @A?IBL?H J867?L>? 
! B:\? B =G N=6T @G5=?L? E7?56, B 5J6TEM J? ?@DE> – 55 %; 
! B:\? B =G N=6T E7?56, B @A?S> 5D:76J6K6 @GAG:76EID – 26 %; 
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! B N65RJD :?ADEI>TEM E7?5=D:?H – 5 %; 
! @GAGC?JR> =6 8=S> IGH>, E7?56 N B:?V HG=8 58J?H8 – 19 %; 
! $6S 56A86=I  – 3 %. 

21. 0D N=6PIG $D E58< 8=JD58J>67M=D< EID7M =65K6==B?  
! I6: – 41 %; 
! =8 – 59 %; 
! $6S 56A86=I 58J@?58J8  – 0 %. 

22. ]: $D 556R6PIG, $D 5H8PIG 5DN=6K6ID E58< 8=JD58J>67M=D< EID7M =65K6==B? 
! I6: – 33 %; 
! =8 – 67 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

23. F? B:?L? ID@> :?ADEI>56K6 8=?NGH=?T H?5?T (language learner) $D 
=67GRDIG? 

! 58N>67M=?H> – 53 %; 
! 6>J867M=?H> – 47 %; 
! I6:ID7M=?H> – 5 %; 
! J?E58J=?-GH?;8<=?H> – 33 %; 
! 6=678IDK=?H> – 12 %; 
! J8B7M=8E=?-?A8P=I?56=?H> – 10 %; 
! :?L=8ID5=?-6QEIA6:I=?H> – 9 %; 
! :?H>=8:6ID5=?-:??@GA6ID5=?H> – 27 %. 

24. 0D J?@?H6P, =6 $6S> J>H:>, $6H N=6==B E5?L? 8=JD58J>67M=?L? EID7T 
=65K6==B 5 ?5?7?J8==8 +4? 

! I6: – 68 %; 
! =8 – 32 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

25. ]: $D :?ADEI>PIGEM E5?VH 8=JD58J>67M=DH EID7GH =65K6==B? 
! J?QDA6T 5@A65D, B:8 @8JC?JBIM J7B H?L? EID7T – 11 %; 
! 5D:?=>T 7DSG I8 5@A65D, B:8 B NJ6IG=(-6) 5D:?=6ID – 9 %; 
! EDEIGH6IDK=? @?5I?ATT N6E5?P=D< =?5D< H6IGA867 – 33 %; 
! J?5?78 K6EI? :?ADEI>TEB E7?5=D:?H – 31 %; 
! 5D@DE>T =GN=6<?H8 E7?56 I6 KDI6T VC 5L?7?E – 34 %; 
! N=6C?JR> A8N=?H6I=8 6E?;86;8V J? E785, \?Q N6@6H’BI6ID VC – 52 %;  
! =8:?7D =6J ;DH =G N6HDE7TTEM – 7 %; 
! $6S 56A86=I 58J@?58J8 – 2 %. 

26. 0D 5H8PIG $D ?;8=T56ID E58< A85G=M =6Q>IDC N=6=M N +4? 
! I6: – 18 %; 



! 246 
! =8 – 46 %; 
! =G N6HDE7TTEM =6J ;DH – 34 %; 
! $6S 56A86=I 58J@?58J8 – 2 %. 

27. 0D 5H8==B ?;8=T56ID E58< A85G=M $6H EI6P > @ADL?J8 @8J K6E =65K67M=?L? 
@A?;GE>? 

! I6: – 27 %; 
! =8 – 68 %; 
! $6S 56A86=I 58J@?58J8 – 5 %. 

28. 0D @?J?Q6TIMEB $6H N65J6==B, \? @A?@?=>TIMEB > @8JA>K=D:6C/ @?E8Q=D:6C 
(=6 N6=BIIBC N +4) J7B ;8:65?L? 5D5KG==B H?5D? (=6@A. 5D5K6ID N6:?=?H8A=?EI8 
H?5D, B:8 J?@?H6L6TIM EDEIGH6IDN>56ID N=6==B) 

! I6: – 56 %; 
! =8 – 43 %; 
! $6S 56A86=I 58J@?58J8 – 1 %. 

29. ]: $D 556R6PIG, KD J?EI6I=B :87M:8EIM 5@A65, J7B I?L? \?Q >E@8S=? 
E@87:>56IDEB? 

! =8 – 55 %; 
! I6: – 43 %; 
! $6S 56A86=I 58J@?58J8 – 2 %. 

30. ]:DH 5@A656H $D =6J6PIG @GAG56L>, 6QD 5J?E:?=67DID =65D:D >E@8S=?L? 
E@87:>56==B? 

! 5D5K6T 58J@?58J=8 :78SG – 46 %; 
! :?ADEI>TEM ECGH6HD J867?L> – 25 %; 
! @A6:ID:>TEM > JG98=8;8BC – 29 %; 
! 5D:?ADEI?5>T H?5> I876, 6QD @?BE=DID @G5=8 E7?56, B:DC =G N=6T – 12 %; 
! $6S 56A86=I 58J@?58J8 – 16 %. 

31. ]: $D E6H8 ?;8=TPIG A85G=M E9?AH?56=?EI8 E5?PV =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8? 

! «5» – 58JH8==? – 5 %; 
! «4» – J?QAG – 58 %; 
! «3» – N6J?587M=G – 31 %; 
! «2» – =GN6J?587M=? – 6 %. 

 
F?EI?58A=8EIM I6 ?Q’P:ID5=8EIM ?IADH6=DC J6=DC Q>76 @GAG58AG=6 N6 

J?@?H?L?T HGI?J85 H6IGH6IDK=DC @8JA6C>=:85. 
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#GH@BGI 4 

.;JKALB@B> @=I;BKE@==M E>IA@H@SDE J 

«/>MEA;==M B<KH=GNDE K O@PQKB=DR ES>B;ADE 

TDH S@C E>IG<>CB@==M =@ES@AL=>R B@ IGOK=DI@B>E=>R CB<@B;UDP 

=@ J@=MBBMR J T<@IB>S=GUG IK<CK @=UADPCLIGV OGE> 

=@ 1-2 IK<C@R =@ES@==M E T<GW;CD GT>BKE@==M E>IA@H@SDE» 

%DCW; T<GE;H;==M: !DV5EM:D< =6;8?=67M=D< 78=L58EIDK=D< >=85GAEDIGI  
7T;WD@AL=DCBL: 4?56 I6 78IGA6I>A6 
#@B@ T<GE;H;==M: 2011–2013 =.A. 
9DALIDCBL E>IA@H@SDE, MID Q<@A> KS@CBL E @=I;BKE@==D: 14 5D:76J6K85  
 
%;B@ @=I;BKE@==M: 5D5KDID @A?;GE 9?AH>56==B =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 5 @A?;GE8 J867?L8K=?L? H?57G==B =6 N6=BIIBC N @A6:IDK=?L? 
:>AE> 6=L78<EM:?V H?5D =6 1–2 :>AE6C I6 5DB5DID IA>J=?\8, B:8 5D=D:6TIM @8J 
K6E E@87:>56==B.  
 
.;JKALB@B> @=I;BKE@==M:  
1. ^?, =6 $6S> J>H:>, H6P 5C?JDID J? E:76J> «=65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8» > J867?L8K=?H> H?57G==8? 
! NJ6I=8EIM :?ADEI>56K6 8=?NGH=?V H?5D >KDIDEM E6H?EI8<=? I6 NJ?Q>56ID =?58 
N=6==B – 57 %; 

! =6B5=8EIM @?5GJ8=:D, @76=85, IGC=8:D, E58J?HDC A?N>H?5DC ?@GA6;8<, IGC=8:D 
5DA8SG==B @A?Q7GH – 28 %; 

! E>:>@=8EIM 5KD=:85 I6 J8<, \? @?PJ=>TIMEB J7B NJ?Q>IIB @GAGH?LD – 21 %;  
! NJ6I=8EIM :?ADEI>56K6 8=?NGH=?V H?5D EIA6IGL8K=? @76=>56ID 5D5KG==B =?5DC 
7G:EDK=DC ?JD=D;M, ?@6=>56==B @G5=?L? H6IGA867> – 14 %; 

! HDEIG;I5? @76=>56==B I6 :??AJD=>56==B N6A6JD J?EBL=G==B HGID – 28 %;  
! NJ8Q=8EIM EI>JG=I6 :?H@G=E>56ID 5 @A?;GE8 E@87:>56==B =GJ?EI6I=8EIM 
H?5=DC N=6=M – 50 %; 

! $6S 56A86=I – 0 %. 
2. ]: K6EI?, =6 $6S> J>H:>, EI>JG=ID E@87:>TIMEB 6=L78<EM:?T H?5?T N6 
HGR6HD =65K67M=?V 6>JDI?A8V? 
! A6N =6 JG=M – 14 %; 
! A6N =6 IDRJG=M – 21 %; 
! A6N =6 H8EB;M – 35 %; 
! =8:?7D – 7 %; 
! $6S 56A86=I – 7 %. 

3. FG =6 $6S> J>H:> @GAG56R=? E@87:>PIMEB EI>JG=I 6=L78<EM:?T H?5?T? 
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! 5J?H6 – 0 %; 
! @? IG7G9?=> – 7 %; 
! N6E?Q6HD HGAGR8 8=IGA=GI – 78 %; 
! @A?RD56TKD N EI>JG=I6HD @? ?QH8=> – 0 %; 
! > LA?H6JEM:DC H8E;BC – 14 %; 
! =6 N6=BIIBC N @A6:ID:D 6=L78<EM:?V H?5D – 78 %; 
! $6S 56A86=I – 0 %. 

4. ]:8 IA>J=?\8 $D @?H8K6PIG > EI>JG=I85 @8J K6E VC=M?L? E@87:>56==B? 
! IA>J=?\8 @AD A?N@?KD=6==8, @8JIADH;8 I6 N65GASG==8 @A?EI?V A?NH?5D =6 
N=6<?H> KD ;8:65> J7B =DC IGH> – 36 %; 

! IA>J=8EIM QA6ID >K6EIM > A?NH?58 KD JDE:>E8V =6 N=6<?H8 IGHD, N65RJD 
@?IAGQ>P, \?Q <?L? E@85A?NH?5=D: J?J6I:?5? >I?K=D5 5DE7?57G==B E5?PV 
J>H:D – 0 %; 

! IA>J=8EIM 5DA6R6ID E5?V @?K>IIB I6 GH?;8V, 6 I6:?R AG6L>56ID =6 5DA6RG==B 
;DC @?K>II85 I6 GH?;8< 8=SDHD 7TJMHD – 36 %; 

! IA>J=8EIM QGN @8JL?I?5:D QA6ID >K6EIM > J867?L6C =6 N=6<?H8 <?H> IGHD, 
@?BE=T56ID > K?H> E>IM @A?Q7GHD – 36 %; 

! IA>J=8EIM ?QH8=T56IDEM 8=9?AH6;8PT, J>H:6HD > JDE:>E8V I6 5D:76J6ID 
?E?QDEID< @?L7BJ JA>NBH – 21 %; 

! $6S 56A86=I – 7 %. 
5. $DN=6KIG =6E:87M:D 7GL:? KD 56R:? EI>JG=I6H 5J6PIMEB E@87:>56==B. 

5.1 3?N@?K6ID, @8JADH6ID I6 N65GASGID @A?EI> A?NH?5> =6 N=6<?H> KD ;8:65> 
J7B =DC IGH>; 

! 7GL:? – 22 %;  
! J?EI6I=M? 7GL:? – 0 %;  
! @?H8A=? – 50 %; 
! J?EI6I=M? E:76J=? – 14 %; 
! E:76J=? – 14 %. 

5.2 XA6ID >K6EIM > A?NH?58 KD JDE:>E8V =6 N=6<?H8 EI>JG=I?58 IGHD; 
! 7GL:? – 0 %;  
! J?EI6I=M? 7GL:? – 50 %;  
! @?H8A=? – 50 %; 
! J?EI6I=M? E:76J=? – 0 %; 
! E:76J=? – 0 %. 

5.3 $DA6R6ID E5?V @?K>IIB I6 GH?;8V, 6 I6:?R AG6L>56ID =6 5DA6RG==B ;DC 
@?K>II85 I6 GH?;8< 8=SDHD 7TJMHD; 

! 7GL:? – 0 %;  
! J?EI6I=M? 7GL:? – 14 %;  
! @?H8A=? – 27 %; 
! J?EI6I=M? E:76J=? – 29 %; 
! E:76J=? – 30 %. 
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5.4 XGN @8JL?I?5:D QA6ID >K6EIM > J867?L6C =6 N=6<?H8 IGHD, @?BE=T56ID > 
K?H> E>IM @A?Q7GHD; 

! 7GL:? – 14 %;  
! J?EI6I=M? 7GL:? – 7 %;  
! @?H8A=? – 36 %; 
! J?EI6I=M? E:76J=? – 29 %; 
! E:76J=? – 14 %. 

5.5 ,QH8=T56IDEM 8=9?AH6;8PT, J>H:6HD > JDE:>E8V I6 5D:76J6ID ?E?QDEID< 
@?L7BJ JA>NBH; 

! 7GL:? – 7 %;  
! J?EI6I=M? 7GL:? – 43 %;  
! @?H8A=? – 36 %; 
! J?EI6I=M? E:76J=? – 14 %; 
! E:76J=? – 0 %. 

6. 0D @?H8K6TIM EI>JG=ID  576E=8 @?HD7:D > E5?PH> H?57G==8? 
! I6: – 21 %; 
! =8 – 79 %. 

7. ]:8 ID@?58 @?HD7:D 5?=D A?Q7BIM? 
!"#$#%&'(): 

! =GJ?IADH6==B @A65D7 5RD56==B K6E85 
– 100 %; 

! =G@A65D7M=D< @?ABJ?: E785 – 71 %; 
! =G@A65D7M=G >I5?AG==B @DI67M=DC 8 
N6@GAGK=DC AGKG=M – 36 %; 

! @?A>SG==B 5RD56==B @6ED5=?L? 
EI6=> – 57 %; 

! NH8S>56==B 9?AH ?:AGHDC 
=G@A65D7M=DC J8PE785 – 29 %; 

! =G@A65D7M=D< 5DQ8A 9?AHD J8PE7?56 
– 21 %; 

! =G@A65D7M=G 5RD56==B @ADE785=D:85 
8 @AD:HGI=D:85 – 21 %; 

! =G@A65D7M=D< @?ABJ?: @AD:HGI=D:85 
> AGKG==8 – 0 %; 

! =G@A65D7M=G 5RD56==B @ADE58<=?L? 
58JH8=:6 8HG==D:6 – 14 %; 

! =G@A65D7M=G 5RD56==B N6<HG==D:85 – 
29 %; 

! 5RD56==B :67M:?56=DC EIA>:I>A N 
A8J=?V H?5D – 50 %. 

*+,-&'(): 
! =G@A65D7M=D< 5DQ8A ED=?=8H85 – 

43 %; 

! =GN=6==B EGH6=ID:D 7G:EDK=DC 
?JD=D;M – 36 %; 

! =G5H8==B @A65D7M=? @?PJ=>56ID 
7G:EDK=8 ?JD=D;8 – 43 %; 
./(+%&'(): 

! =G@A65D7M=6 JDE:ADH8=6;8B 
N5>:?5DC ?JD=D;M – 36 %; 

! =GK8I:6, =G@A65D7M=6 
6AID:>7B;8B, 8=I?=6;8B I6 
5DE?I6 I?=> – 79 %; 

! =G@A65D7M=G E@8558J=GEG==B 
N5>:?5?L? I6 LA698K=?L? ?QA6N85 
H?5=DC 8 H?57G==P5DC ?JD=D;M – 
36 %. 
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! $6S 56A86=I – 7 %. 

8. ]:\? EI>JG=ID @?H8K6TIM @?HD7:D, B:DH KD=?H 5?=D VC 5D@A657BTIM? 
! $6S 56A86=I – 36 % 

9. 0D J?EI6I=M?, =6 $6S> J>H:>, K6E> @ADJ87BPIMEB J7B 9?AH>56==B =65K67M=?-
EIA6IGL8K=?V :?H@GIG=I=?EI8 > J867?L8K=?H> H?57G==8 =6 N6=BIIBC N @A6:ID:D 
6=L78<EM:?V H?5D? 
! I6: – 43 %; 
! =8 – 57 %. 

10. 0D 556R6PIG $D N6 =G?QC8J=G 9?AH>56==B =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 > $([? 
!  I6: – 100 %; 
!  =8 – 0 %. 

11. (6 B:?H> EI>@G=8 @8JL?I?5:D Q6:6765A85 $D 556R6PIG N6 J?;87M=G 
9?AH>56==B =65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > J867?L8K=?H> H?57G==8? 
! =6 @GAS?H> :>AE8 – 72 %; 
! =6 JA>L?H> :>AE8 – 36 %; 
! =6 IAGIM?H> :>AE8 – 21 %; 
! =6 KGI5GAI?H> :>AE8 – 36 %. 

12. (6 B:DC E6HG N6=BIIBC, =6 $6S> J>H:>, J?;87M=? 9?AH>56ID  =65K67M=?-
EIA6IGL8K=> :?H@GIG=I=8EIM > J867?L8K=?H> H?57G==8? 
! @8J K6E N6=BIM N @A6:ID:D 6=L78<EM:?V H?5D – 79 %; 
! @8J K6E 7G:;8< N HGI?JD:D =65K6==B 8=?NGH=DC H?5 – 0 %; 
! @8J K6E @A6:IDK=DC N6=BIM N HGI?JD:D =65K6==B 8=?NGH=DC H?5 – 50 %. 

13. (6 $6S> J>H:>, 9?AH>56==B =65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > 
J867?L8K=?H> H?57G==8 P =G?QC8J=DH J7B @8J5D\G==B A85=B 5?7?J8==B 
EI>JG=I6HD 6=L78<EM:?V H?5D? 
! I6: – 100 %; 
! =8 – 0 %. 

14. (6E:87M:D E:76J=? EI>JG=I> :?7D > =DC @?KD=6PIMEB 5D:76J H6IGA867> N 
:>AE85 78=L58EIDK=DC JDE;D@78= 6=L78<EM:?T H?5?T, 5?=D K6EI? 58JK>56TIM 
IA>J=8EIM @GAG@DI6ID =6 6=L78<EM:8< H?58 =GNA?N>H87> VH 8=9?AH6;8T? 
! I6: – 50 %; 
! =8 – 50 %. 

15. 0D Q>567?, \? @8J K6E A?NH?5D EI>JG=ID =G H?L7D @?BE=DID E@85A?NH?5=D:> 
VC=M?V J>H:>, \? @ADN5?JD7? J? N65GASG==B A?NH?5D? 
! N6N5DK6< I6: 8 58JQ>56PIMEB – 7 %; 
! K6EI? – 50 %; 
! A8J:? – 36 %;  
! =8:?7D – 7 %;  
! $6S 56A86=I – 0 %. 

16. ]: EI>JG=ID @?KD=6TIM N6N5DK6< J867?L? 
! A?N@?58J6TIM 8EI?A8T, B:6 N6;8:65DIM E@85A?NH?5=D:6 – 7 %; 
! N6N5DK6< N6J6TIM @DI6==B, \?Q A?N@?K6ID A?NH?5> – 79 %; 
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! =G 7TQ7BIM A?N@?KD=6ID A?NH?5> @GASDHD – 21 %; 
! $6S 56A86=I – 0 % 

17. ]: H6<Q>I=8 >KDIG78 5GJ>IM A?NH?5>? 
! K6EI? @A?EBIM @?5I?ADID @DI6==B – 14 %; 
! N7?5RD56TIM 8N @6>N6HD CGNDI6;8< – 7 %; 
! 58JIBL>TTIM K6E 8N 58J@?58JJT – 29 %; 
! QGA>IM 6:ID5=> >K6EIM > J867?N8 – 21 %; 
! 5DA6R6TIM 8=IGAGE J? 58J@?58J=?V IGHD I6 N6J6TIM @DI6==B – 36 %; 
! 5DA6R6TIM I6 58JEI?TTIM E5?T J>H:> – 29 %; 
! $6S 56A86=I – 0 % 

18. ]: H6<Q>I=8 >KDIG78 N65GAS>TIM N6N5DK6< J867?L? 
! @GAS8 @8J5?JBIM @8JE>H:D A?NH?5D – 7 %; 
! JB:>TIM N6 E@87:>56==B, 5DA6R6TKD @?K>IIB \?J? ?QL?5?AG=?V IGHD – 43 %; 
! N67DS6TIM H?R7D58EIM E@85A?NH?5=D:> N65GASDID A?NH?5> – 36 %; 
! @?EI>@?5? H67? QGA>IM >K6EIM > A?NH?58 8 5?=6 E6H6 N65GAS>PIMEB – 14 %; 
! RGEI6HD I6 H8H8:?T N?QA6R>TIM, \? K6E >RG N65GASDID A?NH?5> – 21 %. 
! $6S 56A86=I – 0 %. 

19. ^? A?Q7BIM EI>JG=ID, \?Q >=D:=>ID H?5K6==B @A?IBL?H J867?L>? 
! B:\? =G N=6TIM @G5=?L? E7?56 I? @?BE=TTIM <?L? – 21 %; 
! B:\? =G N=6TIM E7?56,  @A?EBIM 5D:76J6K6 @GAG:76EID – 79 %; 
!  :?ADEI>TIMEB E7?5=D:?H – 7 %; 
! @GAGC?JBIM =6 8=S> IGH>, E7?56 N B:?V VH 58J?H8 – 7 %; 
! $6S 56A86=I – 0 %. 

20. ]: $D 556R6PIG, KD N=6TIM EI>JG=ID E58< 8=JD58J>67M=D< EID7M =65K6==B?  
! I6: – 22 %; 
! =8 – 71 %; 
! $6S 56A86=I 58J@?58J8 – 7 %. 

21. (6 $6S> J>H:>, KD 5H8TIM EI>JG=ID 5DN=6K6ID E58< 8=JD58J>67M=D< EID7M 
=65K6==B? 
! I6: – 14 %; 
! =8 – 79 %; 
! $6S 56A86=I 58J@?58J8 – 7 %. 

22. $DN=6KIG J?;87M=8EIM 5:7TKG==B N65J6==B J7B 5DN=6KG==B 8=JD58J>67M=?L? 
EID7T =65K6==B EI>JG=I85 =6 N6=BIIBC 8=?NGH=?V H?5D? 
! I6: – 36 %; 
! 56AI? ?Q?5’BN:?5? – 21 %; 
! =G 56AI? – 21 %; 
! N6<56 5DIA6I6 K6E> – 22 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

23. ]: $D 556R6PIG, KD 5H8TIM EI>JG=ID ?;8=T56ID E58< A85G=M =6Q>IDC N=6=M N 
+4? 
! I6: – 7 %; 
! =8 – 21 %; 
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! =G 5E8 EI>JG=ID – 65 %; 
! ;G P @A?Q7GH?T J7B EI>JG=I85 – 0 %; 
! $6S 56A86=I 58J@?58J8 – 7 %. 

24. [6 $6SDHD E@?EIGAGRG==BHD KD 5H8==B ?;8=T56ID 576E=D< A85G=M 
5?7?J8==B +4 P :?ADE=DH J7B EI>JG=I85? 
! I6: – 93 %; 
! =8 – 0 %; 
! $6S 56A86=I 58J@?58J8 – 7 %. 

25. ]:8 N65J6==B $D @A?@?=>PIG EI>JG=I6H J7B 9?AH>56==B =65K67M=?-
EIA6IGL8K=?V :?H@GIG=I=?EI8? 
! N6>K>56==B H?57G==P5DC :78SG – 43 %; 
! @GAG9A6N>56==B AGKG==B 6QD N6@?5=DID @A?L67D=D > 5?7?J8==8 +4 – 43 %; 
! @A?C6==B @?BE=DID =GNA?N>H87> 9A6N> – 57 %; 
! B: 5DLA6ID K6E, \?Q J6ID 57>K=> 58J@?58JM – 7 %; 
! A?N5DI?: >H8=M 58K7D5? @GAGQDID, 5DA6NDID 8=IGAGE 6Q? 576E=> J>H:> – 29 %; 
! ?QH8= 8=9?AH6;8PT 8N E@85A?NH?5=D:?H – 43 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

26. ]: $D ?;8=TPIG N6L67M=D< A85G=M E9?AH?56=?EI8 =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 > H6<Q>I=8C >KDIG785? 

! «5» – 58JH8==? – 0 %; 
! «4» – J?QAG – 31 %; 
! «3» – N6J?587M=G – 67 %; 
! «2» – =GN6J?587M=? – 2 %. 

 
F?EI?58A=8EIM I6 ?Q’P:ID5=8EIM ?IADH6=DC J6=DC Q>76 @GAG58AG=6 N6 

J?@?H?L?T HGI?J85 H6IGH6IDK=DC @8JA6C>=:85. 
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#GH@BGI / 

.;JKALB@B> @=I;BKE@==M CBKH;=BDE J 
«/>MEA;==M B<KH=GNDE K O@PQKB=DR ES>B;ADE 

K T<GW;CD E>IG<>CB@==M =@ES@AL=>R B@ IGOK=DI@B>E=>R CB<@B;UDP 
TDH S@C J@=MBL J T<@IB>S=GUG IK<CK @=UADPCLIGV OGE> 

=@ 1–2 IK<C@R =@ES@==M» 
%DCW; T<GE;H;==M: /GA=?@87MEM:D< =6;8?=67M=D< @GJ6L?L8K=D< >=85GAEDIGI 
8H. $. .=6IT:6  
7T;WD@AL=DCBL: 4?56 I6 78IGA6I>A6 
#@B@ T<GE;H;==M: 2011–2013 =.A. 
9DALIDCBL CBKH;=BDE, MID Q<@A> KS@CBL E @=I;BKE@==D: 107 EI>JG=I85  
 
%;B@ @=I;BKE@==M: 5D5KDID @A?;GE 9?AH>56==B =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 5 @A?;GE8 J867?L8K=?L? H?57G==B =6 N6=BIIBC N @A6:IDK=?L? 
:>AE> 6=L78<EM:?V H?5D =6 1–2 :>AE6C I6 5DB5DID IA>J=?\8, B:8 5D=D:6TIM @8J 
K6E E@87:>56==B.  
 
.;JKALB@B> @=I;BKE@==M:  
1. ]: K6EI? $D E@87:>PIGEM 6=L78<EM:?T H?5?T? 

! A6N =6 JG=M – 68 %; 
! A6N =6 IDRJG=M – 12 %; 
! A6N =6 H8EB;M – 5 %; 
! =8:?7D – 0 %; 
! $6S 56A86=I – 10 %. 

2. FG $D @GAG56R=? E@87:>PIGEM 6=L78<EM:?T H?5?T? 
! 5J?H6 – 9 %; 
! > LA?H6JEM:DC H8E;BC – 14 %; 
! @? IG7G9?=> – 12 %; 
! N6E?Q6HD HGAGR8 +=IGA=GI – 46 %; 
! @A?RD56TKD N8 EI>JG=I6HD @? ?QH8=> – 8 %; 
! =6 N6=BIIBC N @A6:ID:D 6=L78<EM:?V H?5D – 76 %; 
! $6S 56A86=I – 0 %. 

3. (6 B:8 IGHD $D 7TQDIG E@87:>56IDEM? 
! H>ND:6 – 58 %; 
! E@?AI – 19 %; 
! E?;867M=8 HGAGR8 – 42 %; 
! :8=? – 69 %; 
! IG6IA – 13 %; 
! H?J6 – 34 %; 
! =65K6==B – 36 %; 
! $6S 56A86=I – 11 %. 

4. !?7D $D E@87:>PIGEM, B:8 IA>J=?\8 $D 58JK>56PIG? 
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! IA>J=?\8 @AD A?N@?KD=6==8, @8JADH;8 I6 N65GASG==8 @A?EI?V A?NH?5D =6 
N=6<?H> KD ;8:65> J7B HG=G IGH> – 15 %; 

! IA>J=8EIM QA6ID >K6EIM > A?NH?58 KD JDE:>E8V =6 N=6<?H8 IGHD, N65RJD 
@?IAGQ>T, \?Q H8< E@85A?NH?5=D: J?J6I:?5? >I?K=D5 5DE7?57G==B 
E5?PV J>H:D – 8 %; 

! IA>J=8EIM 5DA6R6ID E5?V @?K>IIB I6 GH?;8V, 6 I6:?R AG6L>56ID =6 
5DA6RG==B ;DC @?K>II85 I6 GH?;8< 8=SDHD 7TJMHD – 31 %; 

! IA>J=8EIM QGN @8JL?I?5:D QA6ID >K6EIM > J867?L6C =6 N=6<?H8 HG=8 IGHD, 
@?BE=T56ID > K?H> E>IM @A?Q7GHD – 22 %; 

! IA>J=8EIM ?QH8=T56IDEM 8=9?AH6;8PT, J>H:6HD > JDE:>E8V I6 5D:76J6ID 
?E?QDEID< @?L7BJ JA>NBH – 19 %; 

! $6S 56A86=I – 17 %. 
5. $DN=6KIG, =6E:87M:D 7GL:? KD 56R:? $6H 5J6PIMEB A?NH?56. 

5.1 3?N@?K6ID, @8JADH6ID I6 N65GASGID @A?EI> A?NH?5> =6 N=6<?H> KD 
;8:65> J7B HG=G IGH>; 

! 7GL:? – 29 %;  
! J?EI6I=M? 7GL:? – 43 %;  
! @?H8A=? – 25 %; 
! J?EI6I=M? E:76J=? – 3 %; 
! E:76J=? – 0 %. 
5.2 XA6ID >K6EIM > A?NH?58 KD JDE:>E8V =6 N=6<?H8 IGHD; 
! 7GL:? – 33 %;  
! J?EI6I=M? 7GL:? – 44 %;  
! @?H8A=? – 19 %; 
! J?EI6I=M? E:76J=? – 3 %; 
! E:76J=? – 1 %. 
5.3 $DA6R6ID E5?V @?K>IIB I6 GH?;8V, 6 I6:?R AG6L>56ID =6 5DA6RG==B ;DC 
@?K>II85 I6 GH?;8< 8=SDHD 7TJMHD; 

! 7GL:? – 25 %;  
! J?EI6I=M? 7GL:? – 29 %;  
! @?H8A=? – 41 %; 
! J?EI6I=M? E:76J=? – 5 %; 
! E:76J=? – 0 %. 
5.4 XGN @8JL?I?5:D QA6ID >K6EIM > J867?L6C =6 N=6<?H8 IGHD, @?BE=T56ID > 
K?H> E>IM @A?Q7GHD; 

! 7GL:? – 16 %;  
! J?EI6I=M? 7GL:? – 28 %;  
! @?H8A=? – 43 %; 
! J?EI6I=M? E:76J=? – 13 %; 
! E:76J=? – 0 %. 
5.5 ,QH8=T56IDEM 8=9?AH6;8PT, J>H:6HD > JDE:>E8V I6 5D:76J6ID 
?E?QDEID< @?L7BJ JA>NBH; 

! 7GL:? – 26 %;  
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! J?EI6I=M? 7GL:? – 38 %;  
! @?H8A=? – 28 %; 
! J?EI6I=M? E:76J=? – 5 %; 
! E:76J=? – 3 %. 

6. 0D @?H8K6PIG $D @?HD7:D > E5?PH> H?57G==8? 
! I6: – 69 %;                 – =8 – 31 %. 

7. ]:8 ID@?58 @?HD7:D $D A?QDIG? 
!"#$#%&'(): 

! =GJ?IADH6==B @A65D7 5RD56==B 
K6E85 – 46 %; 

! =G@A65D7M=D< @?ABJ?: E785 – 33 %; 
! =G@A65D7M=G >I5?AG==B @DI67M=DC 8 
N6@GAGK=DC AGKG=M – 13 %; 

! @?A>SG==B 5RD56==B @6ED5=?L? 
EI6=> – 7 %; 

! NH8S>56==B 9?AH ?:AGHDC 
=G@A65D7M=DC J8PE785 – 25 %; 

! =G@A65D7M=D< 5DQ8A 9?AHD J8PE7?56 
– 5 %; 

! =G@A65D7M=G 5RD56==B @ADE785=D:85 
8 @AD:HGI=D:85 – 27 %; 

! =G@A65D7M=D< @?ABJ?: @AD:HGI=D:85 
> AGKG==8 – 12 %; 

! =G@A65D7M=G 5RD56==B @ADE58<=?L? 
58JH8=:6 8HG==D:6 – 6 %; 

! =G@A65D7M=G 5RD56==B N6<HG==D:85 
– 3 %; 

! 5RD56==B :67M:?56=DC EIA>:I>A N 
A8J=?V H?5D – 34 %. 

*+,-&'(): 
! =G@A65D7M=D< 5DQ8A ED=?=8H85 – 17 %; 

! =GN=6==B EGH6=ID:D 7G:EDK=DC 
?JD=D;M – 28 %; 

! =G5H8==B @A65D7M=? @?PJ=>56ID 
7G:EDK=8 ?JD=D;8 – 10 %; 

./(+%&'(): 
! =G@A65D7M=6 JDE:ADH8=6;8B N5>:?
5DC ?JD=D;M – 22 %; 

! =GK8I:6, =G@A65D7M=6 
6AID:>7B;8B, 8=I?=6;8B I6 
5DE?I6 I?=> – 57 %; 

! =G@A65D7M=G E@8558J=GEG==B 
N5>:?5?L? I6 LA698K=?L? ?QA6N85 
H?5=DC 8 H?57G==P5DC ?JD=D;M – 
9 %. 

! $6S 56A86=I – 0 %. 
8. ]:\? @?H8K6PIG @?HD7:D, B:DH 
KD=?H VC 5D@A657BPIG? 

! N6@DI>T @A65D7M=> 58J@?58JM –  
17 %;  

! @?5I?ATT AGKG==B 8N @A65D7M=?T 
58J@?58JJT – 88 %;  

! N6@DE>T @A65D7M=D< 56A86=I –  
24 %; 

! @GAG9A6N?5>T – 49 %; 
! $6S 56A86=I – 1 %. 

9. ^?, =6 $6S> J>H:>, A?N>H8PIMEB @8J IGAH8=?H «=65K67M=?-EIA6IGL8K=6 
:?H@GIG=I=8EIM»? 

! NJ8Q=8EIM >KDIDEM E6H?EI8<=? I6 NJ?Q>56ID =?58 N=6==B – 18 %; 
! NJ8Q=8EIM :?H@G=E>56ID 5 @A?;GE8 E@87:>56==B =GJ?EI6I=8EIM H?5=DC 

N=6=M – 24 %; 
! NJ8Q=8EIM EIA6IGL8K=? @76=>56ID 5D5KG==B =?5DC 7G:EDK=DC ?JD=D;M, 

?@6=>56==B @G5=?L? H6IGA867> – 57 %; 
! $6S 56A86=I – 1 %. 

10. 0D J?EI6I=M?, =6 $6S> J>H:>, K6E> @ADJ87BPIMEB J7B 9?AH>56==B 
=65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > J867?L8K=?H> H?57G==8 =6 N6=BIIBC N 
@A6:ID:D 6=L78<EM:?V H?5D? 
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! I6: – 37 %; 
! =8 – 63 %. 

11. 0D 556R6PIG $D N6 =G?QC8J=G 9?AH>56==B =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 > $([? 

! I6: – 88 %; 
! =8 – 12 %. 

12. (6 B:?H> EI>@G=8 @8JL?I?5:D Q6:6765A85 $D 556R6PIG N6 J?;87M=G 
9?AH>56==B =65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > J867?L8K=?H> H?57G==8? 

! =6 @GAS?H> :>AE8 – 33 %; 
! =6 JA>L?H> :>AE8 – 47 %; 
! =6 IAGIM?H> :>AE8 – 15 %; 
! =6 KGI5GAI?H> :>AE8 – 9 %. 

13. (6 B:DC E6HG N6=BIIBC, =6 $6S> J>H:>, J?;87M=? 9?AH>56ID  =65K67M=?-
EIA6IGL8K=> :?H@GIG=I=8EIM > J867?L8K=?H> H?57G==8? 

! @8J K6E N6=BIM N @A6:ID:D 6=L78<EM:?V H?5D – 82 %; 
! @8J K6E 7G:;8< N HGI?JD:D =65K6==B 8=?NGH=DC H?5 – 12 %; 
! @8J K6E @A6:IDK=DC N6=BIM N HGI?JD:D =65K6==B 8=?NGH=DC H?5 – 34 %. 

14. (6 $6S> J>H:>, 9?AH>56==B =65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > 
J867?L8K=?H> H?57G==8 P =G?QC8J=DH J7B @8J5D\G==B A85=B 5?7?J8==B 
6=L78<EM:?T H?5?T? 

! I6: – 76 %; 
! =8 – 24 %. 

15. 0D $D 58JK>56PIG IA>J=8EIM @GAG@DI6ID 6=L78<EM:?T H?5?T =GNA?N>H87> $6H 
8=9?AH6;8T =6 7G:;8BC N :>AE85 78=L58EIDK=DC JDE;D@78= 6=L78<EM:?T H?5?T? 

! I6: – 74 %; 
! =8 – 26 %. 

15.1 ]:DH KD=?H $D VV J?76PIG? 
! $6S 56A86=I – 8 %. 

16. 0D IA6@7B7?EM, \? @8J K6E A?NH?5D $D =G H?L7D @?BE=DID E@85A?NH?5=D:> 
E5?T J>H:>, \? @ADN5?JD7? J? N65GASG==B A?NH?5D? 

! N6N5DK6< I6: 8 58JQ>56PIMEB – 17 %; 
! K6EI? – 61 %; 
! A8J:? – 19 %;  
! =8:?7D – 3 %; 
! $6S 56A86=I – 0 %. 

17. ]: $D @?KD=6PIG N6N5DK6< J867?L? 
! A?N@?58J6T 8EI?A8T, B:6 N6;8:65DIM E@85A?NH?5=D:6 – 44 %; 
! B N6N5DK6< N6@DI>T, \?Q A?N@?K6ID A?NH?5> – 38 %; 
! B =G 7TQ7T A?N@?KD=6ID A?NH?5> @GASDH(-?T) – 19 %; 
! $6S 56A86=I  – 5 %. 

18. ]:\? $D EID:6PIGEM 8N @G5=?T IA>J=8EIT @8J K6E E@87:>56==B, B:8 IGC=8:D 
$D 5D:?ADEI?5>PIG J7B @?J?76==B IA>J=?\85? 

! K6EI? @A?S> @?5I?ADID @DI6==B – 43 %; 
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! @A?S> @?BE=DID =GN=6<?H8 E7?56, 5DA6ND, I?\? – 59 % 
! 58JIBL>T K6E 58J@?58J8 – 8 %; 
! QGA> 6:ID5=> >K6EIM > J867?N8 – 23 %; 
! 5DA6R6T 8=IGAGE J? 58J@?58J=?V IGHD I6 N6J6T @DI6==B – 33 %; 
! 5DA6R6T I6 58JEI?TT E5?T J>H:> – 19 %; 
! $6S 56A86=I  – 0 % 

19. ]: $D N65GAS>PIG N6N5DK6< J867?L? 
! @GASDH(-?T) @8J5?JR> @8JE>H:D A?NH?5D – 12 %; 
! JB:>T N6 E@87:>56==B, 5DA6R6TKD @?K>IIB \?J? ?QL?5?AG=?V IGHD – 72 %; 
! N67DS6T H?R7D58EIM E@85A?NH?5=D:> N65GASDID A?NH?5> – 21 %; 
! @?EI>@?5? H67? QGA> >K6EIM > A?NH?58 8 5?=6 E6H6 N65GAS>PIMEB – 8 %; 
! RGEI6HD I6 H8H8:?T N?QA6R>T, \? K6E >RG N65GASDID A?NH?5> – 6 %. 
! $6S 56A86=I – 1 %. 

20. ^? $D A?QDIG, \?Q >=D:=>ID @6>N @A?IBL?H J867?L>? 
! B:\? B =G N=6T @G5=?L? E7?56 B 5J6TEM J? ?@DE> – 67 %; 
! B:\? B =G N=6T E7?56, B @A?S> 5D:76J6K6 @GAG:76EID – 34 %; 
! B N65RJD :?ADEI>TEM E7?5=D:?H – 9 %; 
! @GAGC?JR> =6 8=S> IGH>, E7?56 N B:?V HG=8 58J?H8 – 17 %; 
! $6S 56A86=I – 2 %. 

21. 0D N=6PIG $D E58< 8=JD58J>67M=D< EID7M =65K6==B?  
! I6: – 38 %; 
! =8 – 62 %; 
! $6S 56A86=I 58J@?58J8  – 0 %. 

22. ]: $D 556R6PIG, $D 5H8PIG 5DN=6K6ID E58< 8=JD58J>67M=D< EID7M =65K6==B? 
! I6: – 41 %; 
! =8 – 59 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

23. F? B:?L? ID@> :?ADEI>56K6 8=?NGH=?T H?5?T (language learner) $D =67GRDIG? 
! 58N>67M=?H> – 60 %; 
! 6>J867M=?H> – 39 %; 
! I6:ID7M=?H> – 7 %; 
! J?E58J=?-GH?;8<=?H> – 26 %; 
! 6=678IDK=?H> – 15 %; 
! J8B7M=8E=?-?A8P=I?56=?H> – 9 %; 
! :?L=8ID5=?-6QEIA6:I=?H> – 9 %; 
! :?H>=8:6ID5=?-:??@GA6ID5=?H> – 33 %. 

24. (6 $6S> J>H:>, J?@?H6P $6H N=6==B E5?L? 8=JD58J>67M=?L? EID7T =65K6==B 
@AD ?5?7?J8==8 +4? 

! I6: – 56 %; 
! =8 – 44 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

25. ]: $D :?ADEI>PIGEM E5?VH 8=JD58J>67M=DH EID7GH =65K6==B? 
! J?QDA6T 5@A65D, B:8 @8JC?JBIM J7B H?L? EID7T – 0 %; 
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! 5D:?=>T 7DSG I8 5@A65D, B:8 B NJ6IG=(-6) 5D:?=6ID – 13 %; 
! EDEIGH6IDK=? @?5I?ATT N6E5?P=D< =?5D< H6IGA867 – 42 %; 
! J?EDIM K6EI? :?ADEI>TEB E7?5=D:?H – 28 %; 
! 5D@DE>T =GN=6<?H8 E7?56 I6 KDI6T VC 5L?7?E – 38 %; 
! N=6C?JR> A8N=?H6I=8 6E?;86;8V J? E785, \?Q N6@6H’BI6ID VC – 49 %;  
! =8:?7D =6J ;DH =G N6J>H>TEM – 6 %; 
! $6S 56A86=I 58J@?58J8 –  3 %. 

26. 0D 5H8PIG $D ?;8=T56ID E58< A85G=M =6Q>IDC N=6=M N +4? 
! I6: – 22 %; 
! =8 – 46 %; 
! =G N6J>H>TEM =6J ;DH – 29 %; 
! $6S 56A86=I 58J@?58J8 – 3 %. 

27. 0D 5H8==B ?;8=T56ID E58< A85G=M $6H EI6P > @ADL?J8 @8J K6E =65K67M=?L? 
@A?;GE>? 

! I6: – 33 %; 
! =8 – 64 %; 
! $6S 56A86=I 58J@?58J8 – 3 %. 

28. 0D @?J?Q6TIMEB $6H N65J6==B, \? @A?@?=>TIMEB > @8JA>K=D:6C/ @?E8Q=D:6C 
(=6 N6=BIIBC N +4) J7B ;8:65?L? 5D5KG==B H?5D? (=6@A. 5D5K6ID N6:?=?H8A=?EI8 
H?5D, B:8 J?@?H6L6TIM EDEIGH6IDN>56ID N=6==B) 

! I6: – 63 %; 
! =8 – 35 %; 
! $6S 56A86=I 58J@?58J8 – 2 %. 

29. ]: $D 556R6PIG, KD J?EI6I=B :87M:8EIM 5@A65 J7B I?L?, \?Q >E@8S=? 
E@87:>56IDEB? 

! =8 – 61 %; 
! I6: – 37 %; 
! $6S 56A86=I 58J@?58J8 – 2 %. 

30. ]:DH 5@A656H $D =6J6PIG @GAG56L> 6QD >J?E:?=67DID =65D:D >E@8S=?L? 
E@87:>56==B? 

! 5D5K6T 58J@?58J=8 :78SG – 37 %; 
! :?ADEI>TEM ECGH6HD J867?L> – 23 %; 
! @A6:ID:>TEM > JG98=8;8BC – 36 %; 
! 5D:?ADEI?5>T H?5> I876, 6QD @?BE=DID @G5=8 E7?56, B:DC =G N=6T – 17 %; 
! $6S 56A86=I 58J@?58J8 – 22 %. 

31. ]: $D E6H8 ?;8=TPIG A85G=M E9?AH?56=?EI8 E5?PV =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8? 

! «5» – 58JH8==? – 7 %; 
! «4» – J?QAG – 59 %; 
! «3» – N6J?587M=G – 25 %; 
! «2» – =GN6J?587M=? – 9 %. 
F?EI?58A=8EIM I6 ?Q’P:ID5=8EIM ?IADH6=DC J6=DC Q>76 @GAG58AG=6 N6 

J?@?H?L?T HGI?J85 H6IGH6IDK=DC @8JA6C>=:85. 
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#GH@BGI ! 

.;JKALB@B> @=I;BKE@==M E>IA@H@SDE J 

«/>MEA;==M B<KH=GNDE K O@PQKB=DR ES>B;ADE 

T<> E>IG<>CB@==D =@ES@AL=>R B@ IGOK=DI@B>E=>R CB<@B;UDP 

=@ J@=MBBMR J T<@IB>S=GUG IK<CK @=UADPCLIGV OGE> 

=@ 1-2 IK<C@R =@ES@==M T<> GT>BKE@==D E>IA@H@SDE» 

%DCW; T<GE;H;==M: /GA=?@87MEM:D< =6;8?=67M=D< @GJ6L?L8K=D< >=85GAEDIGI 
8H. $. .=6IT:6  
7T;WD@AL=DCBL: 4?56 I6 78IGA6I>A6 
#@B@ T<GE;H;==M: 2011 – 2013 =.A. 
9DALIDCBL E>IA@H@SDE, MID Q<@A> KS@CBL E @=I;BKE@==D: 26 5D:76J6K85  
 
%;B@ @=I;BKE@==M: 5D5KDID @A?;GE 9?AH>56==B =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 5 @A?;GE8 J867?L8K=?L? H?57G==B =6 N6=BIIBC N @A6:IDK=?L? 
:>AE> 6=L78<EM:?V H?5D =6 1-2 :>AE6C I6 5DB5DID IA>J=?\8, B:8 5D=D:6TIM @8J 
K6E E@87:>56==B.  
 
.;JKALB@B> @=I;BKE@==M:  
1. ^? =6 $6S> J>H:>, H6P 5C?JDID J? E:76J> «=65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8» > J867?L8K=?H> H?57G==8? 
! NJ8Q=8EIM :?ADEI>56K6 8=?NGH=?V H?5D >KDIDEM E6H?EI8<=? I6 NJ?Q>56ID =?58 
N=6==B – 49 %; 

! =6B5=8EIM @?5GJ8=:D, @76=85, IGC=8:D, E58J?HDC A?N>H?5DC ?@GA6;8<, IGC=8:D 
5DA8SG==B @A?Q7GH – 24 %; 

! E>:>@=8EIM 5KD=:85 I6 J8<, \? @?PJ=>TIMEB J7B NJ?Q>IIB @GAGH?LD – 19 %;  
! NJ8Q=8EIM :?ADEI>56K6 8=?NGH=?V H?5D EIA6IGL8K=? @76=>56ID 5D5KG==B =?5DC 
7G:EDK=DC ?JD=D;M, ?@6=>56==B @G5=?L? H6IGA867> – 18 %; 

! HDEIG;I5? @76=>56==B I6 :??AJD=>56==B N6A6JD J?EBL=G==B HGID – 33 %;  
! NJ8Q=8EIM EI>JG=I6 :?H@G=E>56ID 5 @A?;GE8 E@87:>56==B =GJ?EI6I=8EIM 
H?5=DC N=6=M – 48 %; 

! $6S 56A86=I – 0 %. 
2. ]: K6EI? =6 $6S> J>H:> EI>JG=ID E@87:>TIMEB 6=L78<EM:?T H?5?T N6 
HGR6HD =65K67M=?V 6>JDI?A8V? 
! A6N =6 JG=M – 24 %; 
! A6N =6 IDRJG=M – 20 %; 
! A6N =6 H8EB;M – 29 %; 
! =8:?7D – 9 %;  
! $6S 56A86=I – 6 %. 

3. FG =6 $6S> J>H:> @GAG56R=? E@87:>PIMEB EI>JG=I 6=L78<EM:?T H?5?T? 
! 5J?H6 – 0 %; 
! @? IG7G9?=> – 9 %; 
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! N6E?Q6HD HGAGR8 8=IGA=GI – 89 %; 
! @A?RD56TKD N EI>JG=I6HD @? ?QH8=> – 2 %; 
! > LA?H6JEM:DC H8E;BC – 23 %; 
! =6 N6=BIIBC N @A6:ID:D 6=L78<EM:?V H?5D – 91 %; 
! $6S 56A86=I – 0 %. 

4. ]:8 IA>J=?\8 $D @?H8K6PIG > EI>JG=I85 @8J K6E VC=M?L? E@87:>56==B? 
! IA>J=?\8 @AD A?N@?KD=6==8, @8JIADH;8 I6 N65GASG==8 @A?EI?V A?NH?5D =6 
N=6<?H> KD ;8:65> J7B =DC IGH> – 42 %; 

! IA>J=8EIM QA6ID >K6EIM > A?NH?58 KD JDE:>E8V =6 N=6<?H8 IGHD, N65RJD 
@?IAGQ>P, \?Q <?L? E@85A?NH?5=D: J?J6I:?5? >I?K=D5 5DE7?57G==B E5?PV 
J>H:D – 7 %; 

! IA>J=8EIM 5DA6R6ID E5?V @?K>IIB I6 GH?;8V, 6 I6:?R AG6L>56ID =6 5DA6RG==B 
;DC @?K>II85 I6 GH?;8< 8=SDHD 7TJMHD – 24 %; 

! IA>J=8EIM QGN @8JL?I?5:D QA6ID >K6EIM > J867?L6C =6 N=6<?H8 <?H> IGHD, 
@?BE=T56ID > K?H> E>IM @A?Q7GHD – 41 %; 

! IA>J=8EIM ?QH8=T56IDEM 8=9?AH6;8PT, J>H:6HD > JDE:>E8V I6 5D:76J6ID 
?E?QDEID< @?L7BJ JA>NBH – 33 %; 

! $6S 56A86=I – 3 %. 
5. $DN=6KIG, =6E:87M:D 7GL:? KD 56R:? EI>JG=I6H 5J6PIMEB E@87:>56==B. 

5.1 3?N@?K6ID, @8JADH6ID I6 N65GASGID @A?EI> A?NH?5> =6 N=6<?H> KD ;8:65> 
J7B =DC IGH>; 

! 7GL:? – 19 %;  
! J?EI6I=M? 7GL:? – 7 %;  
! @?H8A=? – 61 %; 
! J?EI6I=M? E:76J=? – 3 %; 
! E:76J=? – 10 %. 

5.2 XA6ID >K6EIM > A?NH?58 KD JDE:>E8V =6 N=6<?H8 EI>JG=I?58 IGHD; 
! 7GL:? – 3 %;  
! J?EI6I=M? 7GL:? – 38 %;  
! @?H8A=? – 15 %; 
! J?EI6I=M? E:76J=? – 44 %; 
! E:76J=? – 0 %. 

5.3 $DA6R6ID E5?V @?K>IIB I6 GH?;8V, 6 I6:?R AG6L>56ID =6 5DA6RG==B ;DC 
@?K>II85 I6 GH?;8< 8=SDHD 7TJMHD; 

! 7GL:? – 4 %;  
! J?EI6I=M? 7GL:? – 12 %;  
! @?H8A=? – 19 %; 
! J?EI6I=M? E:76J=? – 23 %; 
! E:76J=? – 42 %. 

5.4 XGN @8JL?I?5:D QA6ID >K6EIM > J867?L6C =6 N=6<?H8 IGHD, @?BE=T56ID > 
K?H> E>IM @A?Q7GHD; 

! 7GL:? – 11 %;  
! J?EI6I=M? 7GL:? – 9 %;  
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! @?H8A=? – 30 %; 
! J?EI6I=M? E:76J=? – 38 %; 
! E:76J=? – 12 %. 

5.5 ,QH8=T56IDEM 8=9?AH6;8PT, J>H:6HD > JDE:>E8V I6 5D:76J6ID ?E?QDEID< 
@?L7BJ JA>NBH: 

! 7GL:? – 8 %;  
! J?EI6I=M? 7GL:? – 42 %;  
! @?H8A=? – 28 %; 
! J?EI6I=M? E:76J=? – 22 %; 
! E:76J=? – 0 %. 

6. 0D @?H8K6TIM EI>JG=ID  576E=8 @?HD7:D > E5?PH> H?57G==8? 
! I6: – 17 %; 
! =8 – 83 %. 

7. ]:8 ID@?58 @?HD7:D 5?=D A?Q7BIM? 
!"#$#%&'(): 

! =GJ?IADH6==B @A65D7 5RD56==B 
K6E85 – 92 %; 

! =G@A65D7M=D< @?ABJ?: E785 – 69 %; 
! =G@A65D7M=G >I5?AG==B @DI67M=DC 8 
N6@GAGK=DC AGKG=M – 41 %; 

! @?A>SG==B 5RD56==B @6ED5=?L? 
EI6=> – 53 %; 

! NH8S>56==B 9?AH ?:AGHDC 
=G@A65D7M=DC J8PE785 – 23 %; 

! =G@A65D7M=D< 5DQ8A 9?AHD J8PE7?56 
– 19 %; 

! =G@A65D7M=G 5RD56==B @ADE785=D:85 
8 @AD:HGI=D:85 – 23 %; 

! =G@A65D7M=D< @?ABJ?: @AD:HGI=D:85 
> AGKG==8 – 2 %; 

! =G@A65D7M=G 5RD56==B @ADE58<=?L? 
58JH8=:6 8HG==D:6 – 16 %; 

! =G@A65D7M=G 5RD56==B N6<HG==D:85 
– 26 %; 

! 5RD56==B :67M:?56=DC EIA>:I>A N 
A8J=?V H?5D – 48 %. 

*+,-&'(): 
! =G@A65D7M=D< 5DQ8A ED=?=8H85 – 

55 %; 
! =GN=6==B EGH6=ID:D 7G:EDK=DC 
?JD=D;M – 29 %; 

! =G5H8==B @A65D7M=? @?PJ=>56ID 
7G:EDK=8 ?JD=D;8 – 41 %; 

./(+%&'(): 
! =G@A65D7M=6 JDE:ADH8=6;8B 
N5>:?5DC ?JD=D;M – 34 %; 

! =GK8I:6, =G@A65D7M=6 
6AID:>7B;8B, 8=I?=6;8B I6 
5DE?I6 I?=> – 81 %; 

! =G@A65D7M=G E@8558J=GEG==B 
N5>:?5?L? I6 LA698K=?L? ?QA6N85 
H?5=DC 8 H?57G==P5DC ?JD=D;M – 
29 %. 

! $6S 56A86=I – 5 %. 
8. ]:\? EI>JG=ID @?H8K6TIM @?HD7:D, B:DH KD=?H 5?=D VC 5D@A657BTIM? 
! $6S 56A86=I – 28 % 

9. 0D J?EI6I=M?, =6 $6S> J>H:>, K6E> @ADJ87BPIMEB J7B 9?AH>56==B =65K67M=?-
EIA6IGL8K=?V :?H@GIG=I=?EI8 > J867?L8K=?H> H?57G==8 =6 N6=BIIBC N @A6:ID:D 
6=L78<EM:?V H?5D? 
! I6: – 47 %; 
! =8 – 53 %. 
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10. 0D 556R6PIG $D N6 =G?QC8J=G 9?AH>56==B =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 > $([? 
!  I6: – 100 %; 
!  =8 – 0 %. 

11. (6 B:?H> EI>@G=8 @8JL?I?5:D Q6:6765A85 $D 556R6PIG N6 J?;87M=G 
9?AH>56==B =65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > J867?L8K=?H> H?57G==8? 
! =6 @GAS?H> :>AE8 – 57 %; 
! =6 JA>L?H> :>AE8 – 28 %; 
! =6 IAGIM?H> :>AE8 – 32 %; 
! =6 KGI5GAI?H> :>AE8 – 46 %. 

12. (6 B:DC E6HG N6=BIIBC, =6 $6S> J>H:>, J?;87M=? 9?AH>56ID =65K67M=?-
EIA6IGL8K=> :?H@GIG=I=8EIM > J867?L8K=?H> H?57G==8? 
! @8J K6E N6=BIM N @A6:ID:D 6=L78<EM:?V H?5D – 68 %; 
! @8J K6E 7G:;8< N HGI?JD:D =65K6==B 8=?NGH=DC H?5 – 6 %; 
! @8J K6E @A6:IDK=DC N6=BIM N HGI?JD:D =65K6==B 8=?NGH=DC H?5 – 42 %. 

13. (6 $6S> J>H:>, 9?AH>56==B =65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > 
J867?L8K=?H> H?57G==8 P =G?QC8J=DH J7B @8J5D\G==B A85=B 5?7?J8==B 
EI>JG=I6HD 6=L78<EM:?V H?5D? 
! I6: – 100 %; 
! =8 – 0 %. 

14. (6E:87M:D E:76J=? EI>JG=I> :?7D > =DC @?KD=6PIMEB 5D:76J H6IGA867> N 
:>AE85 78=L58EIDK=DC JDE;D@78= 6=L78<EM:?T H?5?T, 5?=D K6EI? 58JK>56TIM 
IA>J=8EIM @GAG@DI6ID =6 6=L78<EM:8< H?58 =GNA?N>H87> VH 8=9?AH6;8T? 
! I6: – 57 %; 
! =8 – 43 %. 

15. 0D Q>567?, \? @8J K6E A?NH?5D EI>JG=ID =G H?L7D @?BE=DID E@85A?NH?5=D:> 
VC=M?V J>H:>, \? @ADN5?JD7? J? N65GASG==B A?NH?5D? 
! N6N5DK6< I6: 8 58JQ>56PIMEB – 9 %; 
! K6EI? – 48 %; 
! A8J:? – 39 %;  
! =8:?7D – 4 %;  
! $6S 56A86=I – 0 %. 

16. ]: EI>JG=ID @?KD=6TIM N6N5DK6< J867?L? 
! A?N@?58J6TIM 8EI?A8T, B:6 N6;8:65DIM E@85A?NH?5=D:6 – 9 %; 
! N6N5DK6< N6J6TIM @DI6==B, \?Q A?N@?K6ID A?NH?5> – 63 %; 
! =G 7TQ7BIM A?N@?KD=6ID A?NH?5> @GASDHD – 28 %; 
! $6S 56A86=I – 0 % 

17. ]: H6<Q>I=8 >KDIG78 5GJ>IM A?NH?5>? 
! K6EI? @A?EBIM @?5I?ADID @DI6==B – 16 %; 
! N7?5RD56TIM 8N @6>N6HD CGNDI6;8< – 5 %; 
! 58JIBL>TTIM K6E 8N 58J@?58JJT – 31 %; 
! QGA>IM 6:ID5=> >K6EIM > J867?N8 – 19 %; 
! 5DA6R6TIM 8=IGAGE J? 58J@?58J=?V IGHD I6 N6J6TIM @DI6==B – 38 %; 
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! 5DA6R6TIM I6 58JEI?TTIM E5?T J>H:> – 31 %; 
! $6S 56A86=I – 0 % 

18. ]: H6<Q>I=8 5KDIG78 N6N5DK6< N65GAS>TIM J867?L? 
! @GAS8 @8J5?JBIM @8JE>H:D A?NH?5D – 12 %; 
! JB:>TIM N6 E@87:>56==B, 5DA6R6TKD @?K>IIB \?J? ?QL?5?AG=?V IGHD – 39 %; 
! N67DS6TIM H?R7D58EIM E@85A?NH?5=D:> N65GASDID A?NH?5> – 44 %; 
! @?EI>@?5? H67? QGA>IM >K6EIM > A?NH?58 8 5?=6 E6H6 N65GAS>PIMEB – 18 %; 
! RGEI6HD I6 H8H8:?T N?QA6R>TIM, \? K6E >RG N65GASDID A?NH?5> – 27 %. 
! $6S 56A86=I – 0 %. 

19. ^? A?Q7BIM EI>JG=ID, \?Q >=D:=>ID H?5K6==B @A?IBL?H J867?L>? 
! B:\?  =G N=6TIM @G5=?L? E7?56 I? @?BE=TTIM <?L? – 17 %; 
! B:\?  =G N=6TIM E7?56,  @A?EBIM 5D:76J6K6 @GAG:76EID – 81 %; 
!  :?ADEI>TIMEB E7?5=D:?H – 12 %; 
! @GAGC?JBIM =6 8=S> IGH>, E7?56 N B:?V VH 58J?H8 – 12 %; 
! $6S 56A86=I – 0 %. 

20. ]: $D 556R6PIG, KD N=6TIM EI>JG=ID E58< 8=JD58J>67M=D< EID7M =65K6==B?  
! I6: – 16 %; 
! =8 – 78 %; 
! $6S 56A86=I 58J@?58J8 – 6 %. 

21. (6 $6S> J>H:>, KD 5H8TIM EI>JG=ID 5DN=6K6ID E58< 8=JD58J>67M=D< EID7M 
=65K6==B? 
! I6: – 12 %; 
! =8 – 83 %; 
! $6S 56A86=I 58J@?58J8 – 5 %. 

22. $DN=6KIG J?;87M=8EIM 5:7TKG==B N65J6==B J7B 5DN=6KG==B 8=JD58J>67M=?L? 
EID7T =65K6==B EI>JG=I85 =6 N6=BIIBC 8=?NGH=?V H?5D? 
! I6: – 44 %; 
! 56AI? ?Q?5’BN:?5? – 14 %; 
! =G 56AI? – 18 %; 
! N6<56 5DIA6I6 K6E> – 24 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

23. ]: $D 556R6PIG, KD 5H8TIM EI>JG=ID ?;8=T56ID E58< A85G=M =6Q>IDC N=6=M N 
+4? 
! I6: – 12 %; 
! =8 – 19 %; 
! =G 5E8 EI>JG=ID – 53 %; 
! ;G P @A?Q7GH?T J7B EI>JG=I85 – 4 %; 
! $6S 56A86=I 58J@?58J8 – 12 %. 

24. [6 $6SDHD E@?EIGAGRG==BHD KD 5H8==B ?;8=T56ID 576E=D< A85G=M 
5?7?J8==B +4 P :?ADE=DH J7B EI>JG=I85? 
! I6: – 97 %; 
! =8 – 0 %; 
! $6S 56A86=I 58J@?58J8 – 3 %. 
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25. ]:8 N65J6==B $D @A?@?=>PIG EI>JG=I6H J7B 9?AH>56==B =65K67M=?-
EIA6IGL8K=?V :?H@GIG=I=?EI8? 
! N6>K>56==B H?57G==P5DC :78SG – 56 %; 
! @GAG9A6N>56==B AGKG==B 6QD N6@?5=DID @A?L67D=D > 5?7?J8==8 +4 – 36 %; 
! @A?C6==B @?BE=DID =GNA?N>H87> 9A6N> – 68 %; 
! B: 5DLA6ID K6E, \?Q J6ID 57>K=> 58J@?58JM – 12 %; 
! A?N5DI?: >H8=M 58K7D5? @GAGQDID, 5DA6NDID 8=IGAGE 6Q? 576E=> J>H:> – 19 

%; 
! ?QH8= 8=9?AH6;8PT 8N E@85A?NH?5=D:?H – 38 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

26. ]: $D ?;8=TPIG N6L67M=D< A85G=M E9?AH?56=?EI8 =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 > H6<Q>I=8C >KDIG785? 

! «5» – 58JH8==? – 0 %; 
! «4» – J?QAG – 22 %; 
! «3» – N6J?587M=G – 74 %; 
! «2» – =GN6J?587M=? – 4 %. 

 
F?EI?58A=8EIM I6 ?Q’P:ID5=8EIM ?IADH6=DC J6=DC Q>76 @GAG58AG=6 N6 

J?@?H?L?T HGI?J85 H6IGH6IDK=DC @8JA6C>=:85. 
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#GH@BGI # 

.;JKALB@B> @=I;BKE@==M CBKH;=BDE J 

«/>MEA;==M B<KH=GNDE K O@PQKB=DR ES>B;ADE 

T<> E>IG<>CB@==D =@ES@AL=>R B@ IGOK=DI@B>E=>R CB<@B;UDP 

TDH S@C J@=MBL J T<@IB>S=GUG IK<CK @=UADPCLIGV OGE> 

=@ 1-2 IK<C@R =@ES@==M» 

%DCW; T<GE;H;==M: 0GA=8L85EM:D< =6;8?=67M=D< >=85GAEDIGI 8HG=8 /. .. YG5KG=:6 
7T;WD@AL=DCBL: 4?56 I6 78IGA6I>A6 
#@B@ T<GE;H;==M: 2011 – 2013 =.A. 
9DALIDCBL CBKH;=BDE, MID Q<@A> KS@CBL E @=I;BKE@==D: 50 EI>JG=I85 
%;B@ @=I;BKE@==M: 5D5KDID @A?;GE 9?AH>56==B =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 5 @A?;GE8 J867?L8K=?L? H?57G==B =6 N6=BIIBC N @A6:IDK=?L? 
:>AE> 6=L78<EM:?V H?5D =6 1-2 :>AE6C I6 5DB5DID IA>J=?\8, B:8 5D=D:6TIM @8J 
K6E E@87:>56==B.  
.;JKALB@B> @=I;BKE@==M:  
1. ]: K6EI? $D E@87:>PIGEM 6=L78<EM:?T H?5?T? 

! A6N =6 JG=M – 71 %; 
! A6N =6 IDRJG=M – 16 %; 
! A6N =6 H8EB;M – 0 %; 
! =8:?7D – 0 %; 
! $6S 56A86=I – 13 %. 

2. FG $D @GAG56R=? E@87:>PIGEM 6=L78<EM:?T H?5?T? 
! 5J?H6 – 6 %; 
! > LA?H6JEM:DC H8E;BC – 0 %; 
! @? IG7G9?=> – 10 %; 
! N6E?Q6HD HGAGR8 +=IGA=GI – 32 %; 
! @A?RD56TKD N8 EI>JG=I6HD @? ?QH8=> – 0 %; 
! =6 N6=BIIBC N @A6:ID:D 6=L78<EM:?V H?5D – 14 %; 
! $6S 56A86=I – 7 %. 

3. (6 B:8 IGHD $D 7TQDIG E@87:>56IDEM? 
! H>ND:6 – 28 %; 
! E@?AI – 30 %; 
! E?;867M=8 HGAGR8 – 57 %; 
! :8=? – 72 %; 
! IG6IA – 8 %; 
! H?J6 – 20 %; 
! =65K6==B – 30 %; 
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! $6S 56A86=I – 0 %. 

4. !?7D $D E@87:>PIGEM, B:8 IA>J=?\8 $D 58JK>56PIG? 
! IA>J=?\8 @AD A?N@?KD=6==8, @8JADH;8 I6 N65GASG==8 @A?EI?V A?NH?5D =6 
N=6<?H> KD ;8:65> J7B HG=G IGH> – 12 %; 

! IA>J=8EIM QA6ID >K6EIM > A?NH?58 KD JDE:>E8V =6 N=6<?H8 IGHD, N65RJD 
@?IAGQ>T, \?Q H8< E@85A?NH?5=D: J?J6I:?5? >I?K=D5 5DE7?57G==B 
E5?PV J>H:D – 18 %; 

! IA>J=8EIM 5DA6R6ID E5?V @?K>IIB I6 GH?;8V, 6 I6:?R AG6L>56ID =6 
5DA6RG==B ;DC @?K>II85 I6 GH?;8< 8=SDHD 7TJMHD – 20 %; 

! IA>J=8EIM QGN @8JL?I?5:D QA6ID >K6EIM > J867?L6C =6 N=6<?H8 HG=8 IGHD, 
@?BE=T56ID > K?H> E>IM @A?Q7GHD – 44 %; 

! IA>J=8EIM ?QH8=T56IDEM 8=9?AH6;8PT, J>H:6HD > JDE:>E8V I6 5D:76J6ID 
?E?QDEID< @?L7BJ JA>NBH – 24 %; 

! $6S 56A86=I – 14 %. 
5. $DN=6KIG =6 E:87M:D 7GL:? KD 56R:? $6H 5J6PIMEB A?NH?56. 

5.1 3?N@?K6ID, @8JADH6ID I6 N65GASGID @A?EI> A?NH?5> =6 N=6<?H> KD 
;8:65> J7B HG=G IGH>; 

! 7GL:? – 12 %;  
! J?EI6I=M? 7GL:? – 30 %;  
! @?H8A=? – 52 %; 
! J?EI6I=M? E:76J=? – 4 %; 
! E:76J=? – 2 %. 
5.2  XA6ID  >K6EIM > A?NH?58 KD JDE:>E8V =6 N=6<?H8 IGHD; 
! 7GL:? – 16 %;  
! J?EI6I=M? 7GL:? – 42 %;  
! @?H8A=? – 38 %; 
! J?EI6I=M? E:76J=? – 0 %; 
! E:76J=? – 4 %. 

5.3 $DA6R6ID E5?V @?K>IIB I6 GH?;8V, 6 I6:?R AG6L>56ID =6 5DA6RG==B ;DC 
@?K>II85 I6 GH?;8< 8=SDHD 7TJMHD; 

! 7GL:? – 14 %;  
! J?EI6I=M? 7GL:? – 34 %;  
! @?H8A=? – 34 %; 
! J?EI6I=M? E:76J=? – 10 %; 
! E:76J=? – 8 %. 

5.4 XGN @8JL?I?5:D QA6ID >K6EIM > J867?L6C =6 N=6<?H8 IGHD, @?BE=T56ID > 
K?H> E>IM @A?Q7GHD; 

! 7GL:? – 8 %;  
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! J?EI6I=M? 7GL:? – 26 %;  
! @?H8A=? – 46 %; 
! J?EI6I=M? E:76J=? – 16 %; 
! E:76J=? – 4 %. 

5.5 ,QH8=T56IDEM 8=9?AH6;8PT, J>H:6HD > JDE:>E8V I6 5D:76J6ID ?E?QDEID< 
@?L7BJ JA>NBH; 

! 7GL:? – 10 %;  
! J?EI6I=M? 7GL:? – 44 %;  
! @?H8A=? – 36 %; 
! J?EI6I=M? E:76J=? – 6 %; 
! E:76J=? – 4 %. 

6. 0D @?H8K6PIG $D @?HD7:D > E5?PH> H?57G==8? 
! I6: – 90 %; 
! =8 – 10 %. 

7. ]:8 ID@?58 @?HD7:D $D A?QDIG? 
!"#$#%&'(): 

! =GJ?IADH6==B @A65D7 5RD56==B 
K6E85 – 37 %; 

! =G@A65D7M=D< @?ABJ?: E785 – 38 %; 
! =G@A65D7M=G >I5?AG==B @DI67M=DC 8 
N6@GAGK=DC AGKG=M – 6 %; 

! @?A>SG==B 5RD56==B @6ED5=?L? 
EI6=> – 18 %; 

! NH8S>56==B 9?AH ?:AGHDC 
=G@A65D7M=DC J8PE785 – 10 %; 

! =G@A65D7M=D< 5DQ8A 9?AHD J8PE7?56 
– 26 %; 

! =G@A65D7M=G 5RD56==B @ADE785=D:85 
8 @AD:HGI=D:85 – 6 %; 

! =G@A65D7M=D< @?ABJ?: @AD:HGI=D:85 
> AGKG==8 – 12 %; 

! =G@A65D7M=G 5RD56==B @ADE58<=?L? 
58JH8=:6 8HG==D:6 – 6 %; 

! =G@A65D7M=G 5RD56==B N6<HG==D:85 
– 0 %; 

! 5RD56==B :67M:?56=DC EIA>:I>A N 
A8J=?V H?5D – 12 %. 

*+,-&'(): 
! =G@A65D7M=D< 5DQ8A ED=?=8H85 – 6 %; 
! =GN=6==B EGH6=ID:D 7G:EDK=DC 
?JD=D;M – 28 %; 

! =G5H8==B @A65D7M=? @?PJ=>56ID 
7G:EDK=8 ?JD=D;8 – 22 %; 

./(+%&'(): 
! =G@A65D7M=6 JDE:ADH8=6;8B N5>:?5
DC ?JD=D;M – 20 %; 

! =GK8I:6, =G@A65D7M=6 
6AID:>7B;8B, 8=I?=6;8B I6 
5DE?I6 I?=> – 44 %; 

! =G@A65D7M=G E@8558J=GEG==B 
N5>:?5?L? I6 LA698K=?L? ?QA6N85 
H?5=DC 8 H?57G==P5DC ?JD=D;M – 
12 %. 

! $6S 56A86=I – 4 %. 
8. ]:\? @?H8K6PIG @?HD7:D, B:DH KD=?H VC 5D@A657BPIG? 

! N6@DI>T @A65D7M=> 58J@?58JM – 30 %;  
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! @?5I?ATT AGKG==B 8N @A65D7M=?T 58J@?58JJT – 66 %;  
! N6@DE>T @A65D7M=D< 56A86=I – 14 %; 
! @GAG9A6N?5>T – 26 %; 
! $6S 56A86=I – 0 %. 

9. ^? =6 $6S> J>H:>, A?N>H8PIMEB @8J IGAH8=?H «=65K67M=?-EIA6IGL8K=6 
:?H@GIG=I=8EIM»? 

! NJ8Q=8EIM >KDIDEM E6H?EI8<=? I6 NJ?Q>56ID =?58 N=6==B – 14 %; 
! NJ8Q=8EIM :?H@G=E>56ID 5 @A?;GE8 E@87:>56==B =GJ?EI6I=8EIM H?5=DC 

N=6=M – 20 %; 
! NJ8Q=8EIM EIA6IGL8K=? @76=>56ID 5D5KG==B =?5DC 7G:EDK=DC ?JD=D;M, 

?@6=>56==B @G5=?L? H6IGA867> – 66 %; 
! $6S 56A86=I – 0 %. 

10. 0D J?EI6I=M?, =6 $6S> J>H:>, K6E> @ADJ87BPIMEB J7B 9?AH>56==B 
=65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > J867?L8K=?H> H?57G==8 =6 N6=BIIBC N 
@A6:ID:D 6=L78<EM:?V H?5D? 

! I6: – 90 %; 
! =8 – 10 %. 

11. 0D 556R6PIG $D N6 =G?QC8J=G 9?AH>56==B =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 > $([? 

! I6: – 100 %; 
! =8 – 0 %. 

12. (6 B:?H> EI>@G=8 @8JL?I?5:D Q6:6765A85 $D 556R6PIG N6 J?;87M=G 
9?AH>56==B =65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > J867?L8K=?H> H?57G==8? 

! =6 @GAS?H> :>AE8 – 52 %; 
! =6 JA>L?H> :>AE8 – 38 %; 
! =6 IAGIM?H> :>AE8 – 20 %; 
! =6 KGI5GAI?H> :>AE8 – 6 %. 

13. (6 B:DC E6HG N6=BIIBC, =6 $6S> J>H:>, J?;87M=? 9?AH>56ID  =65K67M=?-
EIA6IGL8K=> :?H@GIG=I=8EIM > J867?L8K=?H> H?57G==8? 

! @8J K6E N6=BIM N @A6:ID:D 6=L78<EM:?V H?5D – 66 %; 
! @8J K6E 7G:;8< N HGI?JD:D =65K6==B 8=?NGH=DC H?5 – 10 %; 
! @8J K6E @A6:IDK=DC N6=BIM N HGI?JD:D =65K6==B 8=?NGH=DC H?5 – 36 %. 

14. (6 $6S> J>H:>, 9?AH>56==B =65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > 
J867?L8K=?H> H?57G==8 P =G?QC8J=DH J7B @8J5D\G==B A85=B 5?7?J8==B 
6=L78<EM:?T H?5?T? 

! I6: – 96 %; 
! =8 – 4 %. 
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15. 0D $D 58JK>56PIG IA>J=8EIM @GAG@DI6ID 6=L78<EM:?T H?5?T =GNA?N>H87> 
$6H 8=9?AH6;8T =6 7G:;8BC N :>AE85 78=L58EIDK=DC JDE;D@78= 6=L78<EM:?T 
H?5?T? 

! I6: – 30 %; 
! =8 – 70 %. 

15.1 ]:DH KD=?H $D VV J?76PIG? 
! $6S 56A86=I – 28 %. 

16. 0D IA6@7B7?EM, \? @8J K6E A?NH?5D $D =G H?L7D @?BE=DID E@85A?NH?5=D:> 
E5?T J>H:>, \? @ADN5?JD7? J? N65GASG==B A?NH?5D? 

! N6N5DK6< I6: 8 58JQ>56PIMEB – 4 %; 
! K6EI? – 12 %; 
! A8J:? – 64 %;  
! =8:?7D – 18 %; 
! $6S 56A86=I – 2 %. 

17. ]: $D @?KD=6PIG N6N5DK6< J867?L? 
! A?N@?58J6T 8EI?A8T, B:6 N6;8:65DIM E@85A?NH?5=D:6 – 40 %; 
! B N6N5DK6< N6@DI>T, \?Q A?N@?K6ID A?NH?5> – 38 %; 
! B =G 7TQ7T A?N@?KD=6ID A?NH?5> @GASDH(-?T) – 22 %; 
! $6S 56A86=I  – 0 %. 

18. ]:\? $D EID:6PIGEM 8N @G5=?T IA>J=8EIT @8J K6E E@87:>56==B, B:8 IGC=8:D 
$D 5D:?ADEI?5>PIG J7B @?J?76==B IA>J=?\85? 

! K6EI? @A?S> @?5I?ADID @DI6==B – 44 %; 
! @A?S> @?BE=DID =GN=6<?H8 E7?56, 5DA6ND, I?\?; – 56 % 
! 58JIBL>T K6E 58J@?58J8 – 4 %; 
! QGA> 6:ID5=> >K6EIM > J867?N8 – 10 %; 
! 5DA6R6T 8=IGAGE J? 58J@?58J=?V IGHD I6 N6J6T @DI6==B – 38 %; 
! 5DA6R6T I6 58JEI?TT E5?T J>H:> – 14 %; 
! $6S 56A86=I  – 0 % 

19. ]: $D N65GAS>PIG N6N5DK6< J867?L? 
! @GASDH(-?T) @8J5?JR> @8JE>H:D A?NH?5D – 8 %; 
! JB:>T N6 E@87:>56==B, 5DA6R6TKD @?K>IIB \?J? ?QL?5?AG=?V IGHD – 

76 %; 
! N67DS6T H?R7D58EIM E@85A?NH?5=D:> N65GASDID A?NH?5> – 12 %; 
! @?EI>@?5? H67? QGA> >K6EIM > A?NH?58 8 5?=6 E6H6 N65GAS>PIMEB – 14 %; 
! RGEI6HD I6 H8H8:?T N?QA6R>T, \? K6E >RG N65GASDID A?NH?5> – 0 %. 
! $6S 56A86=I  – 0 %. 

20. ^? $D A?QDIG, \?Q >=D:=>ID @6>N @A?IBL?H J867?L>? 
! B:\? B =G N=6T @G5=?L? E7?56 B 5J6TEM J? ?@DE> – 50 %; 
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! B:\? B =G N=6T E7?56, B @A?S> 5D:76J6K6 @GAG:76EID – 36 %; 
! B N65RJD :?ADEI>TEM E7?5=D:?H – 0 %; 
! @GAGC?JR> =6 8=S> IGH>, E7?56 N B:?V HG=8 58J?H8 – 24 %; 
! $6S 56A86=I  – 0 %. 

21. 0D N=6PIG $D E58< 8=JD58J>67M=D< EID7M =65K6==B?  
! I6: – 40 %; 
! =8 – 60 %; 
! $6S 56A86=I 58J@?58J8  – 0 %. 

22. ]: $D 556R6PIG, $D 5H8PIG 5DN=6K6ID E58< 8=JD58J>67M=D< EID7M =65K6==B? 
! I6: – 36 %; 
! =8 – 64 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

23. F? B:?L? ID@> :?ADEI>56K6 8=?NGH=?T H?5?T (language learner) $D 
=67GRDIG? 

! 58N>67M=?H> – 38 %; 
! 6>J867M=?H> – 12 %; 
! I6:ID7M=?H> – 4 %; 
! J?E58J=?-GH?;8<=?H> – 28 %; 
! 6=678IDK=?H> – 4 %; 
! J8B7M=8E=?-?A8P=I?56=?H> – 14 %; 
! :?L=8ID5=?-6QEIA6:I=?H> – 2 %; 
! :?H>=8:6ID5=?-:??@GA6ID5=?H> – 34 %. 

24. (6 $6S> J>H:>, J?@?H6P $6H N=6==B E5?L? 8=JD58J>67M=?L? EID7T =65K6==B 
@AD ?5?7?J8==8 +4? 

! I6: – 68 %; 
! =8 – 30 %; 
! $6S 56A86=I 58J@?58J8 – 2 %. 

25. ]: $D :?ADEI>PIGEM E5?VH 8=JD58J>67M=DH EID7GH =65K6==B? 
! @8JQDA6T 5@A65D, B:8 @8JC?JBIM J7B H?L? EID7T – 16 %; 
! 5D:?=>T 7DSG I8 5@A65D, B:8 B NJ6IG=(-6) 5D:?=6ID – 20  %; 
! EDEIGH6IDK=? @?5I?ATT N6E5?P=D< =?5D< H6IGA867 – 30 %; 
! J?EDIM K6EI? :?ADEI>TEB E7?5=D:?H – 22 %; 
! 5D@DE>T =GN=6<?H8 E7?56 I6 KDI6T VC 5L?7?E – 24 %; 
! N=6C?JR> A8N=?H6I=8 6E?;86;8V J? E785, \?Q N6@6H’BI6ID VC – 36 %;  
! =8:?7D =6J ;DH =G N6J>H>TEM – 12 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

26. 0D 5H8PIG $D ?;8=T56ID E58< A85G=M =6Q>IDC N=6=M N +4? 
! I6: – 54 %; 
! =8 – 20 %; 
! =G N6J>H>TEM =6J ;DH – 26 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

27. 0D 5H8==B ?;8=T56ID E58< A85G=M $6H EI6P > @ADL?J8 @8J K6E =65K67M=?L? 
@A?;GE>? 
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! I6: – 70 %; 
! =8 – 28 %; 
! $6S 56A86=I 58J@?58J8 – 2 %. 

28. 0D @?J?Q6TIMEB $6H N65J6==B, \? @A?@?=>TIMEB > @8JA>K=D:6C/ @?E8Q=D:6C 
(=6 N6=BIIBC N +4) J7B ;8:65?L? 5D5KG==B H?5D? (=6@A. 5D5K6ID N6:?=?H8A=?EI8 
H?5D, B:8 J?@?H6L6TIM EDEIGH6IDN>56ID N=6==B) 

! I6: – 68 %; 
! =8 – 30 %; 
! $6S 56A86=I 58J@?58J8 – 2 %. 

29. ]: $D 556R6PIG, KD J?EI6I=B :87M:8EIM 5@A65, J7B I?L? \?Q >E@8S=? 
E@87:>56IDEB? 

! =8 – 32 %; 
! I6: – 68 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

30. ]:DH 5@A656H $D =6J6PIG @GAG56L> 6QD >J?E:?=67DID =65D:D >E@8S=?L? 
E@87:>56==B? 

! 5D5K6T 58J@?58J=8 :78SG – 18 %; 
! :?ADEI>TEM ECGH6HD J867?L> – 52 %; 
! @A6:ID:>TEM > JG98=8;8BC – 16 %; 
! 5D:?ADEI?5>T H?5> I876 6QD @?BE=DID @G5=8 E7?56, B:DC =G N=6T – 22 %; 
! $6S 56A86=I 58J@?58J8 – 6 %. 

31. ]: $D E6H8 ?;8=TPIG A85G=M E9?AH?56=?EI8 E5?PV =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8? 

! «5» – 58JH8==? – 4 %; 
! «4» – J?QAG – 54 %; 
! «3» – N6J?587M=G – 40 %; 
! «2» – =GN6J?587M=? – 2 %. 

 
F?EI?58A=8EIM I6 ?Q’P:ID5=8EIM ?IADH6=DC J6=DC Q>76 @GAG58AG=6 N6 

J?@?H?L?T HGI?J85 H6IGH6IDK=DC @8JA6C>=:85. 
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#GH@BGI , 

.;JKALB@B> @=I;BKE@==M E>IA@H@SDE J 

«/>MEA;==M B<KH=GNDE K O@PQKB=DR ES>B;ADE 

T<> E>IG<>CB@==D =@ES@AL=>R B@ IGOK=DI@B>E=>R CB<@B;UDP 

TDH S@C J@=MBL J T<@IB>S=GUG IK<CK @=UADPCLIGV OGE> 

=@ 1–2 IK<C@R =@ES@==M T<> GT>BKE@==D E>IA@H@SDE» 

 
%DCW; T<GE;H;==M: 0GA=8L85EM:D< =6;8?=67M=D< >=85GAEDIGI 8HG=8 /. .. YG5KG=:6 
7T;WD@AL=DCBL: 4?56 I6 78IGA6I>A6 
#@B@ T<GE;H;==M: 2011 – 2013 =.A. 
9DALIDCBL E>IA@H@SDE, MID Q<@A> KS@CBL E @=I;BKE@==D: 7 5D:76J6K85  
 
%;B@ @=I;BKE@==M: 5D5KDID @A?;GE 9?AH>56==B =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 5 @A?;GE8 J867?L8K=?L? H?57G==B =6 N6=BIIBC N @A6:IDK=?L? 
:>AE> 6=L78<EM:?V H?5D =6 1-2 :>AE6C I6 5DB5DID IA>J=?\8, B:8 5D=D:6TIM @8J 
K6E E@87:>56==B.  
 
.;JKALB@B> @=I;BKE@==M:  
1. ^? =6 $6S> J>H:>, H6P 5C?JDID J? E:76J> «=65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8» > J867?L8K=?H> H?57G==8? 
! NJ8Q=8EIM :?ADEI>56K6 8=?NGH=?V H?5D >KDIDEM E6H?EI8<=? I6 NJ?Q>56ID =?58 
N=6==B – 14 %; 

! =6B5=8EIM @?5GJ8=:D, @76=85, IGC=8:D, E58J?HDC A?N>H?5DC ?@GA6;8<, IGC=8:D 
5DA8SG==B @A?Q7GH – 22 %; 

! E>:>@=8EIM 5KD=:85 I6 J8<, \? @?PJ=>TIMEB J7B NJ?Q>IIB @GAGH?LD – 0 %;  
! NJ8Q=8EIM :?ADEI>56K6 8=?NGH=?V H?5D EIA6IGL8K=? @76=>56ID 5D5KG==B =?5DC 
7G:EDK=DC ?JD=D;M, ?@6=>56==B @G5=?L? H6IGA867> – 0 %; 

! HDEIG;I5? @76=>56==B I6 :??AJD=>56==B N6A6JD J?EBL=G==B HGID – 14 %;  
! NJ8Q=8EIM EI>JG=I6 :?H@G=E>56ID 5 @A?;GE8 E@87:>56==B =GJ?EI6I=8EIM 
H?5=DC N=6=M – 50 %; 

! $6S 56A86=I – 0 %. 
2. ]: K6EI? =6 $6S> J>H:> EI>JG=ID E@87:>TIMEB 6=L78<EM:?T H?5?T N6 
HGR6HD =65K67M=?V 6>JDI?A8V? 
! A6N =6 JG=M – 14 %; 
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! A6N =6 IDRJG=M – 29 %; 
! A6N =6 H8EB;M – 14 %; 
! =8:?7D – 0 %; 
! $6S 56A86=I – 43 %. 

3. FG, =6 $6S> J>H:>, @GAG56R=? E@87:>PIMEB EI>JG=I 6=L78<EM:?T H?5?T? 
! 5J?H6 – 0 %; 
! @? IG7G9?=> – 14 %; 
! N6E?Q6HD HGAGR8 8=IGA=GI – 86 %; 
! @A?RD56TKD N EI>JG=I6HD @? ?QH8=> – 29 %; 
! > LA?H6JEM:DC H8E;BC – 29 %; 
! =6 N6=BIIBC N @A6:ID:D 6=L78<EM:?V H?5D – 86 %; 
! $6S 56A86=I – 14 %. 

4. ]:8 IA>J=?\8 $D @?H8K6PIG > EI>JG=I85 @8J K6E VC=M?L? E@87:>56==B? 
! IA>J=?\8 @AD A?N@?KD=6==8, @8JIADH;8 I6 N65GASG==8 @A?EI?V A?NH?5D =6 
N=6<?H> KD ;8:65> J7B =DC IGH> – 0 %; 

! IA>J=8EIM QA6ID >K6EIM > A?NH?58 KD JDE:>E8V =6 N=6<?H8 IGHD, N65RJD 
@?IAGQ>P, \?Q <?L? E@85A?NH?5=D: J?J6I:?5? >I?K=D5 5DE7?57G==B E5?PV 
J>H:D – 14 %; 

! IA>J=8EIM 5DA6R6ID E5?V @?K>IIB I6 GH?;8V, 6 I6:?R AG6L>56ID =6 5DA6RG==B 
;DC @?K>II85 I6 GH?;8< 8=SDHD 7TJMHD – 57 %; 

! IA>J=8EIM QGN @8JL?I?5:D QA6ID >K6EIM > J867?L6C =6 N=6<?H8 <?H> IGHD, 
@?BE=T56ID > K?H> E>IM @A?Q7GHD – 14 %; 

! IA>J=8EIM ?QH8=T56IDEM 8=9?AH6;8PT, J>H:6HD > JDE:>E8V I6 5D:76J6ID 
?E?QDEID< @?L7BJ JA>NBH – 71 %; 

! $6S 56A86=I – 0 %. 
5. $DN=6KIG =6E:87M:D 7GL:? KD 56R:? EI>JG=I6H 5J6PIMEB E@87:>56==B. 

5.1 3?N@?K6ID, @8JADH6ID I6 N65GASGID @A?EI> A?NH?5> =6 N=6<?H> KD ;8:65> 
J7B =DC IGH>; 

! 7GL:? – 14 %;  
! J?EI6I=M? 7GL:? – 57 %;  
! @?H8A=? – 29 %; 
! J?EI6I=M? E:76J=? – 0 %; 
! E:76J=? – 0 %. 
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5.2 XA6ID  >K6EIM > A?NH?58 KD JDE:>E8V =6 N=6<?H8 EI>JG=I?58 IGHD; 

! 7GL:? – 0 %;  
! J?EI6I=M? 7GL:? – 43 %;  
! @?H8A=? – 43 %; 
! J?EI6I=M? E:76J=? – 14 %; 
! E:76J=? – 0 %. 

5.3 $DA6R6ID E5?V @?K>IIB I6 GH?;8V, 6 I6:?R AG6L>56ID =6 5DA6RG==B ;DC 
@?K>II85 I6 GH?;8< 8=SDHD 7TJMHD; 

! 7GL:? – 0 %;  
! J?EI6I=M? 7GL:? – 0 %;  
! @?H8A=? – 43 %; 
! J?EI6I=M? E:76J=? – 57 %; 
! E:76J=? – 0 %. 

5.4 XGN @8JL?I?5:D QA6ID >K6EIM > J867?L6C =6 N=6<?H8 IGHD, @?BE=T56ID > 
K?H> E>IM @A?Q7GHD; 

! 7GL:? – 0 %;  
! J?EI6I=M? 7GL:? – 14 %;  
! @?H8A=? – 28 %; 
! J?EI6I=M? E:76J=? – 28 %; 
! E:76J=? – 30 %. 

5.5 ,QH8=T56IDEM 8=9?AH6;8PT, J>H:6HD > JDE:>E8V I6 5D:76J6ID ?E?QDEID< 
@?L7BJ JA>NBH; 

! 7GL:? – 0 %;  
! J?EI6I=M? 7GL:? – 14 %;  
! @?H8A=? – 42 %; 
! J?EI6I=M? E:76J=? – 44 %; 
! E:76J=? – 0 %. 

6. 0D @?H8K6TIM EI>JG=ID  576E=8 @?HD7:D > E5?PH> H?57G==8? 
! I6: – 0 %; 
! =8 – 100 %. 

7. ]:8 ID@?58 @?HD7:D 5?=D A?Q7BIM? 
!"#$#%&'(): 
! =GJ?IADH6==B @A65D7 5RD56==B 
K6E85 – 71 %; 

! =G@A65D7M=D< @?ABJ?: E785 – 57 %; 

! =G@A65D7M=G >I5?AG==B @DI67M=DC 
8 N6@GAGK=DC AGKG=M – 42 %; 

! @?A>SG==B 5RD56==B @6ED5=?L? 
EI6=> – 28 %; 
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! NH8S>56==B 9?AH ?:AGHDC 
=G@A65D7M=DC J8PE785 – 28 %; 

! =G@A65D7M=D< 5DQ8A 9?AHD 
J8PE7?56 – 28 %; 

! =G@A65D7M=G 5RD56==B 
@ADE785=D:85 8 @AD:HGI=D:85 –  
14 %; 

! =G@A65D7M=D< @?ABJ?: 
@AD:HGI=D:85 > AGKG==8 – 0 %; 

! =G@A65D7M=G 5RD56==B 
@ADE58<=?L? 58JH8=:6 8HG==D:6 – 
0 %; 

! =G@A65D7M=G 5RD56==B 
N6<HG==D:85 – 0 %; 

! 5RD56==B :67M:?56=DC EIA>:I>A N 
A8J=?V H?5D – 85 %. 

*+,-&'(): 

! =G@A65D7M=D< 5DQ8A ED=?=8H85 – 0 
 %; 

! =GN=6==B EGH6=ID:D 7G:EDK=DC 
?JD=D;M – 42 %; 

! =G5H8==B @A65D7M=? @?PJ=>56ID 
7G:EDK=8 ?JD=D;8 – 71 %; 

./(+%&'(): 
! =G@A65D7M=6 JDE:ADH8=6;8B 
N5>:?5DC ?JD=D;M – 14 %; 

! =GK8I:6, =G@A65D7M=6 
6AID:>7B;8B, 8=I?=6;8B I6 
5DE?I6 I?=> – 71 %; 

! =G@A65D7M=G E@8558J=GEG==B 
N5>:?5?L? I6 LA698K=?L? ?QA6N85 
H?5=DC 8 H?57G==P5DC ?JD=D;M – 
14 %. 

! $6S 56A86=I – 0 %. 
8. ]:\? EI>JG=ID @?H8K6TIM @?HD7:D, B:DH KD=?H 5?=D VC 5D@A657BTIM? 
! $6S 56A86=I – 57 % 

9. 0D J?EI6I=M?, =6 $6S> J>H:>, K6E> @ADJ87BPIMEB J7B 9?AH>56==B =65K67M=?-
EIA6IGL8K=?V :?H@GIG=I=?EI8 > J867?L8K=?H> H?57G==8 =6 N6=BIIBC N @A6:ID:D 
6=L78<EM:?V H?5D? 
! I6: – 15 %; 
! =8 – 85 %. 

10. 0D 556R6PIG $D N6 =G?QC8J=G 9?AH>56==B =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 > $([? 
!  I6: – 100 %; 
!  =8 – 0 %. 

11. (6 B:?H> EI>@G=8 @8JL?I?5:D Q6:6765A85 $D 556R6PIG N6 J?;87M=G 
9?AH>56==B =65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > J867?L8K=?H> H?57G==8? 
! =6 @GAS?H> :>AE8 – 29 %; 
! =6 JA>L?H> :>AE8 – 57 %; 
! =6 IAGIM?H> :>AE8 – 57 %; 



276 
! =6 KGI5GAI?H> :>AE8 – 14 %. 

12. (6 B:DC E6HG N6=BIIBC, =6 $6S> J>H:>, J?;87M=? 9?AH>56ID  =65K67M=?-
EIA6IGL8K=> :?H@GIG=I=8EIM > J867?L8K=?H> H?57G==8? 
! @8J K6E N6=BIM N @A6:ID:D 6=L78<EM:?V H?5D – 100 %; 
! @8J K6E 7G:;8< N HGI?JD:D =65K6==B 8=?NGH=DC H?5 – 0 %; 
! @8J K6E @A6:IDK=DC N6=BIM N HGI?JD:D =65K6==B 8=?NGH=DC H?5 – 0 %. 

13. (6 $6S> J>H:>, 9?AH>56==B =65K67M=?-EIA6IGL8K=?V :?H@GIG=I=?EI8 > 
J867?L8K=?H> H?57G==8 P =G?QC8J=DH J7B @8J5D\G==B A85=B 5?7?J8==B 
EI>JG=I6HD 6=L78<EM:?V H?5D? 
! I6: – 100 %; 
! =8 – 0 %. 

14. (6E:87M:D E:76J=? EI>JG=I> :?7D > =DC @?KD=6PIMEB 5D:76J H6IGA867> N 
:>AE85 78=L58EIDK=DC JDE;D@78= 6=L78<EM:?T H?5?T, 5?=D K6EI? 58JK>56TIM 
IA>J=8EIM @GAG@DI6ID =6 6=L78<EM:8< H?58 =GNA?N>H87> VH 8=9?AH6;8T? 
! I6: – 90 %; 
! =8 – 10 %. 

15. 0D Q>567?, \? @8J K6E A?NH?5D EI>JG=ID =G H?L7D @?BE=DID E@85A?NH?5=D:> 
VC=M?V J>H:>, \? @ADN5?JD7? J? N65GASG==B A?NH?5D? 
! N6N5DK6< I6: 8 58JQ>56PIMEB – 0 %; 
! K6EI? – 42 %; 
! A8J:? – 44 %;  
! =8:?7D – 0 %;  
! $6S 56A86=I – 14 %. 

16. ]: EI>JG=ID @?KD=6TIM N6N5DK6< J867?L? 
! A?N@?58J6TIM 8EI?A8T, B:6 N6;8:65DIM E@85A?NH?5=D:6 – 0 %; 
! N6N5DK6< N6J6TIM @DI6==B, \?Q A?N@?K6ID A?NH?5> – 42 %; 
! =G 7TQ7BIM A?N@?KD=6ID A?NH?5> @GASDHD – 28 %; 
! $6S 56A86=I – 28 % 

17. ]: H6<Q>I=8 >KDIG78 5GJ>IM A?NH?5>? 
! K6EI? @A?EBIM @?5I?ADID @DI6==B – 0 %; 
! N7?5RD56TIM @6>N6HD CGNDI6;8< – 28 %; 
! 58JIBL>TTIM K6E 8N 58J@?58JJT – 14 %; 
! QGA>IM 6:ID5=> >K6EIM > J867?N8 – 28 %; 
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! 5DA6R6TIM 8=IGAGE J? 58J@?58J=?V IGHD I6 N6J6TIM @DI6==B – 14 %; 
! 5DA6R6TIM I6 58JEI?TTIM E5?T J>H:> – 14 %; 
! $6S 56A86=I – 14 % 

18. ]: H6<Q>I=8 >KDIG78 N65GAS>TIM N6N5DK6< J867?L? 
! @GAS8 @8J5?JBIM @8JE>H:D A?NH?5D – 14 %; 
! JB:>TIM N6 E@87:>56==B, 5DA6R6TKD @?K>IIB \?J? ?QL?5?AG=?V IGHD – 42 %; 
! N67DS6TIM H?R7D58EIM E@85A?NH?5=D:> N65GASDID A?NH?5> – 0 %; 
! @?EI>@?5? H67? QGA>IM >K6EIM > A?NH?58 8 5?=6 E6H6 N65GAS>PIMEB – 42 %; 
! RGEI6HD I6 H8H8:?T N?QA6R>TIM, \? K6E >RG N65GASDID A?NH?5> – 0 %. 
! $6S 56A86=I – 0 %. 

19. ^? A?Q7BIM EI>JG=ID, \?Q >=D:=>ID H?5K6==B @A?IBL?H J867?L>? 
! B:\? =G N=6TIM @G5=?L? E7?56 I? @?BE=TTIM <?L? – 14 %; 
! B:\? =G N=6TIM E7?56,  @A?EBIM 5D:76J6K6 @GAG:76EID – 42 %; 
!  :?ADEI>TIMEB E7?5=D:?H – 0 %; 
! @GAGC?JBIM =6 8=S> IGH>, E7?56 N B:?V VH 58J?H8 – 28 %; 
! $6S 56A86=I – 14 %. 

20. ]: $D 556R6PIG, KD N=6TIM EI>JG=ID E58< 8=JD58J>67M=D< EID7M =65K6==B?  
! I6: – 10 %; 
! =8 – 90 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

21. (6 $6S> J>H:>, KD 5H8TIM EI>JG=ID 5DN=6K6ID E58< 8=JD58J>67M=D< EID7M 
=65K6==B? 
! I6: – 15 %; 
! =8 – 85 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

22. $DN=6KIG J?;87M=8EIM 5:7TKG==B N65J6==B J7B 5DN=6KG==B 8=JD58J>67M=?L? 
EID7T =65K6==B EI>JG=I85 =6 N6=BIIBC 8=?NGH=?V H?5D? 
! I6: – 29 %; 
! 56AI? ?Q?5’BN:?5? – 28 %; 
! =G 56AI? – 14 %; 
! N6<56 5DIA6I6 K6E> – 29 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 
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23. ]: $D 556R6PIG, KD 5H8TIM EI>JG=ID ?;8=T56ID E58< A85G=M =6Q>IDC N=6=M 
N +4? 
! I6: – 0 %; 
! =8 – 42 %; 
! =G 5E8 EI>JG=ID – 42 %; 
! ;G P @A?Q7GH?T J7B EI>JG=I85 – 16 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

24. [6 $6SDHD E@?EIGAGRG==BHD KD 5H8==B ?;8=T56ID 576E=D< A85G=M 
5?7?J8==B +4 P :?ADE=DH J7B EI>JG=I85? 
! I6: – 100 %; 
! =8 – 0 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

25. ]:8 N65J6==B $D @A?@?=>PIG EI>JG=I6H J7B 9?AH>56==B =65K67M=?-
EIA6IGL8K=?V :?H@GIG=I=?EI8? 
! N6>K>56==B H?57G==P5DC :78SG – 14 %; 
! @GAG9A6N>56==B AGKG==B 6QD N6@?5=DID @A?L67D=D > 5?7?J8==8 +4 – 42 %; 
! @A?C6==B @?BE=DID =GNA?N>H87> 9A6N> – 29 %; 
! B: 5DLA6ID K6E, \?Q J6ID 57>K=> 58J@?58JM – 28 %; 
! A?N5DI?: >H8=M 58K7D5? @GAGQDID, 5DA6NDID 8=IGAGE 6Q? 576E=> J>H:> – 28 %; 
! ?QH8= 8=9?AH6;8PT 8N E@85A?NH?5=D:?H – 28 %; 
! $6S 56A86=I 58J@?58J8 – 0 %. 

26. ]: $D ?;8=TPIG N6L67M=D< A85G=M E9?AH?56=?EI8 =65K67M=?-EIA6IGL8K=?V 
:?H@GIG=I=?EI8 > H6<Q>I=8C >KDIG785? 

! «5» – 58JH8==? – 0 %; 
! «4» – J?QAG – 28 %; 
! «3» – N6J?587M=G – 72 %; 
! «2» – =GN6J?587M=? – 0 %. 

 
F?EI?58A=8EIM I6 ?Q’P:ID5=8EIM ?IADH6=DC J6=DC Q>76 @GAG58AG=6 N6 

J?@?H?L?T HGI?J85 H6IGH6IDK=DC @8JA6C>=:85. 
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ARE YOU A GOOD LANGUAGE LEARNER? 
Do the following quiz. You may tick more than one answer to each question. 

Try to be as honest as you can! 
1. When you start a course in a foreign language , do you know what you want to get out of 

it? 
a yes, always 
b yes, sometimes 
c no, never 

2. Do you know more or less what level you are now? 
a yes 
b no 

3. When you learn a new piece of language, do you try to practise it afterwards? 
a never 
b occasionally 
c sometimes 
d usually 
e always 

4. Do you try to understand the rules of the language you are learning? 
a not really, I just try to speak it as well as I can 
b yes, I think it’s important to understand the rules 
c I’d like to understand the rules, but sometimes there are so many exceptions that it’s 

impossible! 
5. How do you remember new vocabulary? 

a I don’t! 
b I write alphabetical lists in my notebook 
c I revise new words regularly 
d I write lists with transcriptions 
e I draw pictures 

6. Do you check your work before you give it to the teacher? 
a always 
b sometimes 
c occasionally 
d never 

7. Do you ever have any contact with English speakers? 
a no, I don’t live in an English speaking country, so it’s difficult for me to meet them 
b yes, I am living in an English-speaking country now, so I meet them every day 
c yes, sometimes: I try to meet them as much as I can even though I don’t live in an 

English-speaking country 
d it’s not important for me to meet English speakers, so I never do 

8. What do you do when you feel depressed about your English? 
a I think to myself: «Everybody gets depresses about their English sometimes; I must just 

carry on…» 
b I go and do something else for a bit 
c I take up aerobics instead 
d I think about learning another language instead 

9. How do you feel about learning English? (Be honest!) 
a  I hate it, but I have to do it! 
b  I like it most of the time but sometimes it’s rather dull and boring  
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c  I love it 
d I have no feeling about it – I just need to do it for my work or my studies 

10. How do you feel about either British or American or Australian culture? 
a I am not interested in it at all 
b  I am quite interested in it 
c  I am very interested in it 
d I am not really interested in it, but I realise I need to understand in order to understand 

the language better 
 

b Now discuss your answers with your partner. Which answers would the 'perfect'  language 
learner give? 

c Read  he following passage and decide what he 'right' answers to the quiz might be. 
 

WHAT MAKES A GOOD LANGUAGE LEARNER? 
We a know that some students are better at learning a foreign language than 

others . Why is this so? And what is it that makes for a good language learner? The 
writer H. H. Stern has identified four basic factors.  

The first of these is the ability to develop an active learning strategy. In other 
words good language learners have the ability to select goals and sub-goals, and 
recognise  the stages and sequences of their learning. 

Secondly, they are able to see the language as a formal system with its own rule 
and relationships between forms and meanings. Furthermore, they analyse the 
language and develop techniques of practice and memorisation. They can check their 
own  performance, and revise it in order to progress. 

The  third way is to develop a social strategy for learning. This means that good 
learners understand that, in the early stages , they will be vulnerable and. dependent, 
and can accept this. However, they also seek contact with native-speakers of the 
language. They work out ways of dealing with difficulties in the language. And 
finally they become  actively involved as participants  in authentic language use. 

The final area is psychological or emotional. All language learners will have 
emotional  and  motivational  problems while they  are learning. In spite of this, a 
good learner will cope effectively, and will cultivate positive attitudes towards 
themselves, towards language learning in general, and the target language, society 
and culture.  

 
 
3 
 
5 
 
 
8 
 

10 
 
 

13 
 

15 
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SETTING GOALS FOR YOURSELF 

It is useful to  set yourself some goals and sub-goals which are practical and achievable. 

a  Look at the following areas of language study and decide what your main goal is for each 
one. 

Example:    reading 
I would like to be able to read magazine articles in English.  

reading writing  listening 

speaking grammar vocabulary 
pronunciation   

b Now find out from other students whether your goals are the same or different from theirs. 
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DEVISING A PROGRAMME OF WORK  

It is a good idea to develop a programme of work – when, and for how long, you are going to 
study English each week. But this programme will be different for every person – you have to 
develop your own personal programme of work. 

a  Answer the following questions. 

1 How much time per day can you afford to spend on your English? 
2 How will you divide this up? Will you use it all for grammar, for  example? 
3 At what time of day do you like studying best? Early in the morning? Late at night? (Don't 

say 'never'.) 
4 Do you like studying in short bursts (say 30 minutes at a time), with lots of short breaks, or 

do you prefer longer stretches (one 10 two hours)? 
5 Is there a particular place that you find you can study better? 

6 Do you like listening to music while you study or do you prefer silence? If you do like 
music, which kind? 

ANSWERS TO THE QUIZ: 
1 a 4 points!! b 3 points  c 0 points  
2 a 2 points  b 0 points   
3 a 5 points  

d  2 points  
b 4 points  
e 0 points  

c 3 points  

4 a 2 points  b 3 points  c 1 point  
5 a  0 points 

d 1 point 
b 1 point  
e 2 point 

c 3 points  

6 a 4 points 
d 0 points 

b 2 points  c 1 point 

7 a 0 points  
d  1 point 

b 3 points  c 2 points  

8 a 3 points  
d 0 points 

b 2 points  c 0 points  

9 a 1 point 
d  1 point 

b 2 points  c 4 points  

10 a  0 points  
d  2 points 

b 2 points  c 4 points  

INTERPRETATION: 
25-35: Congratulations! You fulfil most, if not all, of the conditions for learning a foreign 
language well. You understand the value of practice, of checking, and of meeting English 
speakers. You probably like the language, and are interested in language in general. 

10-25: You are certainly well on the way to becoming a good language learner. It may be 
necessary for you to «play to your strong points» – for example, you need to be realistic about 
your goals, and know exactly what you want, and the best way to get it. Don’t forget that, 
even if you are not «in love» with English, there are a lot of good habits which can help you 
in your studies. 
1-9: Don’t worry! You may be studying English for many different reasons, and every student 
varies in their approach to a foreign language. But keep in mind that, if you adopt some useful 
habits like always checking your work, practising as much as possible, and doing everything 
to revise new vocabulary, you can make loads of progress. And if you can find an English-
speaking friend … so much the better! 
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LEARNING SKILLS QUESTIONNAIRE 

 
The purpose of this questionnaire is to draw your attention to your learning 

skills (general study skills and abilities, skills of spoken interaction, different 
strategies in spoken interaction). First of all it’ll help you to set your goals and sub-
goals which are practical and achievable, to see what you can do now and where you 
need more practice. Self-evaluation is one of the components of language learning. 

 
The questionnaire is the part of the research that I’m conducting as part of the 

PhD in Educational Research Methodology (Applied Linguistics) that I am currently 
undertaking at Kyiv National Linguistic University. 

 

 
 

Please be assured that your answers will be used for research purposes only 
and will remain completely confidential; neither you nor your group will be 
individually identified in the survey’s findings. 

 
You will need approximately 20 minutes to complete the questionnaire. 
 
If you have any questions, please feel free to contact me: 
Yuliya Gudyma – email: juliegudyma@gmail.com 
 

Thank you for taking the time 
to answer these questions 
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For you to understand certain notions which are given in the questionnaire, we 

propose to read the following definitions: 
 

Study skills – abilities, techniques, and strategies which are used when reading, 
writing, or listening for study purposes [2; p. 521]. 
 
Abilities – assimilated by the student methods to perform the actions provided with 
the range of the knowledge and skills [1; p. 320]. 
 
Strategy – procedures used in learning, thinking, etc., which serve as a way of 
reaching a goal. In language learning, learning strategies and communication 
strategies are those conscious or unconscious processes which language learners 
make use of in learning and using a language [2; p. 515]. 
Strategies are divided into: 
Memory strategy (creating mental linkage, applying images and sounds, employing 
action); cognitive str (practicing, receiving and sending messages, analyzing and 
reasoning, creating structure for input and output); compensation str (guessing 
intelligently, overcoming limitations in speaking and writing); metacognitive str 
(centering your learning, arranging and planning your learning, evaluation learning); 
affective str (lowering your anxiety, encouraging yourself, taking your emotional 
temperature); social str (asking questions, cooperating with others, empathizing with 
others) [3].  
 
Communication strategy – a way used to express a meaning in a second or foreign 
language, by a learner who has a limited command of the language. In trying to 
communicate, a learner may have to make up for a lack of knowledge of grammar or 
vocabulary [2; p. 89]. 
 

 Can’t or 
don’t do 

I do this 
rarely 

I do this 
sometimes 

I do this 
often 

I can do 
this well 

General study skills      
I underline key points      
I make notes from my computer searches      
I can overcome the obstacles      
I can assess myself      
I can set my goals      
I can predict the difficulties      
I can juggle information      
I can struggle to make sense of what I’m 
doing 

     

I can play with different options      
I can make decisions      
I can link information      
I can control my spare time      
I know how much energy I need to 
devote to topics that interest me 

     

I am able to think critically and      
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 Can’t or 

don’t do 
I do this 
rarely 

I do this 
sometimes 

I do this 
often 

I can do 
this well 

analytically, and evaluate my own and 
other people’s arguments 

Abilities      

I have an ability to get on with people 
from different backgrounds 

     

 
 

Can’t or 
don’t do 

I do this 
rarely 

I do this 
sometimes 

I do this 
often 

I can do 
this well 

I have an ability to see and understand 
other people’s points of view 

     

I can deal with the general public       
I can help others to arrive at decisions      
I can read other people’s body language      
I can deal with others by phone in 
English 

     

I can cope with ‘difficult’ people       
I can speak clearly and to the point       
I can take direction from others       
I can speak out against injustice      
I can recognise my own needs and ask 
for help 

     

I can learn from mistakes       
I can maintain a high level of motivation      

Spoken interaction skills      

I can successfully start, maintain and 
close a conversation, communicating 
with necessary degree of fluency 

     

I can exchange detailed information 
within my field reliably 

     

I can convey a range of emotions, 
highlight the importance of certain events 
and experiences 

     

I can take an active part in an extended 
conversation on a number of general 
topics 

     

I can keep the discussion along on 
familiar ground, confirming 
comprehension, inviting others in, etc. 

     

I can carry out an interview, checking 
and confirming information, and 
developing the most interesting points 

     

Strategies      
Compensation strategies      

If I can’t understand: 
      -  I try harder 
       - or change resources 

     

I can make up new words to 
communicate the desired idea 

     

I can alter the message by omitting some      
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 Can’t or 

don’t do 
I do this 
rarely 

I do this 
sometimes 

I do this 
often 

I can do 
this well 

items of information 
I can avoid a communication when there 
is a difficulty 

     

If I don’t know the word or phrase I can 
use physical motion, such as mime or 
gesture 

     

If I can’t remember the word I can use 
the mother tongue 

     

If I can’t find a suitable phrase: 
       - I ask a fellow student 
       - a lecturer 
       - consult a dictionary 

     

Metacognitive strategies      
I can develop a topic of conversation in 
order to direct the communication 

     

I can recognize when I am stuck and 
change strategy 

     

I can arrange my learning      
I can plan my learning      
I can evaluate my learning      

Memory strategies      
I can employ actions while speaking      
I can apply images and sounds      
I can link new word with situation      

Cognitive strategies      
I can use strategies that suit me best for 
speaking under different conditions 

     

I can combine words and use them in the 
sentence  

     

I can analyse and contrast words with my 
native language 

     

I can use different clichés       
Affective strategies      

I have the courage to ask: 
       - a fellow student for help 
       - a lecturer for help 

     

I can lower my anxiety      
I can take emotional temperature      
I can think positively when I need to talk      

Social strategies      
I have strategies for getting/going with a 
new task or assignment 

     

I can cooperate with other speakers      
I can empathize with others      
I can work in-pairs      
I can create a group for mutual studying      
I can cooperate with native speakers      
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Resources: 
 

1. )NDH?5 _. .. (?5`< E7?56AM HGI?JDKGE:DC IGAHD=?5 D @?=BID< (IG?ADB D 
@A6:ID:6 ?Q>KG=DB BN`:6H) / _. .. )NDH?5, ). (. ^>:D=. – 4. : "NJ-5? 
"!)3, 2009. – 448 E. 

2. Longman Dictionary of Language Teaching and Applied Linguistics. Jack C. 
Richards and Richard Schmid 

3. Oxford, R.L., 1990: Language Learning Strategies: What Every Teacher Should 
Know. Boston: Heinle & Heinle 
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&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&!

!
,-%!"#$"%&'!./!0-1+!2.*3(#4!1+!0.!53#6!7.*3!#00%(01.(!0.!7.*3!4%#3(1()!

.*08.$%+!0-#0!7.*!+%0!9%/.3%!7.*3!+:%#;1()<!=4+.>!10!6144!(')"!7.*!0.!#++%++!7.*3!
3%+*40+<!?%!-.:%!0-#0!%@%(0*#447!97!$%#(+!./!+%001()!0-%!5%+13%5!.*08.$%+!7.*!
6144!+*88%%5!1(!+*88%++/*4!1(0%3#801.(!#(5!4#()*#)%!4%#3(1()!1(!)%(%3#4<!

!
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,-%! 2.*3(#4! 1+! 0-%!:#30!./! 0-%!3%+%#38-! 0-#0! AB$!8.(5*801()!#+!:#30!./! 0-%!

C-D! 1(! E5*8#01.(#4! F%+%#38-! G%0-.5.4.)7! H=::41%5! '1()*1+018+I! 0-#0! A! #$!
8*33%(047!*(5%30#;1()!#0!J71@!"#01.(#4!'1()*1+018!K(1@%3+107<!

!

!
!

C4%#+%!9%!#++*3%5!0-#0!7.*3!(.0%+!6144!9%!*+%5!/.3!3%+%#38-!:*3:.+%+!.(47!
#(5!6144!3%$#1(!8.$:4%0%47!*%+,-.'+/-0)L!(%10-%3!7.*!(.3!7.*3!)3.*:!6144!9%!
1(51@15*#447!15%(01/1%5!1(!0-%!+*3@%7B+!/1(51()+<!

!
M.*!6144!(%%5!#::3.N1$#0%47!12!3-+#/'&!:%3!5#7!0.!8.$:4%0%!.*08.$%+!

0-#0!7.*!-#@%!:4#((%5!/.3!0-%!6%%;<!,-1(;!#9.*0!7.*3!+:.;%(!1(0%3#801.(!#(5!
5%815%!7.*3!$#1(!).#4!/.3!10<!?310%!5.6(!0-%!15%#+!./!0-%!5#7!5*31()!0-%!6%%;!.3!
06.!0-#0!-%4:!7.*!0.!)#1(!8%30#1(!+:%#;1()!+;144+<!

!
A/!7.*!-#@%!#(7!O*%+01.(+>!:4%#+%!/%%4!/3%%!0.!8.(0#80!$%P!
M*417#!Q*57$#!R!%$#14P!2*41%)*57$#S)$#14<8.$!

!
"#!$%&'(!)*!+,-(!.)/0'&1!#)/!2&'!3%4%1)5!#)/0!)6'!5%0()'&1!50)70&$$%!)*!(+/3#-'7!8'71-(,!

3/0-'7!+,%!6%%9!)0!)':%!&!*)0+'-7,+;!
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D#0%&&&&&&&&&&&&&&&&&&&&&!

!
Outcomes that you 

desire 
Note positive  

wording of the week 
Teacher’s 

commentary 
Speaking ski l ls  I  want  
to  expand 

 

  
  

  

  
  

Possible  benefi ts  

 

  
 

  

  

 
 

 
 

The realization  
of  achieved aim 

 

  

  

  

  

Object ives !

 

  

  

  

  

  

Potential  obstruct ions 
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Outcomes that you 

desire 
Note positive  

wording of the week 
Teacher’s 

commentary 
Ways to  remove the 
obstruct ions  

 

1)   

2)  

3)  

  

  
The material  (books,  
manuals,  Internet  
sources)  that  I ’ve  used 
this  week 

 

  

  

  

  

  

  
New phrases,  c l ichés  
that  I ’ve  learnt  

 

  

  

  

  
 

  

My new strategies  that  
helped me this  week 

 

  

  

  

  

  

The goal  achieved 
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Outcomes that you 

desire 
Note positive  

wording of the week 
Teacher’s 

commentary 
Now analyse  your 
fai lure.  What did you 
manage to  do? What 
did you fai l?   

 

  
  

  

  

  

  
What should I  do to  
prevent  mistakes   
the  next  t ime/ how to 
omit  them  

 

  

  

  
  

  

  

  
Write  the  motto  of  the  
day 

 

  

  
  

  

  

  

!
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#GH@BGI 9 

+DHC>CB;O@ ET<@E 

HAM ZG<OKE@==M E O@PQKB=DR KS>B;ADE 

=@ES@AL=G-CB<@B;UDS=GV IGOT;B;=B=GCBD 

E T<GW;CD =@ES@==M HD@AGUDS=GUG OGEA;==M 

 

!"#$%& '$ '$()**+ "#,-.,*'&/ *$ "#01,2)$34'&/ 5'$'4. 

Activity 1: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 
?@?A?T, 8=JD58J>67M=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: 5H8=M 5DN=6K6ID E5?V 576E=8 EIA6IGL8V =6 ?E=?58 
N6@A?@?=?56=DC I6 =6J6ID @AD:76JD. 
Look through the table «Learning Strategies» and add your own (the ones that you 

use every day), use the suggested strategies as an example, then compare them with 

your partner. Remember, you have 15 min. 

LEARNING STRATEGIES 

DIRECT INDIRECT 

! Memory strategies  
 
 
 

 
! Cognitive strategies  

 
 
 

 
! Compensation strategies  

 
 
 

 

! Metacognitive strategies  
 
 
 

 
! Affective strategies  

 
 
 

 
! Social strategies  
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Activity 2: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 
?@?A?T, 8=JD58J>67M=6, ?J=?H?5=6, 6>JDI?A=6 =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: 5H8=M LA>@>56==B 576E=DC EIA6IGL8< 58J@?58J=? J? 
K6EI?I=?EI8 VC 5D:?ADEI6==B N ?@DE?H 5D:?ADEI6==B 5:6N6=DC EIA6IGL8<. 

Revise your strategies from Activity 1 and think which of these six groups of 

strategies you use most often and least often. Indicate any strategy groups you never 

used and discuss whether the usage of such strategies might help you.  

 

Most often Least often Never 

 
 
 

 
 
 

 

 
 
 

 
 
 

 

 
 
 

 
 
 

 

 

Describe how you used language learning strategies and give examples. Discuss how 

you used learning strategies in at least one other subject area and provide the 

examples. Remember, you have 10 min. 

Activity 3: 

$@A656: AG;G@ID5=6, =G:?H>=8:6ID5=6, =G:GA?56=6, N ?@?A?T, 
8=JD58J>67M=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: 5H8=M A?N@8N=656ID EIA6IGL8V, B:8 @A?@?=>TIMEB > 
:76ED98:6;8V > @AD:76J6C. 
You are given the examples of learning strategies that are used by students. Divide 

them into the following groups: memory4! cognitive4! compensation4! metacognitive4!

affective4!social. Remember, you have 15 min. 

 

Samples of strategies: 

" I encourage myself to speak English 

even when I am afraid of making a 

" I notice my English mistakes and use 

that information to help me do better. 

______ 
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mistake. ____A___ 

" I connect the sound of a new English 

word and an image or a picture of the 

word to help me memorize the word. 

______ 

" I notice if I am tense or nervous when 

I am studying or using English. ______ 

" If I do not understand something in 

English, I ask the other person to slow 

down or say it again. ______ 

" I try to find patterns in English. 

______ 

" If I can’t think of an English word, I 

use a word or phrase that means the 

same thing. ___ 

" I ask English speakers to correct me 

when I talk. ______ 

" When I can’t think of a word during a 

conversation in English, I use gestures. 

______ 

" I practise English with other students. 

______ 

" To understand unfamiliar English 

words, I make guesses.  

" I use flashcards to remember new 

English words. ______ 

" I try to find out how to be a better 

learner of English. _____ 

" I think about my progress in learning 

English. ______ 

" I first listen to the whole information 

in English and then try to grasp its idea. 

______ 

" I try to relax whenever I feel afraid of 

using English. ______ 

" I find the meaning of an English word 

by dividing it into parts that I 

understand. ______ 

" I memorize new English words or 

phrases by remembering their location 

on the page, on the board, or on the 

street sign. ______ 
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Each group has 3 samples. 
KEY: 
Memory: 1. I connect the sound of a new 
English word and an image or picture of 
the word to help me remember the word. 
2. I use flashcards to remember new 
English words.  
3. I memorize new English words or 
phrases by remembering their location on 
the page, on the board, or on the street 
sign. 
Cognitive: 1. I first skim an English 
passage (read over the passage quickly) 
then go back to it and read it carefully. 
2. I try to find patterns in English.  
3. I find the meaning of an English 
word by dividing it into parts that I 
understand. 
Compensation: 1.To understand 
unfamiliar English words, I make 
guesses.  
2. When I can’t think of a word during 
a conversation in English, I use gestures. 
 3. If I can’t think of an English word, I 
use a word or phrase that means the same 
thing. 

Metacognitive: 1. I notice my English 
mistakes and use that information to 
help me do better.  
2. I try to find out how to be a better 
learner of English.  
3. I think about my progress in learning 
English. 
Affective: 1. I try to relax whenever I 
feel afraid of using English.  
2. I encourage myself to speak 
English even when I am afraid of 
making a mistake.  
3. I notice if I am tense or nervous 
when I am studying or using English. 
Social: 1. If I do not understand 
something in English, I ask the other 
person to slow down or say it again. 
2. I ask English speakers to correct me 
when I talk.  
3. I practice English with other 
students. 
 

Activity 4: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, 

QGN ?@?AD, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: 5H8=M 6=678N>56ID 576E=8 EIA6IGL8V I6 VC A?7M > 5D5KG=8 )4. 

Recollect when you started learning English or other foreign language. Which 

of the learning strategies – direct (memory, cognitive, compensational) and indirect 

(metacognitive, affective, social) have you used the most? Discuss partner the 

strategies you’ve never used with your. Did you know about them and didn’t want to 

use? Or you haven’t heard about them at all. Would have it helped if you had used 

these strategies? 

Explain your partner how you used language learning strategies, providing the 

examples. Describe how you used these strategies in other subjects and give 

examples. Remember, you have 10 min. 
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!"#$%& -3+ 05'$60.3,''+ 57 2*#$*,87+.& #75'080 %&-).!

9#)"$ : 

O8JLA>@6 1.1. $@A65D =6 GJ=@PGOA;==M 8N -%"#%+0)1$& 

2#3#$’1%/454#((1: 

1.1.1. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD EI5?AG==B HG=I67M=DC N5’BN:85: 

! How do you classify language material?  

Key: We classify or reclassify into meaningful units. 

! In order to make the material easier to remember by reducing the number of 

discrete elements we group the material. What are these groups based on?  

Key: They are based on type of a word, topic, practical function, linguistic function, 

similarity, opposition or dissimilarity, the way one feels about something. 

! Can we you use the acronyms to remember these groups? What other 

methods do we use?  

Key: Yes 

Key: We can label the groups, use different colour to represent different groups. 

! Why do we relate new language information to concepts already in memory 

or relate one piece of information to another?  

Key: We relate new language information to concepts already in memory in order to 

create associations in memory. 

! Can these associations be only simple or complex?  

Key: They can be simple or complex, mundane or strange, but they must ne 

meaningful to the learner. 

! Give the examples of associations between two things.  

Key: Bread and Butter.  

Give the examples of associations in the form of a multipart «development».  

Key: School-book-paper-tree-country-earth. 

! Can these associations be a part of a network?  

Key: Yes, they can be a part of a semantic map. 
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! How do you understand the strategy of placing new words into a context? 

Key: Placing a word phrase in a meaningful sentence, conversation or story in order 

to remember it. 

! What is the difference between associating strategy and guessing 

intelligently strategy?  

Key: Associating strategy – the new information is licked with a context. Guessing 

intelligently strategy – involves using all possible clues, including the context, to 

guess the meaning. 

1.1.2. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD N6EI?E>56==B A8N=DC 

E@?E?Q85 58N>678N6;8V: 

! How do you understand the strategy of using imagery?  

Key: It’s relating new language information to concepts in memory by means of 

meaningful visual imagery. 

! What can you use as an image?  

Key: It can be a picture of an object, a set of locations for remembering a sequence 

of words or expressions, or a mental representation of the letters of a word. 

! When do we use the strategy of using imagery?  

Key: It can be used to remember abstract words by associating such words with a 

visual symbol or a picture of a concrete object. 

! In your own words explain the strategy of semantic mapping.  

Key: Making an arrangement of words into a picture, which has a key concept at the 

center or at the top, and related words and concepts linked with the key concept by 

means of lines or arrows.  

! What does the strategy of semantic mapping involve?  

Key: It involves meaningful imagery, grouping, and associations, it visually shows 

how certain groups of words relate to each other. 

! How do you understand the strategy of using keywords?  

Key: Remembering a new word by using auditory and visual links. 

! When do we use the strategy of using keywords?  
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Key: We use it to remember something abstract, such as a name, associate it with a 

picture of something concrete that sounds like the new word. 

! How would you remember the word «Minnesota»?  

Key: Minnesota can be remembered by the image of a mini soda. 

! Explain the strategy representing sounds in memory.  

Key: Remembering new language information according to its sound. 

! Link a Ukrainian word with an English one that sounds like the target 

language word.  

Key: 6"#% – brat [bræt] annoying person. 

! Name other techniques that we use for the strategy representing sounds in 

memory.  

Key: We use phonetic spelling and / or accent marks or use rhymes to remember a 

word. 

1.1.3. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD 6:I>678N6;8V N6E5?P=?L? 

H6IGA867>: 

! The strategy of structured reviewing sometimes is called «spiraling». Why?  

Key: Because the learner keeps spiralling back to what has already been learned at 

the same time that he / she is learning new information. 

! How do you understand the strategy of structured reviewing?  

Key: Reviewing in carefully spaced intervals: to review 10 min after the initial 

learning, 20 min later, then 1 or 2 later, 2 days later and so on. 

1.1.4. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD 5D:?ADEI6==B 98NDK=DC 

AG6:;8< I6 58JK>II85: 

! Can you explain the strategy of using physical response or sensation? Key: 

Physically acting out a new expression (e.g. going to the door), or meaningfully 

relating a new expression to a physical feeling or sensation (e.g. warmth). 

! What does the strategy of using mechanical techniques involve?  

Key: It’s when we use creative but tangible techniques, that involve moving or 

changing something which is concrete in order to remember new target language 

information. 



299 
! Explain how the strategy of using mechanical techniques works.  

Key: We write words on the cards and move these cards from one stack to another 

when a word is learnt, and put different types of material in separate sections of a 

language learning notebook. 

 

O8JLA>@6 1.2. $@A65D =6 GJ=@PGOA;==M N ,/0()%&4(&$& -%"#%+0)1$&: 

1.2.1. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD N6EI?E>56==B 

:?H>=8:6ID5=DN EIA6IGL8< > F4: 

! How do we repeat the new information?  

Key: Listening to several times, rehearsing, imitating a native speaker. 

! How do you understand the strategy of recombining?  

Key: Combing known elements in new ways to produce a longer sequence, as in 

linking one phrase with another in a whole sentence. 

! Give the example of practicing the new language in natural, realistic 

settings.  

Key: Practicing in conversation, reading a book or article, listening to a lecture, or 

writing a letter in English. 

1.2.2. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD ?IADH6==B I6 EI5?AG==B 

@?58J?H7G=M: 

! How does the strategy of getting the idea quickly work?  

Key: You skim in order to determine the main ideas or scan to find specific details of 

interest. 

! How does the strategy of getting the idea quickly help the learner?  

Key: It helps to understand rapidly what he / she hears in English. 

 

1.2.3. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD 6=678N> I6 6AL>HG=I6;8V: 

! What does the strategy of analysing and reasoning concern?  

Key: It concerns logical analysis and reasoning as applied to various language skills. 

! When do we use the strategy of analysing and reasoning?  
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Key: We can use it in order to understand the meaning of a new expression or to 

create new expression. 

! How do you understand the strategy of reasoning deductively?  

Key: When you use general rules and apply them to new target language situation. 

! Explain a top-down strategy? How do we call it? 

Key: The strategy leads from general to specific.  

Key: the strategy of reasoning deductively. 

! How do we call the strategy when we compare elements (sounds, 

vocabulary, grammar) of the English language with elements of the Ukrainian 

language to determine similarities and differences?  

Key: Analysing contrastively. 

! How do we use transferring strategy?  

Key: We apply knowledge of words, concepts or structures from one language to 

another in order to understand or produce an expression in the new language. 

1.2.4. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD EDEIGH6IDN>56==B KD 

JGH?=EIA6;8V H?5=?L? I6 H?57G==P5?L? H6IGA867>: 

! Which strategy involves raw notes or more systemic form of note-taking 

such as the shopping-list format, the T-formation, the semantic map, or the standard 

outlined form?  

Key: Taking notes strategy. 

! What strategy would you use if you need to make a summary or abstract of a 

longer passage?  

Key: Summarizing. 

! What techniques do we use in order to focus on important information in a 

passage? How do we call these techniques? 

Key: Highlighting.  

Key: The emphasis techniques. 

O8JLA>@6 1.3. $@A65D =6 GJ=@PGOA;==M N ,/$3+(-#%/"(&$& -%"#%+0)1$&: 

1.3.1. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD N6EI?E>56==B H?5=?V 

NJ?L6J:D: 
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! Which strategy would you use in order to guess the meaning of what is 

heard in English?  

Key: using linguistic clues. 

! Where may the language-based clues come from?  

Key: It may come from the aspects of English that the learner already knows, from 

learner’s own language, or from other languages. 

! Which clues do we use in the absence of complete knowledge of vocabulary, 

grammar, or other language elements?  

Key: Nonlanguage clues. 

! Name the sources of nonlanguage clues.  

Key: Knowledge of context, situation, text, structure, personal relationships, topic or 

«general world knowledge». 

1.3.2. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD J?76==B IA>J=?\85, \? 

5D=D:6TIM > @A?;GE8 E@87:>56==B: 

! When do we use the strategy of switching to the mother tongue?  

Key: To overcome the limitations in speaking. 

! When you hesitate not knowing what expression you should use, what 

strategy is more appropriate to use in this case?  

Key: Getting help. 

! How can mime and gestures help you in the conversation? How do we call 

such strategy?  

Key: Using mime and gestures. 

! When difficulties are anticipated what strategy you may you? What does this 

strategy involve? 

Key: Avoiding communication partially or totally.  

Key: It involves avoiding communication in general, avoiding central topic, avoiding 

specific expressions, or abandoning communication in mid-utterance. 

! How do we call the strategy when we omit some items of information, 

making ideas simpler or less precise?  

Key: Adjusting or approximating the message. 
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! What strategy do we use when instead of «a pencil» we say «a pen»?  

Key: Adjusting or approximating the message. 

! Give the example of the strategy of coining words.  

Key: Paper holder for notebook. 

! When can we make up new words to communicate the desired idea? 

! Which strategy is used in this example? «What do you use to wash dishes 

with?» as a description for dishrag.  

Key: Strategy of circumlocution or synonym. 

 

9#)"$ :: 

O8JLA>@6 2.1. $@A65D =6 GJ=@PGOA;==M N $+%#,/0()%&4(&$& EIA6IGL8BHD: 

2.1.1  5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD 5D:?ADEI6==B 9?=?5DC 

N=6=M: 

! What are three steps to be followed during overviewing?  

Key: Learning why the activity is being done, build the needed vocabulary and 

making associations. 

! How do you understand the strategy of overviewing and linking with already 

known material?  

Key: Overviewing comprehensively a key concept, principle, or set of material in an 

upcoming language activity and associating it with what is already known. 

! Deciding in advance to pay attention in general to a language learning task 

and ignore distractors. How do we call this strategy?  

Key: Paying attention. 

! Give the explanation of delaying speech production to focus on listening 

strategy.  

Key: Deciding in advance to delay speech production in the new language either 

totally or partially until listening comprehension skills are better developed. 

2.1.2  5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD @76=>56==B < ?AL6=8N6;8V 

576E=?L? @A?;GE> =65K6==B: 
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! What is the main point of finding out about language learning strategy? 

Key: Making efforts to find out how language learning works. 

! How do we call the strategy that means using the conditions related to 

optimal learning?  

Key: Organizing. 

! What do you understand under the term «physical environment»?  

Key: E.g. space, temperature, sound, lighting. 

! Does the strategy of setting goals and objectives include long-term goals? 

Key: Yes. 

! Give the example of short-term objectives.  

Key: To finish reading the book by Friday. 

! «Listening to the radio to get the latest news on the stock exchange; 

reading a play for enjoyment; speaking to the cashier to buy a train ticket». You are 

given the examples of strategies. How do we call them?  

Key: Identifying the purpose of a language task. 

! The strategy of planning for a language task includes four steps. Can you 

recall them?  

Key: Describing the task or situation, determining its requirements, checking one’s 

own linguistic resources, and determining additional language elements or functions 

necessary for the task or situation. 

2.1.3  5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD ?;8=T56==B @A?;GE> 8 

AGN>7MI6I> =65K6==B: 

! Name the strategies that can help you to organize and plan your process of 

studying so as to get the most out of the language learning.  

Key: Finding out about language learning, organizing the schedule and the 

environment, setting goals and objectives, considering task purposes, planning for 

tasks, and seeking chances to practice the language. 

! How do we call the strategy that involves noticing and learning from errors 

and other concerns evaluating overall progress?  

Key: Evaluating your learning. 
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! Give your own explanation to self-monitoring strategy.  

Key: Identifying errors in understanding or producing the new language. 

! To track the source of important errors and to try to eliminate such errors. 

What strategy is characterized?  

Key: Self-monitoring strategy. 

! Give the example of self-evaluating strategy.  

Key: To check whether you read faster and understand more that 1 month or 6 

months ago. 

! If you want to assess the percentage of the conversation that you’ve recently 

had what strategy you will choose? 

O8JLA>@6 2.2. $@A65D =6 GJ=@PGOA;==M N #7+,%&4(&$& EIA6IGL8BHD: 

2.2.1. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD @?J?76==B / N=DRG==B 

IAD5?R=?EI8: 

! What are the techniques of lowering your anxiety strategy?  

Key: Relaxation, deep breathing, meditation. 

! What ways of relaxing do you use in order to be calm and imperturbable?  

! Watching a funny movie, reading a humorous book, listening to jokes. What 

type of strategy are these examples?  

Key: Using laughter. 

2.2.2. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD EI5?AG==B @?NDID5=DC 

>EI6=?5?:: 

! What strategy do you use in order to be and to feel more confident in 

learning the new language?  

Key: Making positive statements. 

! Explain the strategy of taking the risk wisely.  

Key: To push yourself to take a risk in language learning situation, even though these 

is a chance of making a mistake or looking foolish. 

! Who does the strategy of giving yourself a valuable reward work? 

2.2.3. 5@A65D J7B =65K6==B J?76ID =GL6ID5=8 GH?;8V: 

! What strategy would you choose I order to read signs that your flesh sends you?  
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Key: Listening to your body. 

! When do we use checklist in order to take our emotional temperature down? 

Name the strategy.  

Key: Using checklist to discover feelings, attitudes and motivations. 

! How can the strategy of writing a language learning diary help you?  

Key: To keep track of events and feeling in the process of learning a new language. 

! What strategy would you choose to discover and express feelings about 

language learning?  

Key: Taking your emotional temperature – discussing your feeling with someone else. 
 

O8JLA>@6 2.3. $@A65D =6 GJ=@PGOA;==M 8N -/8)#9:(&$& EIA6IGL8BHD: 

2.3.1. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD EI657G==B N6@DI6=M 

@6AI=GA> @? E@87:>56==T: 

! What strategy would you choose for verification or clarification?  

Key: Asking questions. 

! Your friend asking and repeating to get the feedback on whether his / her 

statement is correct. What strategy does he / she use?  

Key: Asking questions – asking for clarification. 

! Do you consider asking someone for correction in a conversation as the 

strategy?  

Key: Yes. 

2.3.2. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD E@85@A6;T56==B N 8=SDHD: 

! What strategy would you use to collaborate with other language learners to 

improve your language skills?  

Key: Cooperating with others. 

! What does the strategy of cooperating with peers involve?  

Key: It involves controlling impulses toward competitiveness and rivalry. 

! Name the strategy that involves particular attention to the conversational 

roles each person takes.  

Key: Cooperating with proficient users. 
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2.3.3. 5@A65D J7B ?N=6<?H7G==B 8N EIA6IGL8BHD GH@6I8V: 

! What language strategy do you use when you try to feel with another person 

through learning about the culture?  

Key: Empathizing with others. 

! How do we call the strategy when we observe the behaviours of others as a 

possible expression of their thoughts and feeling?  

Key: Empathizing with others. 

! How do you feel the empathy for others influences your ability to learn 

languages? 

! How can the strategy of empathizing with others help you to increase your 

empathy? 

 

;+%/< !"53& = > 7/"$54#((1 4$)(: 2#-%/-/454#%& 3"1$) -%"#%+0)? 4 @;. 

+DHU<KT@ 1.1. $@A656 1.1.1. 

Activity 1: 

$@A656: AG;G@ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 5GAQ67M?T 

?@?A?T =6 @6H’BI:>-8=EIA>:;8T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 

K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M EI5?AT56ID HG=I67M=8 N5’BN:D 5D:?ADEI?5>TKD 

EIA6IGL8V N6@6H’BI?5>56==B, B:8 J?@?H?R>IM :?ADEI>56KG58 H?5D LA>@>56ID, 

6E?;8T56ID H6IGA867, =6 ?E=?58 B:?L? 8 Q>J>56IDHGIMEB A?NH?56. 

 You are at the workshop on «Teaching English to young learners», which is led 

by different teacher trainees and experienced teachers from Britain. You want to talk 

to English students in order to make new friends with native speakers during the break. 

Two of young girls are talking about Phanton of the Opera by Andrew Lloyd Webber. 

 Use memory strategies to start the conversation. If you have seen or have read 

this opera or heard something about the playwriter dwell on it. If not show the 

interest towards the opera or tell them about other play which have amazed you the 

most using different expresions like,  «So, what was it like?», «Go ahead. Tell me 

what you think», «I see what you mean», «Sorry, don’t take this the wrong way, but 
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unfortunately I haven’t heard anything about it», «Would you agree with me?», 

«Oh, really that’s amazing!» 

 Also, you are given the socializing tips below that will help you to start the 
conversation and dwell on the topic you are interested in. 
Student A is a young English learner; Student B – an English student. Remember, you 
have 15 min. 

+DHU<KT@ 1.1. $@A656 1.1.1. 

Activity 2: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 

5GAQ67M?T ?@?A?T =6 @6H’BI:>-@?A6J>, @6A=6, ?J=?H?5=6, 6>JDI?A=6, 

=?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M EI5?AT56ID HG=I67M=8 N5’BN:D 5D:?ADEI?5>TKD 

EIA6IGL8V N6@6H’BI?5>56==B, B:8 J?@?H?R>IM :?ADEI>56KG58 H?5D LA>@>56ID, 

6E?;8T56ID H6IGA867, =6 ?E=?58 B:?L? 8 58JQ>56IDHGIMEB A?NH?56. 

 You are showing the city where you are studying to your peers from London. 

They are interested mostly in theatre and cinema as they are taking drama courses at 

their college. You are given the words in the box and your task is to create a mental 

link between them and joint it in one topic then dwell on it. 

thriller, play, row, performances, good fun, the house, stalls, drama, 
production, the first night, comedy, tragedy, musical, subtitles, aisle, opera, 
show, moving, actor/actress, cast, powerful, curtain, director, 
playwright/dramatist, stage, bow, circle, audience, to book, clap, in advance, 
screen, dubbed, stars, critics, violent, gripping, slow. 

 Act a dialogue out with your partner changing the roles. Remember, you have 

15 min. 

Don’t forget! SOCIALISING! 
" If you see someone wearing a sports cap or jersey, ask how his team is 

doing.  
" If you see a well-dressed person, pick out a piece of the outfit that gets 

your attention and ask about it. 
" A bus stop, train station, grocery store, elevator lobby, or post office is 

a great place to make small talk. 
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+DHU<KT@ 1.1. $@A656 1.1.2. 

Activity 3: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 

5GAQ67M?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 

IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID EIA6IGL8V N6@6H’BI?5>56==B, B:8 

@GAGJQ6K6TIM A8N=8 E@?E?QD 58N>678N6;8V, 5D:?ADEI6==B :7TK?5DC E785,  

EGH6=IDK=8 :6AID / ECGHD. 

 You are studying at English summer school in Oxford. And you’ve decided to 

watch the play in Oxford playhouse where you meet your friend from the summer 

school. Write the words which are substituted with the picutres in the given model 

dialogue. Then role-play the dialogues with your partner using the words that you’ve 

written. Remember, you have 15 min. 

! Good evening, John! 

! Good evening, Peter! This is a small world! How are you? 

! Fine, thanks. How are you? 

! Life is going its usual way. Thanks. 

! Pleased to hear it. By the way, where do you have your 1)  ? 

! In the 2)  , 3)  C. And where is your seat? 

! In the 4)  , close to the 5) . 
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! So you don’t have to use 6) . 

! That's right. What do you think of the play? 

! The action develops slowly. Some scenes are dull. The cast is not very good. Do you 

share my opinion? 

! Frankly speaking, I do. That happens to be a rather poor performance. Have you 

been to this theatre before? 

! Haven’t had a chance, you know. I am here for the first time. I like the 

7)  . It is beautifully decorated. The chairs are comfortable and 

the 8)  is wonderful. To put it in a nutshell, everything is 

magnificent, but for the performance. 

! I advise you to see «Othello» by Shakespeare at this theatre. You will be impressed. 

! I have been dreaming of seeing any play by Shakespeare in this country. I’ll do my 

best to see «Othello». 

! You know that the best actors are engaged in the performance. The leading man is 

the famous actor. His name is well-known both in this country and abroad. 

! I hope I’ll enjoy the performance. The lights are going down. 
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! We must hurry to the hall. In a minute the 9)  will be up. 

! See you later. 

Key: 

! Good evening, John! 

! Good evening, Peter! This is a small 

world! How are you? 

! Fine, thanks. How are you? 

! Life is going its usual way. Thanks. 

! Pleased to hear it. By the way, where do 

you have your seat? 

! In the stalls, row C. And where is your 

seat? 

! In the box, close to the stage. 

! So you don’t have to use opera glasses. 

! That's right. What do you think of the 

play? 

! The action develops slowly. Some 

scenes are dull. The cast is not very 

good. Do you share my opinion? 

! Frankly speaking, I do. That happens to 

be a rather poor performance. Have 

you been to this theatre before? 

! Haven’t had a chance, you know. I am 

here for the first time. I like the hall. 

It is beautifully decorated. The 

chairs are comfortable and the 

chandelier is wonderful. To put it in 

a nutshell, everything is 

magnificent, but for the 

performance. 

! I advise you to see «Othello» by 

Shakespeare at this theatre. You will 

be impressed. 

! I have been dreaming of seeing any 

play by Shakespeare in this country. 

I’ll do my best to see «Othello». 

! You know that the best actors are 

engaged in the performance. The 

leading man is the famous actor. His 

name is well-known both in this 

country and abroad. 

! I hope I’ll enjoy the performance. The 

lights are going down. 

! We must hurry to the hall. In a minute 

the curtain will be up.!

! See you later.!!
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 +DHU<KT@ 1.1. $@A656 1.1.2.  

Activity 4: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 

5GAQ67M?T ?@?A?T =6 @6H’BI:>-EIDH>7, @6A=6, ?J=?H?5=6, 6>JDI?A=6, 

=?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID EIA6IGL8V N6@6H’BI?5>56==B, B:8 

@GAGJQ6K6TIM A8N=8 E@?E?QD 58N>678N6;8V, 5D:?ADEI6==B :7TK?5DC E785, 

EGH6=IDK=8 :6AID / ECGHD. 

 You are at the airport heading from London to Ukraine. You’ve met another 

passenger before boarding. Tell him / her about your impressions of Great Britain 

especially about theatres (you heve been impressed by the fact that many people visit 

that place); about one of the plays that you’ve seen; compare the British theatre with 

the Ukrainian one. 

 You are given the scheme of Interactional Response that will help you to act the 

dialogue out with your partner (Student A – passenger from London; Student B 

passenger from Ukraine), change the roles. Remember, you have 20 min. 
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+DHU<KT@ 1.1. $@A656 1.1.3.  

Activity 5: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, :?H>=8:6ID5=6, =G:GA?56=6, QGN ?@?AD, 
@6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M 5DN=6K6ID I6 5D:?ADEI?5>56ID EIA6IGL8V 
N6@6H’BI?5>56==B. 
 To improve your language learning strategies you’re to determine which of 

them you would use in certain situations that are presented below. 

 Then, act out each situation in groups. Remember, you have 15 min. 

Situation A: 

 You are a Ukrainian student in International Student Exchange Program in the 

UK (the United Kingdom). Your task is to prepare an oral presentation about your 

university, city and country in general. Your presentation must be about 45 minutes 

long explaining Ukrainian education system in some details. Your oral English skills 

are not too good, but you know the academic vocabulary for your field and have a 

pretty fair grasp of the English grammar. You are feeling nervous. Think of the 

communicative strategies that you would use in this particular situation. 

Situation B: 

 You are a 19-year-old student of the Department of Economics in Ukraine. 

You’ve come to the USA, Chicago to work and travel for 3 or 4 months. You had a 

good job offer and were prepared to work as a waiter (waitress) but unfortunately 

when you came to the restaurant they explained that they don’t have a job for you 

because of the crisis. You are almost illiterate in English as you had a short course in 

English at your university but all of your English skills are still very poor. You need 

Don’t forget!  
" Don’t worry if you don’t use the same words as were mentioned 

in the conversation. Try and say something that has a similar 
meaning. The more you try, the easier it’ll get. 

" Remember to smile, and keep good eye contact when you are 
speaking to someone. It shows you are interested. 
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to improve your English so that you can find a new job, go shopping, travel and 

become adjusted to a totally new cultural situation. Think of the communicative 

strategies that you would use in this particular situation. 

Situation C: 

 You’re a student learning English for him / herself. You have a good sense of 

humour and enjoy jokes and cartoons. You decide to buy an English cartoon book. It 

is about 100 pages long, full of cartoons. You want to read the book, understand the 

cartoons, and explain some of the cartoons to your friends who don’t know English at 

all. Think of the communicative strategies that you would use in this particular 

situation. 

Situation D: 

You are a tourist in Bath (city in the UK). You have never been here before, and 

your studying of English has been limited to skimming the phrasebook. You 

managed to find your hotel with the help of a taxi driver. You went out for a walk on 

your own and got lost. Nobody around you seems to speak Ukrainian. Your task is to 

find out where you are and get back to your hotel before it gets dark. You have 2 

hours for this. You are getting a little worried! Think of the communicative strategies 

that you would use in this particular situation. 

+DHU<KT@ 1.1. $@A656 1.1.3.  

Activity 6: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6,  

N 5GAQ67M?T ?@?A?T =6 @6H’BI:>-EIDH>7, @6A=6, ?J=?H?5=6, 6>JDI?A=6, 

=?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M 5D:?ADEI?5>56ID EIA6IGL8V N6@6H’BI?5>56==B J7B 

@GAGL7BJ> N6E5?P=?L? H?5=?L? H6IGA867>. 

 You’ve decided to take acting courses during your summer holidays in London.  

Work with your partner. Make up and practice a dialogue based on the following 
flow chart. Think of the strategies, which you’ve learnt, that can help you. When you 
finish, switch the roles. Make up and practice a similar dialogue without using the 
flow chart. Remember, you have 10 min. 
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A1: Show the interest by asking whom  
your partner is playing today in the class. 

B1: Say that you are playing Esmeralda. 
Ask your partner what’s going on with him or her.  

A2: Say that you are killing time  
before a meeting. 

B2: Use a rejoinder, then ask if your partner is  
feeling okay (as you notice that she or he looks tired). 

A3: Respond by saying you’re fine.  
You’re tired because you stayed  
up late finishing learning your role. 

B3: Thank your partner for  
his or her hard work (as you play together). 

A4: Respond to appreciation, then  
tell your partner that she or he can  
leave early today. 

B4: Make sure this is fine. 
A5: Say there’s no rush with acting out it today. 

B5: Express appreciation. 
A6: Use a conversation closer (you have to go to the meeting). 

B6: Respond to the conversation.  
Tell your partner to have a great weekend. 

A7: Respond to your partner. 
+DHU<KT@ 1.1. $@A656 1.1.3. 

Activity 7: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 
5GAQ67M=?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 
IAG=>567M=6. 

Don’t forget!  
" Rejoinder is asking a supplementary question or simply looking interested 

while remaining mainly silent. 
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4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID EIA6IGL8V N6@6H’BI?5>56==B J7B 

@GAGL7BJ> N6E5?P=?L? H6IGA867>. 
You are preparing for the job interview. In order to succeed in it you are to read 

the article «How to Succeed in a Job Interview» from The Wall Street Journal. 

Discuss it with your partner after studying it carefully. Ask him / her whether he / she 

agrees with these statements and which other tips he / she would suggest and why? 

What would you do or say in order to be employed? 

Remember, you have 20 min. 
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+DHU<KT@ 1.1. $@A656 1.1.4. 

Activity 8: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 

5GAQ67M?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8 

IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M 5D:?ADEI?5>56ID 98NDK=8 AG6:;8V I6 58JK>IIB I6 5H8ID 

AG6L>56ID =6 58JK>IIB I6 98NDK=8 AG6:;8V @6AI=GA6 @? E@87:>56==T, 

N6EI?E?5>TKD EIA6IGL8V N6@6H’BI?5>56==B. 

The variety of paralinguistic behaviours was presented in a famous novel 

«Theatre» by W. Somerset Maugham and its film version «Being Julia». Your task is 

to discuss with your partner the differences between non-verbal behaviour of the 

main characters from the novel and the  actors / actresses from the movie. Before 

the discussion, in pairs try to think of a SIMPLE gesture for each of these words. 

Make up the dialogue based on paralinguistic differences and share your own 

impressions using the gestures. Remember, you have 15 min. 
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+DHU<KT@ 1.1. $@A656 1.1.4. 

Activity 9: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 

?@?A?T =6 58JG?N6@DE, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 

IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M 5D:?ADEI?5>56ID 98NDK=8 AG6:;8V I6 58JK>IIB I6 5H8ID 

AG6L>56ID =6 58JK>IIB I6 98NDK=8 AG6:;8V @6AI=GA6 @? E@87:>56==T, N67>K>TKD 

EIA6IGL8V N6@6H’BI?5>56==B. 

)>J8?J?J6I?: musical «Legally Blonde». 

After watching the musical «Legally Blonde», with your partner, discuss and 

compare it with the film, paying attention to Elle’s non-verbal behaviour. How did 

she act before entering the university, during her studying at university and while 

defending Brooke Taylor at the court? Pay attention to how she was dressed, the 

colours she preferred. Remember, you have 10 min. 

In order to be understood we need to learn how to use our gestures correctly. 

Now, with your partner, practise saying these sentences emphasizing the words in italics 

with gestures. Change the roles and check whether your partner understands you. 

• Elle: just don't think that Brooke could've done this. Exercise gives you 

endorphins. Endorphins make you happy. Happy people just don't shoot their 

husbands, they just don't.  

Apprehension!

Boredom 
! Anticipation 

!

Negative 
evaluation 

!

Confidence, 
superiority 

!

Sincerity, openness, 
innocence!

Lack of self-
confidence; insecurity!

Trying to make a 
decision!
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• We are going to win! 

• Elle: Did you see him? He's probably still scratching his head.  

• No two things are equal. 

• Elle: I feel comfortable using legal jargon in everyday life. 

• We expect bad profits this year. 

• Brooke: Well thank God one of you has a brain. 
• Prices keep going up! 

• Vivian: You know, I'm still shocked that you didn't give Callahan the alibi. 
• We can do it together! 

• Professor Callahan: Do you think she woke up one morning and said: I think I'll 

go to law school today. 

Now make up your own dialogue emphasizing the main words in the the 

sentences with gestures. 

 

+DHU<KT@ 1.2. $@A656 1.2.1. 

Activity 10: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 

5GAQ67M?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID :?L=8ID5=8 EIA6IGL8V J7B N6E5?P==B 

7G:EDK=?L? H6IGA867>, 5D:?ADEI?5>TKD EI678 5DA6ND J7B 55GJG==B VC > :?=IG:EI. 

You’ve met your friend on your way back from the theatre. Express your opinion 

about the musical «Legally Blonde» that you have just seen. There are many phrases 

that indicate we are expressing opinion, the most simple of which is probably I think 

… Think of at least four more phrases. Remember, you have 15 min. 

Here are four more ways of giving your opinion: 

a. If you ask me, … 

b. In my view, … 

c. I would argue that … 

d. I would say… 

Now express your opinion using phrases a-d above to complete sentences 1-4. 

Explain your opinions. 
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1. …the most interesting part was… 

2. …the best character was… 

3. …the funniest episode was when… 

4. …the best of this musical is… 

With your partner, role-play a small conversation based on these phrases, be 

ready to answer your partner’s questions. 
 

+DHU<KT@ 1.2. $@A656 1.2.1. 

Activity 11: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6,  

N 5GAQ67M?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID :?L=8ID5=8 EIA6IGL8V @AD @8JL?I?5;8 

H?R7D5DC AG@78: J7B J867?L>, 5DA6R6TKD E5?T J>H:> > @?J6=8< EDI>6;8V. 

You are keeping on the conversation about the musical «Legally Blonde» with 

your friend who has recently read about it in the newspaper and has his / her own 

point of view, probably different than yours. 

There are a number of useful phrases you can use when you want to give your 

views on controversial topics. Create a dialogue using some of these phrases. 

Remember, you have 15 min. 

a. I believe that… 

b. As far as I’m concerned, … 

c. I’m against … 

d. I’m in favour of … 

e. I’m convinced that would work because … 

f. I’m not convinced that would work 

because … 

g. I’m sceptical of the idea that … 

h. I must admit, I think… 
 

Other student (your partner) says that: 

- it is too pink in the colour of the clothes and stage effects;  

- the plot is dull and boring; 

- the musical is  unmemorable; 

- Greenpeace wouldn’t let them play on the scene with a real dog; 

- the main character (Elle) delivers silly lines as if she meant them; 

- dogs are unnaturally obedient, probably they drugged them; 

- it is a great big empty vessel (-5A(/ ,/"#691) of a show that makes a lot of 

noise and not much else. 
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+DHU<KT@ 1.2. $@A656 1.2.2 

Activity 12: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 

5GAQ67M?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M 5D:?ADEI?5>56ID :?L=8ID5=8 EIA6IGL8V J7B A?N>H8==B 

I6 EI5?AG==B @?58J?H7G=M. 

!You are a tourist in London (England) and planning your trip with the travel agent. 

From the given information choose the trip you want but at first ask the given 

questions and make your own ones. The student who will play the role of the travel 

agent is to acquaint him / herself with the information about the day trips and 

excursions below. Act a dialogue out. Remember, you have 15 min. 

Questions: 

What time does it leave? 

Where does it leave from? 

What exactly is included? 

Are there any hidden extras? 

                                         How long does it last? 
 

Information: 
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+DHU<KT@ 1.2. $@A656 1.2.2 

Activity 13: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, :?H>=8:6ID5=6, =G:GA?56=6, N 
5GAQ67M=?T ?@?A?T, @6A=6, J5?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M 5D:?ADEI?5>56ID :?L=8ID5=8 EIA6IGL8V J7B A?N>H8==B 
I6 EI5?AG==B @?58J?H7G=M. 
 Work in pairs. Each of you will be given the passage from +,%!</&03-&'. Read 

it carefully paying attention to the words in bold that are translated into Ukrainian 

for your better comprehension. Each student will provide his / her partner with the 

information using the words or phrases that are unknown to his / her partner who 

will be a listener, and his / her task is to catch the whole meaning of the message and 

respond to it. Remember, you have 15 min. 
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- Theatres are increasingly catering (to cater for – 4"#B/454#%&, 6"#%& A/ 

54#0&) for children on the autistic (autistic – -%"#CA#<') (# #5%&2$) spectrum 

with 'relaxed performances' where they can feel more comfortable. "The aim is to 

cater for the full spectrum of autistic behaviour, from profound (profound – 

#6-/9<%(&D, 09&6/,&D) disability to anxiety (anxiety – %"&4/0#, -%")$,+ 

6#C#((1)," says Kirsty Hoyle, project manager of the relaxed performances project 

run by the Society of London Theatre and The Prince's Foundation for Children & the 

Arts. This means anything from children groaning (to groan – %")E#%&, -,"&3)%&, 

-%/(#%&) and rocking in their wheelchairs (wheelchairs – )(4#9)A(# ,/91-,#) to 

reacting to the action on stage in an endearingly (endear – 3"&$5-&%& 3/9<6&%&, 

4(5F&%& 9<6/4) pantomimic way – "Watch out!" During one show, a child 

repeatedly shouted "Mango!" 

(the Guardian) 

- Ticket prices are rising and household (household - -)$+D(&D) budgets 

(budget - 6<AC+%) are squeezed (squeezed - 4&C#%&D). If you could get a refund 

(refund - ,/$3+(-#8)1) if you hated the show, would you be inclined (to incline – 

-B&91%&-1, %1C)%&) to go more often? But what if your ticket came with a money-

back guarantee, enabling (to enable – A#4#%& $/C9&4)-%:) you to book (to book- 

2#$/4&%& 6)9+%) in the knowledge that, if you feel compelled (compelled – 65%& 

2$5F+(&$) to leave at the interval (interval - #(%"#,%), you'll be able to recoup (to 

recoup - ,/$3+(-54#%&) the ticket price? That's the offer from one Vancouver-based 

company, who will refund (to refund – 4/2$)E#%& (0"/F))) the ticket cost for 

anyone who buys a ticket for their revival (revival - 4)A"/AC+((1) of David 

Auburn's Proof and decides it's not their cup of tea (one's cup of tea – N6C?@7G==B; 

IG, \? @?J?Q6PIMEB). 

(the Guardian) 

+DHU<KT@ 1.2. $@A656 1.2.2 

Activity 14: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, :?H>=8:6ID5=6, =G:GA?56=6, N 

5GAQ67M=?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 

IAG=>567M=6. 
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4GI6: A?N5DI?: 5H8=M 5D:?ADEI?5>56ID :?L=8ID5=8 EIA6IGL8V J7B A?N>H8==B 

I6 EI5?AG==B @?58J?H7G=M. 
WHO HAS STOLEN MY NECKLACE??? 

 
Something terrible has happened! Julia’s favourite and very expensive 

necklace was stolen. Now police tries to find the thief, as poor Julia can’t play the 

lead in the performance. 

Each of you will be given roles. There will be one as a thief. You are to suspect 

everyone. Ask each of your groupmates as many questions as possible. Then discuss 

it with those people who you think are not guilty. Remember, you have 25 min. 

FIND THAT THIEF! 
Julia Lambert 

 I was at the theatre, preparing for a dress 
rehearsal (LG=GA67M=6 AG@GID;8B). So I went 
to my wardrobe to take the necklace as the 
play was about this necklace and I didn’t find 
it, that’s all I know. I’m devastated! As a 
matter of fact it could be anyone. I have a lot 
of enemies, because I’m a gifted actress. Each 
of my performances is a masterpiece. We 
were going on tour, so probably someone 
wants to ruin it. 

Michael Gosselyn 

 I always kept telling her that she should keep 
an eye on this necklace, it costs a fortune. I’ve 
bought it for our wedding anniversary and 
wrote this play, about charming Julia and this 
necklace. I presume that it could be Thomas 
Fennell as he’s an underprivileged clerk whom 
I’ve recently hired. I know that he’s deeply in 
debt. 

Tom Fennell  

 I don’t understand why Julia made a fuss over 
this stupid necklace. In my opinion, it could be 
Julia as she’s constantly afraid of being left in 
the cold (N67DSDIDEM N =?E?H) and become 
unpopular. By the way, when she heard that I 
have feelings for Avice, she just freaked out. 
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She thought I’d be her boy for ever. Oh and if 
you think it was Avice, it’s out of the question, 
she’s as innocent as a baby. 

Avice Crichton 

 I feel compassion for Julia. We all know that 
she likes to play even in real life and Julia has 
inclination (H6P ECD7M=8EIM) to do crazy things 
when she’s bored. So this is a kind of a hint I 
give you, Mr Policeman. 

Evie 

 I’m just her dresser, I don’t know anything 
about the necklace. I’ve just seen it once. To 
tell you the truth, it’s amazing. It sparkles in 
the bright light and one evening I couldn’t 
resist and tried it on but just once! I didn’t take 
it. I think, Julia could take it home, she often 
does, and forgot that she had left it there. 

Dolly de Vries  

 I suppose, it was Evie who stole the necklace. 
Just look at her. She’s cockney with red untidy 
hair and looks as if it needs washing, two of her 
front teeth are missing. I told Julia many times 
to be careful with her. Probably she took it to 
have a denture made (5EI65DID N>QD).  

Roger Gosselyn  

My mother is a talented actress and charming 
woman, but she performs the role of a mother 
badly. Her life has always been so full and so 
exciting that she has never had the time to busy 
herself much with me. She worries, of course, 
when I fall ill. She often thinks it would be nice 
when I am old enough really to share her 
interests. We all know that I have neither my 
mother's vivacity nor my father's beauty of 
feature. Julia is somewhat disappointed in me. 
So I took this necklace. I knew she would be 
devastated, sometimes it seems that she loves 
her dresses and jewellery more than she loves 
me. It’s disgusting.  

Lord Charles 

 Julia knew that I had fallen in love with her 
some time before I knew it myself. She found it 
rather comic. From her standpoint I am a 
middle-aged man, and she considers me as a 
nice old thing. I still love her with all my heart. 
I can’t even think of anyone who could do it 
but, I guess, it could be Michael. He has an air 
of a real gentleman but he knew about Julia’s 
love affairs, so that could be his revenge.  

Julia 's  Mother 

 My poor child I was at the theatre when she 
realised that the necklace had disappeared. It’ll 
be a lesson for her. She paid more attention to 
her jewellery than to her son. 
 

Aunt Carrie 

 That little pretty thing is having a hard time. 
She’s like my daughter, I remember the time 
when I gave Julia her first lessons. I taught her 

Jimmie Langton 

I always told Julia that she was a genius, she 
has the face that any actress wants. The face 
that can show every thought that passed 
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all the arts that I had learnt myself at the 
Conservatoire. I knew she would become a 
great actress, but fame also brings jealousy and 
enemies, so it could be anyone from her 
surrounding.  
 

through the mind. I paid her more than any 
other actress. I made her the star and she 
played the best roles in the theatres. I have no 
idea who could do such a thing to Julia. 
Sometimes she can be very nasty though she is 
the star. I knew about her love affair with that 
little insignificant clerk in an accountant’s 
office. He admired Julia tremendously but I 
couldn’t understand why and how she loved 
him. I guess that cheeky fellow could steal it. 

!
+DHU<KT@ 1.2. $@A656 1.2.3. 

Activity 15: 

$@A656: AG;G@ID5=6, =G:?H>=8:6ID5=6, =G:GA?56=6, N ?@?A?T =6 58JG?N6@DE, 

8=JD58J>67M=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID :?L=8ID5=8 EIA6IGL8V 6=678N>TKD I6 

?;8=TTKD H?57G==B :?H>=8:6=I85.  

)>J8?J?J6I?: «Theater Talk: A conversation with Todd Haimes». 

Listen to the conversatios of native speakers. Ask yourself which person is a 
better communicator? Although both probably have very similar grammar, 
pronunciation and vocabulary, it should be possible to decide that one is better. The 
following checklist presents some of the key characteristics of effective 
communication:  
SPEAKER’S PURPOSE 
very clear                                           fairly clear                                    unclear 
ORGANISATION OF MAIN POINT 
very clear                                           fairly clear                                    unclear 
VOLUME  
too loud                                            just right                               not loud enough 
SPEED  
too fast                                            just right                                          too slow 
EYE CONTACT  
maintains eye contact                              avoids eye contact 
FEEDBACK 
Always                                          sometimes                                            never 
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BODY LANGUAGE 
Appears nervous                        appears relaxed 
CONTENT 
Totally relevant                    sometimes irrelevant                       totally irrelevant 
 Also, note for yourself the fillers, idioms and set phrases that were used by these 
two speakers. Now, role-play your own dialogue based on model dialogue. 
Remember, you have 15 min. 

+DHU<KT@ 1.2. $@A656 1.2.3 

Activity 16: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 

5GAQ67M?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 

IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID :?L=8ID5=8 EIA6IGL8V, 6=678N>TKD 

EDI>6;8T I6 6AL>HG=I>TKD E5?T @?ND;8T, \?J? @G5=DC @DI6=M. 

Answer the questions about the travel and discuss it with your partner. What 
does he / she prefer? Discuss the advantages and disadvantages of each type of 
holiday. Use the list of clichés which will help you to express your opinion. 
Remember, you have 10 min. 

# =,)!3)!#)/!50%*%0!+)!+0&4%1!6-+,>!
6-+,!*&$-1#!!!!6-+,!*0-%'3(!!!!&1)'%!!!!!6-+,!#)/0!5&0+'%0!

# =,-2,!-(!+,%!?%(+!6&#!+)!+0&4%1>!
! 6-+,!&!+)/0@!6,%0%!%4%0#+,-'7!-(!)07&'-(%3!*)0!#)/A!
! ./(+!?))9-'7!,)+%1(!&'3!+0&'(5)0+!-'!&34&'2%A!
! 6-+,!')!*-B%3!51&'@!$&9-'7!&11!+,%!&00&'7%$%'+(!#)/0(%1*!%'!0)/+%;!

# C&+2,!%&2,!+#5%!D&E*F!6-+,!!5-2+/0%!DGEHF;!
I!&!2-+#!?0%&9! "!&!,)1-3&#!?#!+,%!(%&(-3%! J!&!(9--'7!,)1-3&#!
K!&!20/-(%! 8!&'!&2+-4-+#!,)1-3&#! L!&!2&$5-'7!,)1-3&#!

1.  2.  3.  
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4.  5.  6.  

+DHU<KT@ 1.2. $@A656 1.2.3. 

Activity 17: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 

?@?A?T =6 58JG?N6@DE, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 

IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID :?L=8ID5=8 EIA6IGL8V, 6=678N>TKD I6 

?;8=TTKD H?57G==B :?H>=8:6=I85. 

)>J8?J?J6I?: «Legally Blonde» court scene. 

A. You are going to watch the part of the movie «Legally Blonde». Guess the 

place of the scene from the given picture.  

 
B.  Now write down the phrases which you would use in your conversation; the 

stressed words. Discuss with your partner paralinguistic behaviour of the 

characters. Is it important to stress the words in your conversation? Why?  

Fill in the gaps in the given sentences: 

1. What are you so happy _______________? 

2. I have new ___________________. 

3. Excuse ______, you are ______ my way. 

4. Counsellors, _________________ the bench. 

5. You’re not going ___________ there. 

6. I have no ____________ with this. 

7. You begin your ___________________. 
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8. Did you hear a shot ____________? 

9. Where is she _________________ with this? 

10.  I have a _______________, I promise. 

11.  Mrs. Windham with a gun in her hand to make your story 

__________________. Isn’t that right? 

12.  In the __________________ of the state vs. Brooke Windham this case is 

_________________. 

Now role-play the same dialogue in a group using the clichés and stressing from 

the video and try to imitate the behaviour of characters. Remember, you have 10 min. 

Key: A. The court scene. 
1) What are you so happy about? 
2) I have new representation. 
3) Excuse you, you are in my way. 
4) Counsellors, approach the bench. 
5) You’re not going up there. 
6) I have no problem with this. 

1) You begin your questioning. 
2) Did you hear a shot fired? 
3) Where is she going with this? 
4) I have a point, I promise. 
5) Mrs. Windham with a gun in her hand to 

make your story plausible. Isn’t that right? 
6) In the matter of the state vs. Brooke 

Windham this case is dismissed. 
 

+DHU<KT@ 1.2. $@A656 1.2.4. 

Activity 18: 

$@A656: AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 5GAQ67M=?T 

?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M 8=I?=>56ID I6 EI65DID =6L?7?ED 5 >E=?H> H?57G==8 

=6 EHDE7?5DC 9A6N6C, N6EI?E?5>TKD :?=L=8ID5=8 EIA6IGL8V. 

Stressing the right word or highlighting the most important information will help 

you to make yourself understood clearly. Remember, you have 15 min. 

I. Student A: Read your sentence 1 to Student B. He / she will respond, giving 

one word extra stress. Continue with 2-6. 

1. That actress really likes your sister. 

2. Did you say she was American? 

3. Is the playhouse the building after the traffic lights? 

4. Shall we get her this seat for musical then? 
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5. I thought you said you’d watch a movie? 

6. I left your scarf on your bed. 

II. Student A: Now respond to B with your number 7 below, giving extra stress to 

one of the words. Continue with 8-12. 

7. He’s not my dog. He’s my partner’s dog. 

8. Sorry, I booked a ticket for the opera. 

9. I gave him the money. He’d never be able to pay me back. 

10.  It looks expansive, but actually it was really cheap. 

11.  I’m going out. I haven’t been out for ages. 

12.  I was terrific, you mean.  

 

I. Student B: Student A is going to read you a sentence. Respond with your 

number 1 below, giving extra stress to one of the words. Continue with 2-6. 

1. She is my sister. 

2. No, I said she was Canadian. 

3. No, it’s the building before the traffic lights. 

4. Personally, I still think she’d prefer stalls.  

5. I’ve downloaded it, but I haven’t watched it yet. 

6. Could you put it under my desk, please? 

II. Student B: Read your sentence 7 to Student A. He/she will respond, giving one 

word extra stress. Continue with 8-12. 

7. Is that your dog? 

8. Here are you. Your ticket for the musical. 

9. Did you lend John money he needed to buy the car? 

10. That dress looks really expensive. 

11. You’re not going out tonight, are you? 

12. This play was not that bad. 

Role-play the dialogue based on the example giving word extra stress when 

needed. 



331 
+DHU<KT@ 1.2. $@A656 1.2.4. 

Activity 19: 

$@A656: AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 5GAQ67M=?T 

?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6=?I?5>56ID N HGI?T J?=GEID E@85A?NH?5=D:> 

L?7?5=> 8JGT 6Q? @G5=D< =6H8A, N6EI?E?5>TKD :?L=8ID5=8 EIA6IGL8V. 

Work in a group of three or four. Think of a film you really enjoyed that was 

adapted from a book / play or based on a real event. Make notes under the following 

headings to help you to talk about it. Remember, you have 10 min. 

- When and where is the film set? 

- Who are the main characters and who are they played by? 

- What is it about? 

- What is the most memorable scene? 

- What makes it so powerful / moving / dramatic, etc.? 

Describe the film and the scene to others in the group, and see if they can name 

the title of the film. The rest of a group ask as many questions as possible. 

+DHU<KT@ 1.3. $@A656 1.3.1 

Activity 20: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 
5GAQ67M=?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 
IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M 5D:?ADEI?5>56ID :?L=8ID5=8 I6 :?H@G=E6I?A=8 
EIA6IGL8V J7B NJ?L6J>56==B @A? N=6KG==B 5DA6N85. 
 One of you is to think of an expression providing clues about it to the other 

participants (your colleagues), so that they could guess the expression. Other 

participants can ask only 11 questions, which must be answerable by either «yes» or 

«no». Permissible extra clues include whether the expression about people in 

general, scene, behaviour or actors; number of words in the expression; and whether the 

expression contains the definite or indefinite articles. Remember, you have 15 min. 

 Think of the use of guessing strategies. Are they compensational or cognitive 

strategies? 



332 
The list of expressions: 

to make a mess of something; 

to be head over ears in love 

with somebody; 

under the pretext; 

to spare no pains to do 

something; 

to go for a stroll; 

in the twinkling of an eye; 

to beat nineteen to the dozen; 

to put on airs; 

to go off without a hitch. 

to shine like a new pin; 
 

Keys: 
to make a mess of something – 
@A?567DID >EG J87?, =6@>I6ID, 
@?AIDID; 
to be head over ears in love with 
somebody – @? 5>C6 N6:?C6IDEB; 
under the pretext – @8J @AD5?J?H; 
to spare no pains to do something – =G 
@?S:>J>56ID ED7 

to shine like a new pin – 5DL7BJ6ID, B: 
=?56 :?@8<:6 
to go for a stroll – @A?L>7T56IDEB 
in the twinkling of an eye – 5 ?J=> HDIM 
to beat nineteen to the dozen – S67G=? 
QDIDEM 
to put on airs – IADH6IDEM/@?5?JDIDEM 
@DC6I? 
to go off without a hitch – @A?C?JDID 
L76J:?/QGN >E:76J=G=M 

+DHU<KT@ 1.3. $@A656 1.3.1 

Activity 21: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 
5GAQ67M=?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 
IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M 5D:?ADEI?5>56ID :?H@G=E6I?A=8 EIA6IGL8V – H?5=6 

NJ?L6J:6 @A? N=6KG==B 7G:EDK=DC ?JD=D;M. 

From the previous exercise choose the expressions, words or you may use, the 

words which are hard for you to remember, in order to describe them indirectly. 

Make sure you use the given phrases: 

1. It’s a kind of … ___________ 

2. It’s something you do when … _____________ 

3. It’s made of …________________ 

4. It’s a place where … _______________ 

5. It’s something you … _______________ 

6. It looks (a bit) like … _______________ 
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7. It’s used for … ________________ 

8. It’s a person who … ____________________ 

Your partner is to guess what you are describing. Then change the roles. 

Remember, you have 10 min. 
 

+DHU<KT@ 1.3. $@A656 1.3.1. 

Activity 22: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6,  

N 5GAQ67M=?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 

IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID :?H@G=E6I?A=8 EIA6IGL8V – H?5=6 

NJ?L6J:6 @A? N=6KG==B 7G:EDK=DC ?JD=D;M. 

Work in pairs. Each student will be given a list of sentences. Student A is to read 

the sentences with the missing phrases and guess it trying different possibilities until 

she / he gets each sentence right. Student B is to do the same task with his / her 

sentences. Remember, you have 15 min. 

Student A: Look at the sentences 1-5 and imagine what the missing phrase 

could be. Remember «+» – positive verb; «-» – negative verb. 

1. A lot of people say the book is better than the film, but actually I ____________. 

«+» 

2. I’ve heard this actor supposed to be really mean. Apparently, he never 

__________________ on her birthday. «+» 

3. It wasn’t a particularly nice day for the open air theatre but at least 

__________________________. «-» 

4. The play was classic tale of love, the performance was brilliant, and we were all 

impressed. All in all, it _________________________. «+» 

5. On the one hand, dogs are far better company than any other pets, but on the 

other hand you ____________________ at least twice a day. «+» 

Read your sentences to Student B. Keep trying different possibilities until you get 

each sentence right. 
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Listen to your partner’s sentences. Tell him / her to keep guessing until they get it 

exactly the same as yours. 

6. I’m not sure you would enjoy the play and in any case it will be very difficult to 

get tickets. 

7. Some of the characters aren’t very realistic, but on the whole I think it’s a good 

play. 

8. Orlando Bloom only thinks of himself and he always gets his own way. In other 

words, he’s totally selfish. 

9. I have my own import-export company. Basically, I buy and sell fruit and 

vegetables. 

10.  I don’t feel like going to Kate’s birthday party and besides, I haven’t got 

anything to wear. 

Student B: Look at the sentences 5-10 and imagine what the missing phrase 

could be. Remember «+» – positive verb; «-» – negative verb. 

6. I’m not sure you would enjoy the play and in any case it will be very difficult 

______________________.»+» 

7. Some of the characters aren’t very realistic, but on the whole I think 

__________________.»+» 

8. Orlando Bloom only thinks of himself and he always gets his own way. In other 

words, _______________.»+» 

9. I have my own import-export company. Basically, ______________ fruit and 

vegetables.»+» 

10.  I don’t feel like going to Kate’s birthday party and besides, I haven’t 

_________________.»+» 

Listen to your partner’s sentences. Tell him / her to keep guessing until they get it 

exactly the same as yours. 

1. A lot of people say the book is better than the film, but actually I preferred the 

film.  

2. I’ve heard this actor supposed to be really mean. Apparently, he never buys his 

wife a present on her birthday.  
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3. It wasn’t a particularly nice day for the open air theatre but at least it didn’t 

rain.  

4. The play was a classic tale of love, the performance was brilliant, and we were 

all impressed. All in all, it was a great day.  

5. On the one hand, dogs are far better company than any other pets, but on the 

other hand, you have to take them for a walk at least twice a day.  

Now read your sentences to A. Keep trying different possibilities until you get 

each sentence exactly right. 

+DHU<KT@ 1.3. $@A656 1.3.2. 

Activity 23: 

$@A656: AG@A?J>:ID5=6, :?H>=8:6ID5=6, :GA?56=6, N ?@?A?T =6 @6H’BI:>-

@?A6J>, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M :?AG:I=? N6@DI6ID @A? A?N’BE=G==B =GN=6<?H?L? 

IGAH8=>, E7?56, 5D:?ADEI?5>TKD :?H@G=E6I?A=8 EIA6IGL8V. 

You are an assistant of your teacher at the international conference, where 

different spheres of science are represented. How would you respond if one of the 

scientists asked you the following question?  
!

]I =,&+M(!#)/0!)5-'-)'!)*!
+)5-&0#>!

`I J)/13!#)/!+%11!$%!&?)/+!
+,%!/(-'7!)*!NO!
P%2,')1)7-%(!-'!#)/0!
2)/'+0#>!

aI N(!7-Q$)!1-9%!5&7%0(!&'3!
2%11/1&0!+%1%5,)'%(!
2)$$)'1#!&+!#)/0!
/'-4%0(-+#>!

!
!

!
!

Now, role-play a dialogue – one of you is an assistant, the other – a scientist. 

Remember, you have 10 min. 

Don’t forget! You can use your own strategy 
for asking for clarification. For example, by 
means of such phrases, questions: “Sorry, I 
don’t follow”, “I didn’t catch that. Would you 
mind repeating it?”, “Could you repeat the 
question, please?” , “Sorry, I don’t know what 
you mean by ‘Topiary’. Would you mind 
explaining  ‘Topiary’?” 
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+DHU<KT@ 1.3. $@A656 1.3.2. 

Activity 24: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, :GA?56=6, N 

5GAQ67M=?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 

IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M :?AG:I=? @?EI65DID 6Q? 58J@?58EID =6 N6@DI6==B I6 

@8JIADH6ID A?NH?5>, N6EI?E?5>TKD :?H@G=E6I?A=8 EIA6IGL8V. 

 The big dinner for young actors is ahead. There will be lots of your colleagues 

and you have a chance to talk to actors who you saw at the stage in order to gain 

some tips on how to become a good actor, but you do not know how to start the 

conversation. Here is the model dialogue which can help you. Read the model 

dialogue and fill in the gaps with expressions that you are given.   

 Expressions: «Please don’t take this the wrong way», «I know this is none of my 

business», «What do you think of», «How about», «I think I can make it», «It’s been 

quite a while», «I haven’t seen him / her!for ages», «I hardly remember the day»!

 (Scenario – Two actors from a theatre are attending a dinner for young actors in 

London.) 

Maria: What a nice dinner! __________________________ when so many actors 

gathered together sharing the experience. 

Ronaldo: That’s true, after graduating from the university I  _________________my 

group mates  ___________.  

Maria: _________________, what university did you graduate from? 

Ronaldo: Kaplan International College in London. And what about you? 

Maria: Unbelievable, me too. I graduated from Kaplan International College in 

London in 2005. And afterwards I couldn’t find a proper job. But now I work at 

Oxford playhouse.  

Ronaldo: So, I guess we were group mates, as I graduated in 2005 too 

___________________________________, but when did you start working at 

Oxford playhouse? 

Maria: That’s all right. I started four years ago. 
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Ronaldo: __________________________ your new director? 

Maria: He seems to be revising our budget with good sense (pause). 

I just love this ice sculpture. 

Ronaldo: It’s sublime (pause). When was the last time you were in London? 

Maria: Oh gosh, I think it was when I was in college. ________________you? 

Ronaldo: I’ve been living here for  ______________, sixteen years. There’s nothing 

like London. 

Maria: _____________________________, but are you here alone? 

Ronaldo: Yes, I am. (pause) My wife couldn’t  ________________due to another 

commitment.  

Maria: Oh, I see (pause). Uh, I’ve just noticed a coworker from Oxford. I’m going to 

say hi to her. Merry Christmas. 

Ronaldo: Merry Christmas, have a great night. 

 With your partner, try to make up your own dialogue using the expressions and 

changing the roles with your partner. Remember, you have 15 min. 

Key: 
Maria: What a nice dinner! I hardly 
remember the day when so many actors 
gathered together sharing the 
experience. 
Ronaldo: That’s true, after graduating 
from the university I haven’t seen my 
group mates for ages.  
Maria: By the way, what university did 
you graduate from? 
Ronaldo: Kaplan International College 
in London. And what about you? 
Maria: Unbelievable, me too. I 
graduated from Kaplan International 
College in London in 2005. And 
afterwards I couldn’t find a proper job. 
And now I work at Oxford playhouse.  
Ronaldo: So, I guess we were group 
mates, as I graduated in 2005 too. I 

Ronaldo: What do you think of your 
new director? 
Maria: He seems to be revising our 
budget with good sense (pause). 
I just love this ice sculpture. 
Ronaldo: It’s sublime (pause). When 
was the last time you were in London? 
Maria: Oh gosh, I think it was when I 
was in college. How about you? 
Ronaldo: I’ve been living here for quite 
a while, sixteen years. There’s nothing 
like London. 
Maria: Please don’t take this the 
wrong way, but are you here alone? 
Ronaldo: Yes, I am (pause). My wife 
couldn’t make it due to another 
commitment.  
Maria: Oh, I see (pause). Uh, I’ve just 
noticed a coworker from Oxford. I’m 
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know this is none of my business, but 
when did you start working at Oxford 
playhouse? 
Maria: That’s all right. I started four 
years ago. 

going to say hi to her. Merry Christmas. 
Ronaldo: Merry Christmas, have a great 
night. 

;+%/< !"53& =I > 7/"$54#((1 4$)(: 2#-%/-/454#%& (+3"1$) -%"#%+0)? 4 @;. 

+DHU<KT@ 2.1. $@A656 2.1.1. 

Activity 25: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 

5GAQ67M=?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 

IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M 6=678N>56ID, A?N5D56ID A?NH?5> =6 A8N=8 IGHD 

E@?=I6==? N6 J?@?H?L?T HGI6:?L=8ID5=DC EIA6IGL8<. 

You will have to speak spontaneously and fluently about a range of subjects. 

Choose the topic of interest from the newspaper you were given. Remember, you have 

5 min. 

#  From Sherlock to Pope Joan: actor Louise Brealey on writing her first play 
3 Sep 2013: As well as acting in Sherlock, Louise Brealey is now writing 

plays. She tells Andrew Dickson why her first subject is a female pope from 

the ninth century 

# Falling stars: what happens when stage actors are a no-show? 
3 Sep 2013: Mark Lawson: From a vanishing Hayley Atwell to a script-

reading Oedipus, welcome to the season of the understudy 

# Should theatre critics talk to each other? 
2 Sep 2013: Lyn Gardner: There's an unspoken assumption that critics should 

never discuss the show they're reviewing. Isn't it all a bit ... outdated? 

# The best theatre of autumn 2013: from Richard II to Let The Right One In 
1 Sep 2013: A hard-hitting musical about a notorious Alabama rape case has 

contemporary resonance, a vampire play is guaranteed to produce gasps of 

terror, and David Tennant returns to Shakespeare 

Your partner then asks you about the topic.  

Try to speak for at least a minute on each subject, using ‘fillers’ if necessary 

and other strategies. If you pause for more than three seconds without using an 
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appropriate filler or strategy, you must stop. You then ask your partner a question 

to see if he or she can speak for a minute without stopping. Remember, you have 20 min. 

+DHU<KT@ 2.1. $@A656 2.1.1. 

Activity 26: 

$@A656: AG;G@ID5=6-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 

?@?A?T =6 58JG?N6@DE, 8=JD58J>67M=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 

IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M 6=678N>56ID, ?;8=T56ID H?57G==P58 J8V :?H>=8:6=I85 

5D:?ADEI?5>TKD HGI6:?L=8ID5=8 EIA6IGL8V. 

)>J8?J?J6I?: «the King's Speech». 

You are given two variants of the King's Speech which George VI broadcast to 

his people in Britain, and throughout the Empire, immediately after Britain's 

Declaration of War against Germany on September 3, 1939. The first variant is a 

real speech and the second one is the episode taken from the film «King’s speech». 

Compare these two speeches. What are the differences between them? What 

techniques did George VI use in order to overcome his speech difficulties? What 

strategies did he use? Remember, you have 15 min. 

Differences 

between the speeches 
Used techniques Used strategies 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Now, role-play the dialogue where Student A is a journalist and Student B is 

Colin Firth who gives his opinion on the role in the film. 
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+DHU<KT@ 2.1. $@A656 2.1.2. 

Activity 27: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, :GA?56=6, N 
5GAQ67M=?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 
IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID HGI6:?L=8ID5=8 EIA6IGL8V, @76=>TKD I6 
?AL6=8N?5>TKD E@87:>56==B. 

Student A: You are going to interview one of the famous actors of the theatre. 

Plan and arrange your conversation with the actor, relying on the information about 

Rupert Grin that is given below.  

Rupert Alexander Lloyd Grin (born 24 August 1988) is an English actor who rose 

to prominence playing Ron Weasley, one of the three main characters in the Harry 

Potter film series. Grint was cast as Ron Weasley at the age of 11, having previously 

acted only in school plays and at his local theatre group. From 2001 to 2011, he 

starred in all eight Harry Potter films alongside Daniel Radcliffe and Emma Watson.  

Grint is the eldest of five siblings. He attended Dorothy Stringer High School in 

Brighton, a Roman Catholic school. While there, Grint took an avid interest in 

theatre. He started performing in school productions and joined the Top Hat Stage 

and Screen School, a local theatre group that cast him as a fish in Noah's Ark and a 

donkey in another nativity play. He continued performing in school plays as he 

moved up to Richard Hale School. However, Grint had never acted professionally 

before the Harry Potter series. At the age of 16, he left school to focus on his acting 

career. "I didn't really like school that much," the actor later commented. 

Now Rupert is making his professional theatre debut in Mojo. In addition to 

playing Ron Weasley in the Harry Potter series of films, his screen credits include 

The Necessary Death of Charlie Countryman, Into the White, Wild Target, 

Cherrybomb and Driving Lessons as well as the upcoming CBGB. Grint's television 

credits include Super Clyde and Come Fly With Me. 

Mojo is a 1995 play (then subsequent 1997 feature film) written by English 

playwright Jez Butterworth that premiered at the Royal Court Theatre in London, 

directed by Ian Rickson. 



341 
It is a black comedy set in Soho, a fast-paced gangster plot that tells the story of 

this particular night club's culture. Would-be rock 'n' roll star 'Silver Johnny' is on 

the road to fame and fortune during the summer of 1958, but encounters problems 

with his jealous manager, Ezra, the owner of the Atlantic Club, who is hell-bent on 

protecting him from the amorous advances of creepy local gangster/entrepreneur 

Sam Ross. Skinny, a member of Johnny's group, and one of the club's pill-popping 

employees, discovers Ezra sawn in half in separate dustbins, and Ezra's ambitious 

associate Mickey announces that Ross intends to take over the Atlantic Club. 

Think about at least 10 questions that you would like to ask the celebrity. You 

need to get the most interesting information, as you’ll write an article about him. 

Think of strategies that you will use during the conversation, clichés which you will 

use to keep up with conversation. Remember, you have 15 min. 

Student B: Read the information and remember the most important information. 

You are free to add something from yourself to make the conversation more vivid. 

Probably you do not want to enlighten the press on your plans for the future or your 

personal life. Plan your answers properly in order to hide some information. 

You are given 7 minutes to prepare and then 15 minutes to act the conversation 

out.  

+DHU<KT@ 2.1. $@A656 2.1.2. 

Activity 28: 

$@A656: AG;G@ID5=?-@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, :GA?56=6, QGN 

?@?AD, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID HGI6:?L=8ID5=8 EIA6IGL8V, 5DN=6K6TKD 
576E=8 ;878 E@87:>56==B. 

You’ve just role-played the dialogue. Now each of you will have to identify the 

goal and the objective of the previous conversation, but for the student A who will 

have to identify the goal and the objective for the Student B and vise versa. Then tell 

your partner about your ideas and compare them with his / hers. Remember, you 

have 15 min. 
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+DHU<KT@ 2.1. $@A656 2.1.3. 

Activity 29: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, :GA?56=6, N 
5GAQ67M=?T ?@?A?T, 8=JD58J>67M=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 
IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID HGI6:?L=8ID5=8 EIA6IGL8V, B:8 

@GAGJQ6K6TIM A?N5DI?: >H8=M ?;8=T56ID E5?T H?57G==P5> @?5GJ8=:> @8J K6E 

E@87:>56==B. 

You are given the checklist where you need to evaluate your speaking from the 

previous dialogue. Answer the following yes or no questions or underline the answer. 

Try to be more objective with yourself! 

" Did you vary your vocal pace, pitch and volume in a way that enforced your 

message or question and kept it engaging? ______________ 

" Do you need to prepare more? ______________ 

" Did you end powerfully?  ______________ 

" Did you support your points with examples, stories, metaphors? ______________ 

" Did the interaction maintain flow? ______________ 

" Did you ramble? ______________ 

" Did you connect with head (logic), heart (emotion), hand (action) and leave your 

partner with something to think, feel or do during the speech? _________________ 

" Did you get the partner’s attention at the start?  And, was your «attention-getter» 

relevant to the topic of the conversation? ______________ 

" Did your introduction clearly give your partner both a reason to listen, and a 

clear direction (a clear thesis)? ______________ 

" Could you outline your own speech (was the organization easy to follow)? _________ 

" How was your use of language?  

" Correct pronunciation and grammar. ______________  

" No filler words (use of Ahs, Ums). ______________  

" Did you use rhetorical devices (e.g. simile, contrast, rhyme, alliteration, 

metaphor) _____________ 
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" How was your eye contact?              good     not bad    bad  

" Did you speak from memorable key words or did you look down at info/notes too 

much? ______________ 

" Did your facial expressions, body language (stance, movement) and gestures 

distract from or enforce your conversation? ______________ 

" Did your gestures look natural? ______________ 

What would you do in order to avoid the mistakes during your next 

conversation? Discuss with your partner. Remember, you have 15 min. 
 

+DHU<KT@ 2.1. $@A656 2.1.3. 

Activity 30: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, :?H>=8:6ID5=6, :GA?56=6, N 5GAQ67M=?T 
?@?A?T, 8=JD58J>67M=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID HGI6:?L=8ID5=8 EIA6IGL8V, B:8 

@GAGJQ6K6TIM A?N5DI?: >H8=M ?;8=T56ID H?57G==P5> @?5GJ8=:> :?H>=8:6=I6 @8J 

K6E 3 look natural? ______________ 

Now talk over, with your partner, his / her failures. Give him / her pieces of 
advice how to make his / her speech more fluent, grammatically correct etc. Don’t be 
too harsh to him / her! Remember, you have 15 min. 

 

+DHU<KT@ 2.2. $@A656 2.2.1. 

Activity 31: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, :?H>=8:6ID5=6, :GA?56=6, QGN ?@?AD, 
@6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID 69G:ID5=8 EIA6IGL8V – J?76ID IAD5?L>. 

In a week you are having a job interview in the company where you always 
wanted to work. You’re very nervous, as it’s your first interview and it’s in English. 
You need to use and recall as many strategies as it’s possible for lowering your 
anxiety. Discuss it with your partner. 

Try to meditate for a few minutes at a time. You can do it even at home several 
times a day. You will be surprised at how focused and calm this can make you, and 
how much readier you’ll feel to deal with the English language.  
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All you have to do is to sit comfortably in a quiet place and think of one thing: 

an object, a word or a pretty place. Your mind will wander at first, but bring it back 
to the thing you are thinking about. As you meditate, breathe slowly and deeply from 
your abdomen, not from your chest. That’s the basic idea. If it helps you, you might 
also play some peaceful background music while you meditate. Try this in the group 
with a partner. Then talk over whether your body relaxed. Can you center your 
mind? Remember, you have 15 min. 

+DHU<KT@ 2.2. $@A656 2.2.1. 
Activity 32: 
$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, :?H>=8:6ID5=6, :GA?56=6, N 

5GAQ67M=?T ?@?A?T =6 @6H’BI:>-@?A6J>, @6A=6, ?J=?H?5=6, 6>JDI?A=6, 
=?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID 69G:ID5=8 EIA6IGL8V – 5L6H?5>56ID 
IAD5?L>. 

An important first step in learning to manage social anxiety involves better 

understanding your social anxiety. People with social anxiety disorder tend to fear 

different types of social situations (e.g., talking to group-mates, speaking in a 

meeting, going to parties, etc.) and experience different physical symptoms of anxiety 

(e.g., blushing, sweating, increased heart rate, etc.). Get to know your social anxiety. 

Take a couple of weeks to notice which situations cause you anxiety and what you 

experience physically when you are in those situations. It can help to write these 

things down. It is a lot easier to manage your anxiety when you have a better 

understanding of it! Remember, you have 10 min. 

 
For example:  
Date: January 12th. 

Don’t forget!  
A(!.35%3!0.!-%4:!7.*!9%00%3!.9+%3@%!7.*3!+.81#4!#(N1%07>!$#;%!#!8-#30!
610-!0-3%%!8.4*$(+!U!5#0%>!+10*#01.(>!#(5!#(N1%07!+7$:0.$+<!K+%!0-1+!
8-#30!0.!-%4:!7.*!03#8;!0-%!+.81#4!+10*#01.(+!0-#0!8#*+%!7.*!#(N1%07!#(5!

6-#0!7.*!%N:%31%(8%!1(!0-.+%!+10*#01.(+< 
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Situation: Talking to cashier at grocery story. 
Anxiety Symptoms: rapid heart rate, dizziness, dry mouth, upset stomach. 

Now, with your partner, discuss these particular situations, what exactly made 
you nervous? How did you overcome it? What should you do to avoid it for the next 
time? Do you have your own strategies of lowering your anxiety?  

 

+DHU<KT@ 2.2. $@A656 2.2.2. 

Activity 33: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, :?H>=8:6ID5=6, :GA?56=6, N 
5GAQ67M=?T ?@?A?T =6 @6H’BI:>-67L?ADIH, @6A=6, ?J=?H?5=6, 6>JDI?A=6, 
=?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID 69G:ID5=8 EIA6IGL8V – @8JQ6JM?AG==B 

E6H?L? EGQG. 

Each of you is given a separate piece of paper with your name. Write down one 

thing on the sheets you like or enjoy about being with each of your group-mates. E.g.: 

Do you like the way he / she smiles or laughs? The way he / she speaks? The colour 

of his / her eyes? Is he / she kind to everyone else? 

You are given 7 minutes, then each of you will tell the group what has been 

written about him / her. Before the discussion read the tips below «How to Develop 

Self Esteem?». Remember, you have 10 min. 

 

Now, with your partner, discuss the following questions? 

! How does it feel to hear positive things others said about you?  

! Which comment made you feel the best? Which comment surprised you the 

most?  

! How does this make you feel towards the other kids? Are you more likely or 

less likely to want to talk to them and be friends?   

! How does it feel to say something positive about someone else? 

Let’s hope it’ll help you to build healthy self-esteem! 
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+DHU<KT@ 2.2. $@A656 2.2.2. 

Activity 34: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, :?H>=8:6ID5=6, :GA?56=6, N 5GAQ67M=?T 
?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID 69G:ID5=8 EIA6IGL8V – @8JQ6JM?AG==B 

E6H?L? EGQG. 

How to Develop Self Esteem? 

!
8%3")-3'+/!%/('$!"'%")'9!e3%#;!0-%!8784%!./!(%)#01@107!97!)%001()!1(!0-%!-#910!
./!:3#1+1()!.0-%3!:%.:4%<!
:-/!-+!/('!,$%+/!$%;9!M.*B44!9%!$.3%!@1+194%!0.!0-%!1$:.30#(0!:%.:4%!0#4;1()!/3.$!
0-%!/3.(0!./!0-%!3..$<!
:"'0<! #"9! e7! $#;1()! #(! %//.30! 0.! +:%#;! *:! #0! 4%#+0! .(8%! 1(! %@%37! )3.*:!
51+8*++1.(>!7.*B44!9%8.$%!#!9%00%3!:*9418!+:%#;%3>!$.3%!8.(/15%(0! 1(!7.*3!.6(!
0-.*)-0+!#(5!3%8.)(1W%5!#+!#!4%#5%3!97!7.*3!:%%3+<!
:/0$/!,$%3!;-/(-+9!A)(.3%!#(7!#(5!#44!5%+03*801@%!8310181+$!.3!1(+*40+>!1(84*51()!
#(7!/3.$!7.*3!:#+0<!
8$'0/'!.0-)=!0,,-$30/-%+&9!,%44!7.*3+%4/!0-#0!7.*!#3%!#!6.(5%3/*4!:%3+.(!6-.!
5%+%3@%+!0.!9%!-#::7<!
:/0$/!;-/(! &30))! &/'"&! /%! >0-+! *%+,-.'+*'9!,#;%!+$#44!+0%:+!#(5!$#;%!+$#44!
8-.18%+!0.!)#1(!8.(/15%(8%!1(!7.*3!#914107!0.!$#;%!#!5%81+1.(<!
?)'0&'!=%#$&'),9!A(+0%#5!./!8.(+0#(047!:4%#+1()!%@%379.57!%4+%>!:4%#+%!7.*3+%4/!
$.3%!./0%(<!
@'! =%#$! %;+!"'$&%+9!D.([0! 037! 0.!8.:7!#(7.(%!%4+%<!M.*!6144!9%!#0!7.*3!9%+0!
6-%(!7.*!#3%!9%1()!7.*3+%4/!9%8#*+%!./!7.*3!*(1O*%(%++<!
AB%-.!+'>0/-B'!"'%")'9!C%.:4%!6-.!-#@%!#!(%)#01@%!#0010*5%!6-18-!$#7!3*9!.//!
.(!7.*!#3%!(.0!)..5!/.3!7.*<!
C0*'!=%#$! ,'0$&!0+.! )'0$+! ,$%3!=%#$! ,0-)#$'&9!?%!.(47!/#14!6-%(!6%!5.!(.0!
$#;%!0-%!9%+0!.*0!./!#5@%3+107<!
:/%"!/('!+'>0/-B'!/(%#>(/&9!,37!:.+101@%!0-1(;1()!.(!/.3!+1W%<!
6%+D/!;%$$=!0E%#/!E'-+>!F"'$,'*/9f!=1$1()!/.3!:%3/%801.(!1(!41/%!1+!#!4.+0!8#*+%!
9%8#*+%!0-%!0%3$!$%#(+!51//%3%(0!0-1()+!0.!51//%3%(0!:%.:4%<!".9.57!1+!:%3/%80!
1(!0-%!%7%+!./!%@%37.(%!%4+%<!A(+0%#5>!+%%;!0.!#8-1%@%!).#4+<!
G'0$+!/%!0""$'*-0/'!=%#$&'),9!E@%37.(%!-#+!+03%()0-+>!6%#;(%++%+>!-#910+>!#(5!
:31(81:4%+! 0-#0!5%/1(%!6-.!7.*!#3%!#(5!8#(!$#;%!7.*!51+01(801@%<! X:%(5!$.3%!
01$%!/.8*+1()!.(!0-%!O*#4101%+!#9.*0!7.*3+%4/!0-#0!7.*!41;%!#(5!4%++!.(!0-%!.(%+!
0-#0!7.*!51+41;%<!
7';0$.!=%#$&'),!;('+!=%#!&#**''.9!,3%#0!7.*3+%4/!0.!+.$%0-1()!(18%<!
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Imagine you are to pass your language test in a week. You have lots of other 

subjects to revise before these exams. Your first task is to make as many positive 

statements as possible in order to prepare for the test. Think of the statements that 

will help you change negative attitudes about yourself as a language learner, and 

they can speed the process of learning up by convincing that you’ll succeed. 

Remember, you have 5 min. 

Here are some general statements:  

I’m a good language learner. 

I’m confident and secure in language learning. 

I’m progressing well in my language learning. 

I can learn from my errors and do not have to be afraid of them. 

It’s OK if I take risks in language learning. 

I don’t have to understand everything all at once. 

I can tolerate a bit of confusion. 

My warm personality helps me in language learning. 

Now with your partner discuss the statements and propose each other your own 

ones, if your partner doesn’t understand you or vise versa, make it clear to understand 

you, clarify your opinion, using the clichés and set phrases of the discussion. 

Remember, you have 20 min.    

+DHU<KT@ 2.2. $@A656 2.2.3. 

Activity 35: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, :GA?56=6, N 

5GAQ67M=?T ?@?A?T =6 @6H’BI:>-@?A6J>, @6A=6, ?J=?H?5=6, 6>JDI?A=6, 

=?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID 69G:ID5=8 EIA6IGL8V – J?76==B E5?VC 

GH?;8<. 

You are going to work as an interpreter for one evening during a business party. 

You’ve never done it before and that’s why you feel nervous. Recall the strategies 

that will help you to take your emotional temperature. The tip below will help you, 
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but you are to give the specific examples according to the given situation and present 

to your partner, compare your strategies with your partner’s ones and discuss the 

way he / she used the strategies. Remember, you have 15 min. 

 

 

 

+DHU<KT@ 2.2. $@A656 2.2.3. 

Activity 36: 

$@A656: AG;G@ID5=?-@A?J>:ID5=6, :?H>=8:6ID5=6, :GA?56=6, N 5GAQ67M=?T 
?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID 69G:ID5=8 EIA6IGL8V – 5L6H?5>56ID E5?V 

GH?;8V I6 6=678N>56ID VC. 

You are given a checklist of possible feelings below, think and add your own 

ones. It’s simple procedure that will give you a record for comparison of your 

feelings. The checklist helps you to link your feelings with the language tasks and 

events in which you are involved. Remember, you have 20 min. 

Don’t forget!  
R-(+%'!+)!#)/0!?)3#!g! 0.!:#7! #00%(01.(! 0.! +1)(#4+! )1@%(!97! 0-%!9.57<!
,-%+%!+1)(#4+!$#7!9%!(%)#01@%>!3%/4%801()!+03%++>! 0%(+1.(>!6.337>! /%#3>!
#(5! #()%3L! .3! 0-%7! $#7! 9%! :.+101@%>! 1(518#01()! -#::1(%++>! 1(0%3%+0>!
8#4$(%++>!#(5!:4%#+*3%<!
S(-'7! 2,%291-(+! g! 0.! 51+8.@%3! /%%41()+>! #0010*5%+>! #(5! %$.01.(+!
8.(8%3(1()! 4#()*#)%! 4%#3(1()! 1(! )%(%3#4>! #+! 6%44! #+! 8.(8%3(1()!
+:%81/18!4#()*#)%!0#+;+<!
=0-+-'7!&!1&'7/&7%!1%&0'-'7!3-&0#!g!63101()!#!51#37!.3!2.*3(#4!0.!;%%:!
03#8;!./!%@%(0+!#(5!/%%41()+!1(!:3.8%++!./!4%#3(1()!/.3%1)(!4#()*#)%<!
K-(2/((-'7! #)/0! *%%1-'7(! 6-+,! ()$%)'%! %1(%! g! 0.! 0#4;! 610-! #(.0-%3!
:%3+.(!0.!51+8.@%3!#(5!%N:3%++!/%%41()+!#9.*0!4#()*#)%!4%#3(1()<!
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CHECKLIST 

Taking your emotional temperature 

List language tasks or events in which you have just been involved, for example, 

giving oral report, doing drills, holding a conversation. 

 

 

 

 

 

 

Describe how you’re feeling now, especially in relation to the learning tasks or 

events above. 

______happy                                                    ______unhappy 

______proud                                                    ______ashamed 

______confident                                              ______unconfident 

______peaceful                                               ______anxious 

______unafraid                                               ______afraid 

______risk-taking                                            ______cautious 

______clear-thinking                                       ______confused 

______friendly                                                 ______unfriendly 

______interested                                              ______bored 

______calm                                                      ______angry 

______strong                                                   ______weak 

______energetic                                              ______tired 

______outgoing                                               ______shy 

______accepting                                              ______critical 

______able to tolerate contradictions     ______unable to tolerate contradictions 

______want to learn language                ______don’t want to learn language  

______want to know the culture            ______don’t want to know the culture   
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Now try to explain how you felt and why to your partner. He/she is to give you 

his/her own point of view and a piece of advice. Then change the roles. 

+DHU<KT@ 2.3. $@A656 2.3.1. 

Activity 37: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, :GA?56=6, N 
5GAQ67M=?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 
IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M EI65DID N6@DI6==B, @GAGJQ6K6ID C8J A?NH?5D, 
N6EI?E?5>TKD E?;867M=8 EIA6IGL8V. 

Imagine you are going to have an interview at the company where you want to 

work. This is the job you’ve always wanted to have and now you need to do all your 

best in order to get it. Work in groups of two, each will have the task. Role-play the 

interview between the interviewer and the candidate. Remember, you have 20 min. 

Situation A. 
You are the interviewer and preparing to interview a candidate. Other 

student is to give brief information about him/herself in order to be taken on 
this vacancy. The candidate will fill in his/her CV. Think over the questions 
that you will ask the candidate. 

TASK: 
! Think how to start the interview. 
! Ask the candidates more than three questions on their CVs.  
! After the interview you need to choose one suitable candidate and 

explain your choice.   
Mind their body language  

# If a candidate crosses arms, he/she appears to be defensive and 
closed off to you. 

# Maintaining a good balance of eye contact conveys honesty, 
confidence, and interest. 

# Both men and women should be comfortable offering a firm, dry, 
confident handshake. 

# Rubbing or touching nose suggests that the interviewer is not being 
completely honest. 

# Sitting with arms folded across the chest appears that a person is 
unfriendly and disengaged. 

Each candidate will have only 3 min for the interview.  

The interviewer will have 1 min to explain his / her choice. 
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Situation B. 

You are the interviewee. You are asked to fill in the CV with questions 
about your work, study experiences, personal interests. 

 
FULL NAME  
NATIONALITY  
FIRST LANGUAGE  
OTHER LANGUAGE(S)  
EDUCATIONAL QUALIFICATIONS  
WORK EXPERIENCE  
REASON FOR QUITTING THE PREVIOUS 
JOB 

 

WHY DO YOU WANT TO WORK HERE  
HOBBIES OR INTERESTS  

 
TASK: 

! Try to predict which questions the interviewer will ask you. 
! Think over the phrases or clichés that you will use in order to 

omit pauses of hesitation. 
! Persuade the interviewer that you are the best candidate (give 

the reasoning). 
Avoid: 

# Crossing arms it appears to be defensive and closed off to a 
person. 
# Rubbing or touching nose suggests that you are not being 

completely honest. 
# Sitting with arms folded across the chest appears that you are 

unfriendly and disengaged. 
# Lean your body towards the door. You'll appear to be ready to 

leave the interview. 
# Giving additional information. 
# Using the same words and structures. 
# Answering with just one word. 
# Long pauses. 

 
Each candidate will have only 3 min for the interview.  

The interviewer will have 1 min to explain his / her choice. 
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+DHU<KT@ 2.3. $@A656 2.3.1 

Activity 38: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, :GA?56=6, N 

5GAQ67M?T ?@?A?T, 8=JD58J>67M=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 

IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M EI65DID N6@DI6==B, @GAGJQ6K6ID C8J A?NH?5D, 
N6EI?E?5>TKD E?;867M=8 EIA6IGL8V. 

Look at this advert for a cruise. What questions can you ask for more 

information? 

E.g. What time does it leave? … 

Now read your sentences to the group and your colleagues are to correct you if 

it's necessary. Don’t be too harsh to each other! Now, act a phone conversation out 

(Student A – a tourist; Student B – tourist agent). 

Remember, you have 15 min. 

!
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+DHU<KT@ 2.3. $@A656 2.3.1. 

Activity 39: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, :GA?56=6, N 

5GAQ67M=?T ?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 

IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID E?;867M=8 EIA6IGL8V – AG@78:>56==B, 

@GAGJQ6KG==B C?J> A?NH?5D. 

O?ED76==B =6 G7G:IA?==D< AGE>AE: http://theatre-facts.com/pub-quiz/disney1.html 

You are given the questions with the answers. Your task is to remember the 

information and be ready to explain the question to your partner in order to help him 

/ her with the answer then change the roles. Remember, you have 15 min. 

Student A: Read the answers to questions 1-4 and remember the information.  

Student B is to ask you as many questions as it’s possible in order to get the answer. 

Probably, you will need to explain the question in your own words to help your 

partner. 

1. What is the connection between the cartoon «The Lion King» and the play by 

William Shakespeare? 

The Lion King closely follows the plot of Hemlet play by William Shakespeare.  

2. What was Disney's first full length feature film? 

Snow White and the Seven Dwarves was Disney's first full length feature film,  

released in 1937. 

3. "Happy Dan, The Whistling Dog" by Ward Greene is the basis for which Disney 

film?  

"Happy Dan, The Whistling Dog" by Ward Greene is the basis for The Lady and The 

Tramp Disney film. 

4. Which Disney film was the first feature film ever to be animated entirely with CGI 

(computer-generated imagery)?  

Toy Story was the first Disney feature film ever to be animated entirely with CGI 

(computer-generated imagery). 

Student B: Read the answers to questions 5-8 and remember the information.  



354 
Student A is to ask you as many questions as possible in order to get the answer. 

Probably, you will need to explain the question in your own words to help your partner. 

5. Where was the first and original Disneyland theme park? Paris, California, 

Florida, Tokyo, or Hong Kong? 

The first and original Disneyland theme park was in California. 

6. In 1997 Disney remade the 1961 film The Absent-Minded Professor, and renamed 

it by what? 

In 1997 Disney remade the 1961 film The Absent-Minded Professor, and renamed it 

by Flubber. 

7. The Little Mermaid is based on a story by which 19th century writer? 

The Little Mermaid is based on a story by Hans Christian Andersen. 

8. Which Disney film features the vocal talents of John Goodman, Billy Crystal and 

Steve Buscemi? 

Monsters Inc. is Disney film that features the vocal talents of John Goodman, Billy 

Crystal and Steve Buscemi. 

+DHU<KT@ 2.3 $@A656 2.3.2 

Activity 40: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, >H?5=?-:?H>=8:6ID5=6, =G:GA?56=6, N 

?@?A?T =6 @6H’BI:>-@?A6J>, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, 

IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID E?;867M=8 EIA6IGL8V (E@85@A6;T56ID N 

E@85A?NH?5=D:6HD).!
You will be divided into two groups. Half of the g are travel agents; the other 

half are tourists. Remember, you have 15 min. 

Tourists: Find a travel agent and figure out what holiday trips they have to offer. Ask 

for detailed information before you book a trip. 

Travel agents: Think of three different holiday trips you want to offer and note as 

many details as you can. Then try to sell your holiday trips to as many tourists as 

possible. You may use the information from the previous activities in order the help 

you with ideas. 
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+DHU<KT@ 2.3. $@A656 2.3.2. 

Activity 41:  

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, :?H>=8:6ID5=6, :GA?56=6, N 5GAQ67M=?T 

?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID E?;867M=8 EIA6IGL8V – E@85@A6;T56ID N 

E@85A?NH?5=D:6HD. 

Work in groups of three or four. You are going to debate some of the topics 

below. Each student must choose a different topic and make brief notes about what 

he / she thinks. Remember, you have 15 min. 
 

!Children nowadays don’t know anything about theatre and plays. In the nearest future 

they will become more shallow minded and uncivilized. 

!In the 21st century, IPods are new friends for people. 

!Theatre is a place where only the aged go. 

! It’s much better to watch films anywhere and anytime than plays at theatre without 

popcorn and coke with you. 

! In the future there will no theatres or cinemas as people will have their own home 

cinemas and won’t leave their houses for watching it somewhere else. 

Have a short debate on the topics you have each chosen. The person who made 

the notes should give their opinion first, and then the rest of the group say what they 

think. Try to use clichés or idioms for agreeing, half-agreeing or disagreeing, in the 

polite form.  

 

+DHU<KT@ 2.3. $@A656 2.3.2. 

Activity 42:  

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, :?H>=8:6ID5=6, :GA?56=6, N 5GAQ67M=?T 

?@?A?T, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 5 K6E8, IAG=>567M=6. 

Don’t forget!  
Use the list of clichés which will help you focus tourists’ attention on 

your offer or to choose the best holiday trip! 
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4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID E?;867M=8 EIA6IGL8V – E@85@A6;T56ID N 

@6AI=GA6HD @? E@87:>56==T. 

 

In order to cooperate with others, people ask different sorts of questions in 

different cultures. What may seem polite in one culture may be impolite in other one. 

Some Australians, Americans or English people may think it’s impolite to discuss 

money, age, religion, politics, their weight etc., considering them as taboos. 

Sometimes tourists may ask questions about things that local people take for 

granted. It might cause discomfort and may lead to misunderstanding. 

Think about the following two questions and discuss them with a partner. 

1. Are there any topics in your culture that are impolite to discuss with people you 

don’t know very well? 

2. What are some “good” (suitable) topics to talk about when meeting someone for 

the first time? 

Role-play the conversation where one of you is an Englishman and the other is a 

Ukrainian tourist. You’ve met at the theatre hall during the intermission. Try to start 

the conversation without discussing the topics mentioned above if you happen to 

mention it use clichés and idioms to pardon politely. During the conversation use 

clichés and idioms to start the conversation, ask for clarifications, express your 

opinion etc. Then change the roles. Remember, you have 20 min. 
 

 

+DHU<KT@ 2.3. $@A656 2.3.3. 

Activity 43: 

$@A656: AG;G@ID5=?-AG@A?J>:ID5=6, :?H>=8:6ID5=6, :GA?56=6, N 5GAQ67M=?T 

?@?A?T I6 ?@?A?T =6 @6H’BI:>-@?:6N, @6A=6, ?J=?H?5=6, 6>JDI?A=6, =?AH?56=6 

5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID E?;867M=8 EIA6IGL8V, E@85@GAGRD56TKD N 
8=SDHD I6 5DA6R6TKD E5?V GH?;8V. 
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Using the tips above read to each other your sentences with an 
exclamation. Your partner is to respond on them trying to use an appropriate 
intonation, stress and link. Remember, you have 15 min. 

Student A: Read your sentences to Student B. He / she will respond with an 
exclamation. 
! Did you know that you’re not supposed to call a female actor an actress because 

it’s considered sexist? 
! Yesterday, I was fined by a policeman for talking on my mobile phone when I was 

parking. 

! My parents were burgled last night. They took my mum’s jewellery. 
Respond to Student’s B sentences with an exclamation beginning with either 

How…! Or What (a)…! Make sure you use expressive intonation, and link, stress the 
words where appropriate.   

 

Student B: Respond to Student’s A sentences with an exclamation beginning 

with either How…! Or What (a)…! Make sure you use expressive intonation, and 
link, stress the words where appropriate.   

Read your sentences to Student A. He / she will respond with an exclamation. 

! I thought we could go to the cinema and then have dinner at the new Italian place 
down road. 

! Did you know my parents were both born on exactly the same day? 

! I really put my foot in it* at the party. I called Tom’s partner ‘Anna’, but in fact 
that’s his ex-wife’s name! 

* to put one’s foot in it / put your foot in your mouth (American) – to say something 
by accident which embarrasses or upsets someone. 

 Now, discuss with your partner the importance of an appropriate intonation and stress. 

Make sure you remember!  

Common exclammations with What and How: 
What a great idea!        What an amazing coincidence! 
What a terrible experience!   How weird! 
How embarrassing!       How annoying! 



358 
+DHU<KT@ 2.3. $@A656 2.3.3. 

Activity 44:  
$@A656:  AG;G@ID5=?-AG@A?J>:ID5=6, :?H>=8:6ID5=6, :GA?56=6, N 

5GAQ67M=?T ?@?A?T =6 @6H’BI:>-@?A6J>, @6A=6, ?J=?H?5=6, 6>JDI?A=6, 
=?AH?56=6 5 K6E8, IAG=>567M=6. 

4GI6: A?N5DI?: >H8=M N6EI?E?5>56ID E?;867M=8 EIA6IGL8V – J?76ID :>7MI>A=8 
Q6A’PAD @8J K6E E@87:>56==B I6 >=D:6ID H8R:>7MI>A=8 =G@?A?N>H8==B.  

O?ED76==B =6 G7G:IA?==D< AGE>AE: http://sielearning.tafensw.edu.au/ 

MCS/9362/Sterilisation%20disk%203/lo/7373/7373_00.htm 

 

Cultural misunderstandings can occur when people don’t share or 

understand the ‘rules’ of a particular culture. The ‘rules’ of how you behave are to 

do with what people expect you to do in certain situations. People can learn the rules 

of a new culture by watching people and through asking questions. It is cultural 

values that lead to expectations and ‘rules’ about how people behave. Remember, 

you have 15 min. 

How would you ask someone to close a window in the Ukrainian language? Do 

we use a more direct form of language?  

Make sure you remember!  

?-%(!#(!E()41+-$#(!#+;+!#!:%3+.(!0.!5.!+.$%0-1()>!-%!5.%+(B0!*+*#447!*+%!0-%!
513%80!1$:%3#01@%!/.3$!H#(!.35%3I<!h.3!%N#$:4%P!
J1)(%!+,%!6-'3)6T!

A/!-%!#+;+!+.$%.(%!0.!84.+%!#!61(5.6>!-%!$1)-0!+#7P!
@#;?A!3#;!B1/A!21)(-'7!+,%!6-'3)6>!<#;?A!3#;!)?(*7(!21)(%!+,%!6-'3)6>!<*/!

$(! 21)(%! +,%! 6-'3)6>!9#! 3#;! B1/A! 1+! .! 21)(%! +,%! 6-'3)6>! J1)(%! +,%! 6-'3)6!

51%&(%C!2#''3!%#!1/%('';)%!3#;D!-;%!:*/!3#;!)?(*7(!21)(%!+,%!6-'3)6>!

E()41+-! :%.:4%! *+*#447! 7#+%(/! 0-%! 4#()*#)%! .3! *+%! 1A1#B7<! ,-1+! $#;%+! 0-%!
3%O*%+0!$.3%!1(513%80<!!
X.$%01$%+!:%.:4%!610-!41$10%5!E()41+-!4#()*#)%!+;144+!$#7!03#(+4#0%!#!3%O*%+0!
.3! #(! %N:3%++1.(! 410%3#447! /3.$! 0-%13! (#01@%! 4#()*#)%<! ,-1+!$1)-0! #::%#3! #+! #!
513%80!.3!1$:%3#01@%!/.3$<!
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Consider this situation: 

Erica, new to Australia, has been working at a theatre house for about a week. Which 

of the following questions would be appropriate for her to ask if she was talking to 

her supervisor? Explain your answer to your partner, then change the roles. 

! How long have you been working here? 

! Do you enjoy your job? 

! What do you earn? 

! Do you have any children? 

! Do you own your own home? 

/ Are you renting? 

! How old are you? 
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!"#$%"& ' 

()*+$ ,*#*--. #/$0"12 
!

! Interactional Response 

 Planning: 
speaking globally, locally, personally 

!

Organising: 
- setting goals and objectives 

- identifying purpose of speaking 
!

 
 
M 
A 
I 
N 
 
B 
O 
D 
Y 
!

Collaboration: 
- talking 

points and 
language use 

/grammar, 
vocabulary/ 

!

Evaluation: 
- self-monitoring 
(pronunciation, 
appropriateness 

of words, 
stressing, 

intonation) 
- self-assessing 

!

Language 
practice: 

- clichés 
- idioms 

- set phrases 
!

Outcomes: 
- speaking 
naturally, 
without 

hesitations 
- pronunciation 

!

INTRODUCTION 

CONCLUSION 

! Explaining the problem 
! Asking for help or advice 
! Offering help 
! Agreeing 
! Disagreeing 
! Asking for, giving and refusing 

permission 
! Reaching a compromise 
! Accepting, rejecting 

suggestions 
! Apologising and making 

excuses 
! Expressing your feelings 
! Expressing doubt 
!  

 

Evolution 
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!3!4536 7. 8$,9$0:-/ %$;0<=/ 

7.1. 8$,9$0:-$ %$;0<=. «>?.+/ @%?$%*1/A , !7»  

DIRECT STRATEGIES 
Kinds of 
str. 

Types of strategies 

Memory 
strategies 

!"#$%&'()*#'%$+)+&',$(#-.)
/ ("012&'(3)
/ $--04&$%&'()#+$50"$%&'(3)
/ 2+$4&'()'#6)60"7-)&'%0)$)
40'%#8%)

/ 1-&'()$)'#6)60"7)&'-%#$7)09)
$+"#$7:),'06'3)

/ "#*#*5#"&'()$)'#6)60"7)
)0")2;"$-#)5:)"#40++#4%&'()&%-)
+04$%&0')0')%;#)2$(#<)50$"7<)
-%"##%=3)

/ 1-&'()9+$-;4$"7->!

?22+:&'()&*$(#-)$'7)-01'7-.)
/ 1-&'()&*$(#":3)
/ -#*$'%&4)*$22&'(3)
/ 1-&'(),#:60"7-3)
/ "#2"#-#'%&'()-01'7-)&')*#*0":3)
/ 40''#4%&'()$)-01'7)09)$)

)60"7)6&%;)$')&*$(#>)
)

)
)

@#A&#6&'()6#++.)
/)-%"14%1"#7)"#A&#6&'(>)
)
)
)
)

B*2+0:&'()$4%&0'.)
/ 1-&'()2;:-&4$+)"#-20'-#)0")

-#'-$%&0'3)
/ 1-&'()*#4;$'&4$+)%#4;'&4->)
)

Cognitive 
strategies 

C"$4%&4&'(.)
/ "#2#$%&'()
/ 90"*$++:)2"$4%&4&'()6&%;)
-01'7-)3)

/ "#40('&-&'()$'7)1-&'()
90"*1+$-)$'7)2$%%#"'-3)

/ "#40*5&'&'(.)
/ 2"$4%&4&'()'$%1"$+&-%&4$++:>)

@#4#&A&'()$'7)-#'7&'()*#--$(#-.)
/ (#%%&'()%;#)&7#$)D1&4,+:3)
/ 1-&'()"#-01"4#-)90")"#4#&A&'()$'7)
-#'7&'()*#--$(#->)
)

)
)

?'$+:-&'()$'7)"#$-0'&'(.)
/ "#$-0'&'()7#714%&A#+:3)
/ $'$+:-&'()#82"#--&0'-3)
/ $'$+:-&'()40'%"$-%&A#+:)
E$4"0--)+$'(1$(#-F3)

/ %"$'-+$%&'(3)
/ %"$'-9#""&'(>)

!"#$%&'()-%"14%1"#)90")&'21%)
$'7)01%21%.)
/ %$,&'()'0%#-.)
/ -1**$"&-&'(3)
/ #*2;$%&4)-%"#--&'(>))

Compensa-
tional  
strategies 

G1#--&'()&'%#++&(#'%+:.)
/ 1-&'()+&'(1&-%&4)4+1#-3)
/ 1-&'()0%;#")4+1#->)
)

HA#"40*&'()+&*&%$%&0'-)&')-2#$,&'(.)
/ -6&%4;&'()%0)%;#)*0%;#")%0'(1#3)
/ (#%%&'();#+23)
/ 1-&'()*&*#)0")(#-%1"#3)
/ $A0&7&'()40**1'&4$%&0')2$"%&$++:)0")%0%$++:3)
/ -#+#4%&'()%;#)%02&43)
/ $7I1-%&'()0")$22"08&*$%&'()%;#)*#--$(#3)
/ 40&'&'()60"7-3)
/ 1-&'()-:'0':*3)
/ 90"#&('#"&J$%&0')E+&%#"$++:)%"$'-+$%&'()

60"7-F3)
/ 407#-6&%4;&'()E-2#$,#")-,&2-)+$'(1$(#F3)

/ -15-%&%1%&0')E0'#)60"7)&'%0)0%;#")K&9/
6;#%;#"LF3)

/ (#'#"$+&-$%&0'3)
/ 7#-4"&2%&0'3)
/ #8#*2+&9&4$%&0')E-2#$,#")(&A#-)$')

#8$*2+#)"$%;#")%;$')(#'#"$+)%#"*)K4$"/
%"$'-20"%LF3)

/ "#-%"14%1"&'()E-2#$,#");$-)$'0%;#")
$%%#*2%)$%)%;#)-$*#)-#'%#'4#)$-)&')$)
+#$"'#")-%"1((+&'()%0)9&'7)"$"#)B'(+&-;)
60"7)K-&5+&'(L)1-#-)K-&-%#")$'7)
5"0%;#"LF>)  
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7.2. 8$,9$0:-$ %$;0<=. «8*B?.+/ @%?$%*1/A , !7»  

INDIRECT STRATEGIES!
Kinds of str. Types of strategies 

Metacognitive 
strategies!

"#$%#&'$(!)*+!,#-&$'$(.!
/ *0#&0'#1'$(!-$2!,'$3'$(!1'%4!
-,&#-2)!3$*1$!5-%#&'-,6!

/ 7-)'$(!-%%#$%'*$6!
/ 2#,-)'$(!87##94!7&*2+9%'*$!%*!
:*9+8!*$!,'8%#$'$(;!!

<&&-$('$(!-$2!7,-$$'$(!)*+&!,#-&$'$(.!
/ :'$2'$(!*+%!-=*+%!,-$(+-(#!,#-&$'$(6!
/ *&(-$'8'$(6!
/ 8#%%'$(!(*-,8!-$2!*=>#9%'0#86!
/ '2#$%':)'$(!%4#!7+&7*8#!*:!-!87#-3'$(!

%-836!
/ 7,-$$'$(!:*&!-!87#-3'$(!%-836!
/ 8##3'$(!7&-9%'9#!*77*&%+$'%'#8;!

?0-,+-%'$(!)*+&!,#-&$'$(.!
/ 8#,:/5*$'%*&'$(6@!!
/ 8#,:/#0-,+-%'$(@!!

Affective  
strategies!

A*1#&'$(!)*+&!-$B'#%).!
/ +8'$(!7&*(&#88'0#!&#,-B-%'*$C!2##7!
=&#-%4'$(!*&!5#2'%-%'*$6!

/ +8'$(!5+8'96!
/ +8'$(!,-+(4%#&6!
/ 1*&3'$(!*+%!-%!()5;!

?$9*+&-('$(!)*+&8#,:.!
/ 5-3'$(!7*8'%'0#!8%-%#5#$%86!
/ %-3'$(!&'838!1'8#,)6!
/ 1&'%#!2*1$!)*+&!7*88'=,#!=#$#:'%86!!
/ &#1-&2'$(!)*+&8#,:6!
/ 9*57-&#!)*+&8#,:!1'%4!%4#!7&#0'*+8!)#-&;!
!
!

D-3'$(!)*+&!#5*%'*$-,!%#57#&-%+&#.!
/ ,'8%#$'$(!%*!)*+&!=*2)6!
/ +8'$(!94#93,'8%6!
/ 1&'%'$(!-!,-$(+-(#!,#-&$'$(!2'-&)6!
/ 2'89+88'$(!)*+&!:##,'$(8!1'%4!%#-94#&C!

9*,,#-(+#C!7-&#$%8!#%9;!
!!

!

Social 
strategies!

<83'$(!E+#8%'*$8.!
/ -83'$(!:*&!9,-&':'9-%'*$!*&!

0#&':'9-%'*$6!
/ -83'$(!:*&!9*&&#9%'*$;!

"**7#&-%'$(!1'%4!*%4#&8.!
/ 9**7#&-%'$(!1'%4!7##&86!
/ 9**7#&-%'$(!1'%4!7&*:'9'#$%!+8#&8!*:!%4#!

%-&(#%!,-$(+-(#;!

?57-%4'8'$(!1'%4!*%4#&8.!
/ 2#0#,*7'$(!9+,%+&-,!+$2#&8%-$2'$(6!
/ =#9*5'$(!-1-&#!*:!*%4#&8F!%4*+(4%8!-$2!

:##,'$(8;!

 
"!"#$%&'()*'+)(,!#!$%&'($)*$'+!&,,-,.!$'!/'%&,.(0'%$'+!-,!1,-%/2$'+!(3&!(0,+&(!40'+/0+&5!%&(&,6$'$'+!73$23!-'2&!0,&!$61-,(0'(!8(3-.&!(30(!
20/.&!.&,$-/.!2-')/.$-'!-,!-))&'2&95!(,02:$'+!(3&!.-/,2&!-)!$61-,(0'(!&,,-,.5!0'%!(,*$'+!(-!&4$6$'0(&!./23!&,,-,.;!!
!"#$%"-.#/.*)(,!#!&<04/0($'+!-'&=.!own progress in the new language, for instance, by checking to see whether you are speaking faster and 
understanding more than 1 month ago, or whether you understand a greater percentage of each conversation.
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!"#$%"& ' 

(")*+,,-). &*./+ 

KEY EXPRESSIONS 

Introducing yourself  
Hello / Hi. I’m… 
Hello / Hi. My name is … 
I don’t think we’ve met. 
I’m … 

Introducing other people 
This is … 
I want you to meet … 
I’d like to introduce you to … 

Exchanging 
greetings 
Nice to meet you. 
I’m very pleased to 
meet you. 
I’m delighted to 
meet you. 

Saying what you do 
I deal with … 
I handle … 
I oversee … 
I’m in charge of (+noun / 
-ing)… 
I’m responsible for 
(+noun / -ing)… 
My job involves (+noun / 
-ing)… 

Offering to do something 
Why don’t I …? 
I’ll… 
I can…if you want. 
Leave it with me. 

Summarizing 
So, to recap… 
X is/am/are going  
to … 
It’s all going 
according to plan. Declining to do something 

I’m sorry, I can’t. 
I’m afraid I’m busy. 
I’d prefer not to (if that’s OK). 

Talking about leisure and 
interests 
Do you like playing tennis / 
to relax in the evening? 
Is this your office / favourite 
restaurant? 
What sort of music do you 
like / things do you like 
doing? 
How is your hotel /often do 
you play? 
How do you find our country 
/ your job? 

Talking about likes and dislikes 
I like / really like / love (+ -ing / to … / noun) 
I don’t like / hate  (+ -ing / to … / noun) 
I enjoy / don’t enjoy (+ -ing)… 
I’m (not) interested in / keen on / fond of / crazy 
about (+ -ing / noun) 

Saying telephone 
numbers  
00 = double zero / zero 
zero / double oh (British 
English) 
Say telephone numbers in 
groups of three or four: 
096…745…6745… 

Saying email addresses 
/ (forward) slash 
. dot 
_ underscore 
– dash  
@ at 
lower case / UPPER CASE 

Checking spelling 
S for sugar 
E for egg 
P for Paris, etc. 
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Explaining how something 
works 
Let me explain how it works. 
One / the main thing to note 
is … 
What happens is … 
Basically, … 
It’s a bit like … 
You can see what happens 
when you … 
As soon as you …, it starts 
to … 

Explaining additional 
features and benefits 
One other useful feature is 
that … 
As well as (+noun / -ing) 
…, it also … 
The more …, the better 
(the) … 

Comparing  
On the one hand …, 
but on the other 
hand … 
The good news is 
…, but the bad news 
is … 
Whereas before …, 
we now … 
It looks very similar 
to …, but what’s 
different is … 
It might seem …, but 
in fact it’s … 
One downside is …, 
but on the plus  
side … 
One benefit is that 
…, though a 
drawback might  
be … 

Asking for information 
Can you tell me a little 
more …? 
Is that something you deal 
with? 
Would it be possible  
for …? 

Suggesting arrangement 
Can we fix / arrange a date for 
the meeting? 
What / How about the 30th of 
January? 

Stating a preference  
I’d prefer the 
Tuesday. 
Tuesday would be 
better. 
The 31st is good for 
me. 
Thursday suits me. 

Changing arrangements 
Sorry, I can’t make the 
Thursday. 
I’m afraid I can’t come on 
/ make Thursday. 
Can we move it back to 
Friday? 
Can we bring it forward to 
Wednesday? 
The afternoon is free / 
convenient. 

Welcoming  
Welcome to … 
It’s nice to meet you in person. 
Likewise. 
Good morning. / Good 
afternoon. 
On behalf of … 
It gives me great pleasure to 
welcome you to … 

Asking about 
journey 
How was your 
journey? 
Did you have any 
trouble finding us? 
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Being hospitable 
Can I get you a coffee? 
Let me take your coat. 
Have a seat. 

Explaining the programme 
Let me run through / go over 
today’s programme. 
First of all, I thought you 
could … 
We’ll catch up again later /  
at … 
You will have the opportunity 
to … 
You’ll get a chance to … 
We’re going to begin with … 

Giving extra 
information 
Make sure you … 
Please be sure to … 
Don’t worry about (+ 
noun / -ing) … 
Can I remind you 
that …  
For your own 
safety, … 
Ending 
Before I hand over  
to … 
May I wish you all 
an enjoyable visit. 

Introducing a talk 
What I want to do today is … 
I’ll talk about … 
I’ll run through … 

Giving background information 
As you know, we’ve recently … 
As you are aware … 
Up to now … 
I’d like to update you on … 
The situation / problem now is that … 
We expect the situation to … 
The situation, as it stands … 

Asking for an explanation 
What’s the reason for …? 
I don’t quite understand how it works. 
Can you tell us (more) about …? 
What do you mean by …? 
I don’t quite follow you. Do you mean… 
I’m not quite with you. Are you saying… 
What do you mean by that exactly? 
I don’t get it. Can you run me through it 
once again? 
You’ve lost me. Can we go back a little? 
So, hang, are you saying that …? 
Care to explain? 
What are you driving at? 
Would you like to elaborate? 

Giving an 
explanation 
It’s because of 
the fact that … 
As a result, … 
Because of 
this … 
By (+ -ing) …, 
we can / hope 
to … 

Checking 
information 
So, if I understand 
you correctly … 
Do you mean that 
…? 
I’m not sure I follow 
you. 

Expressing future hopes 
and expectations 
We expect to … 
We hope to … 
I plan to … 
I intend to … 

Asking how much time is 
needed 
How long will it take to …? 
What’s the timescale on this? 

Time expressions  
Over the next few 
weeks … 
By the end of the / 
next month … 
By Tuesday … 
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The chances are … 
It is likely to / that … 

In the short / 
medium / long  
term … 
In the long run … 

Complaining  
I’m not happy about this.  
This is a real problem for me. 
This is unacceptable. 

Promising action 
I’ll look into it immediately. 
I’ll check it out straight away. 
I’ll find out. 
I’ll get back to you (within the hour). 
I’ll be as quick as I can. 

Recommending 
I think we should consider (+ noun / -ing) … 
We might be better off (+ -ing) … 
It’s probably worth (+ -ing) … 
It might prove (+ adjective) … 
I have a few reservations about (+ noun / -ing) … 
I’d rather not (+ verb) … 
I’d recommend (+ that / -ing)… 
It would be better (+ infinitive) … 

Responding 
I really like it. 
It’s / That’s a good 
idea. 
Sorry, but I don’t 
think that would 
work. 
I’m not sure. 
Great. 
Exactly. 

Giving someone else’s 
opinion 
X says that we should … 
According to … 
X maintains that … 

Acknowledging what someone 
else says 
Yes, good point. 
I take your point. 
I hear what you’re saying, … 
I can understand what you’re 
saying. 
Yes, fair enough. 
I see what you getting at. 
I see where you are coming 
from. 

Checking 
understanding 
So what you are 
saying is … 
So if I’ve followed 
what you’re said, … 
So if I understand 
you correctly, … 

Reaching a decision 
Does everyone agree? 
Are we all agreed? 
Is everyone happy with 
that? 

Diagnosing the problem 
It looks / sounds like … 
It looks / sounds as though … 
It could be … 
It might be… 

Confirming a 
solution 
That should fix it. 
That should sort it 
out. 
That should solve the 
problem. 

Inviting 
I’d like to invite you to … 
I was wondering if you 
would like to … 
I’d be delighted if you would … 
Would you like to join me …? 
How about joining …?  

Accepting 
That would be great / nice. 
I’d be delighted to. 
OK. I’ll … 

Declining 
I’d love to, but I’m 
afraid I … 
Sorry, but I can’t … 
Thanks, but … 
Sorry, but I’m a bit 
tied up … 
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Changing plans and giving reasons 
There’s been a slight change of plan … which means / 
because … 
As a result, we won’t be able to … 
I would like to apologize for any inconvenience. 
Something’s come up. 
Sorry to mess / for messing you around, but …? 

Responding to a 
change of plan 
That’s a pity. 
I understand. 
I’m sorry to hear 
that. 
Maybe next time. 
It can’t be helped. 
It’s a shame that … 
Not to worry. 
These things happen 
/ take time. 

Giving a formal appraisal 
Overall … / In general … 
I’m / We’re very happy / pleased 
with your performance. 
You seem to be doing very well. 
One of your key strengths is … 
Perhaps one thing to work on / 
consider is … 
One thing I wanted to discuss  
was … 

Encouraging self-
evaluation 
How do you feel 
about …? 
How are you getting 
on with …? 
Have you thought 
about ...? 
What do you think 
would help you  
to …? 
Is this an area you’d 
like to develop? 

Evaluating your 
own performance 
I’m really happy 
with … 
Something I need to 
work on is … 
I think … is an area 
for improvement. 

Setting objectives 
So let’s summarize what we’ve agreed. 
One thing you’re going to … 
You intend to … 
You need to think about… 

Agreeing objectives 
How does that 
sound? 
Is that OK with you? 
Is there anything else 
you’d like to add? 

 
Asking for feedback 
How was your trip? 
How did it go in / at / 
with …? 
What were your overall 
impressions? 
So, give me an overview. 

Introducing feedback 
I’ll / Let me fill you in on … 
I’ll / Let me bring you up to 
date on … 

Giving a general 
evaluation 
It could have gone 
better. 
It wasn’t what I 
expected. 
I was pleasantly 
surprised. 
I was quite 
impressed with … 
There were no big 
surprises. 
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Asking for a justification 
What makes you say that? 
Tell me more. 
Why do you say that? 
What do you base that on? 
Where do you get that 
from? 
How can you say that? 

Emphasizing  
This underlines the 
importance of (+ -ing)… 
This highlights the need to (+ 
verb) … 

Identifying future 
action 
What we need to do 
now is … 
I think the next step 
is to … 
We need to 
concentrate on … 
We should focus  
on … 

Explaining the problem 
I’ve got a problem and I wonder if you could help me … 
The thing is that … 
The problem is that … 
I need to … 
I am not sure … 
I have no idea how to … 
What I need is … 
It keeps on (+ -ing). 
It’s always (+ -ing). 
It means that … 

Asking for help or 
advice 
Excuse me, may I 
ask you something? 
Could you please tell 
me … ? 
Could you do me a 
favour? 
Could you help me 
with … ? 
I’d like to know if … 
Can you tell me 
where I can find it? 
What shall I do? 
Any idea how to go 
about it? 
Do you happen to 
know … ? 
Sorry for 
interrupting, but I 
wonder if you’ve 
got …? 
Is it possible to …? 
Where can I …? 
Could you 
recommend …? 
I really need your 
piece of advice … 
Could you give me a 
piece of advice 
regarding …  
Do you know how I 
could … 
So how do I … 
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Asking for details 
I see, but I still don’t know how … 
I can’t really understand … 
Does it mean that I should … ? 
Is there anything else I should know? 
Could you give me some more details? 
Do you think I could …? 
And what if …? 
What do you mean by this? 
I need to know one more thing … 
It is still not clear to me … 
What’s wrong with it exactly? 
When you say …, do you mean …? 

Offering help 
Can I help you? 
What can I do for 
you? 
How can I help? 
Is there a problem? 
What’s the problem? 
You look a bit 
worried. 
Is there anything else 
I could do for you? 
Don’t worry, it’s not 
so complicated! 
If you need my help, 
just let me know. 
I’ll sort it out for 
you. 

Giving advice 
I think you should … 
The best thing to do is … 
What you could do is … 
First / Second / Next / Finally … 
I think it’s a good idea to … 
I’d recommend … 
If I were you, I would … 
I’d suggest … 
The best thing would be to … 
I’d advise you to … 
Have you tried (+ noun / -ing)? 
If I were in your shoes, I’d ... 
It’s / ‘d be a good idea to … 
(I suppose) You could always … 
The best thing to do is … 
Try  … -ing instead of … 
It might be an idea to … 
You are strongly recommended (not) 
to … 
You would be well advised (not) to … 
It might be advisable (not) to … 

Reacting to 
advice positively  
Sounds like that 
would do the 
trick! 
That would be 
very helpful, 
thanks. 

Reacting to advice 
negatively 
That’s easier said 
than done … 
That sounds like a 
good idea, but … 
That’s all very well, 
but … 
I’m not sure that 
would work … 

 
 
 
 
 
 

Showing the way 
Go straight on. 
Turn left at the next crossing. 
Turn right at the traffic lights. 
Keep going until you can see a church. 
Take the second turning on your right. 
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Go past a museum. 
Walk along the street. 
Go across the square. 
It takes about three minutes to get there. 
It’s the first building on the left, you can’t miss it. 

Agreeing 
I agree. 
Exactly. 
Absolutely. 
That’s exactly what I think. 
It’s precisely what I wanted to say. 
You’ve convinced me. 
Perhaps you’re right. 
On the whole, I agree. 
You’re definitely right. 
I’d go along with that. 
You’re absolutely right! 
I couldn’t agree more. 
Good idea! 
I’m of a similar opinion. 
That’s fine with me. 
You’re a hundred per cent right. 
I’m totally with you on this one. 

Disagreeing 
That’s right, but don’t you think that … 
That may be true, but … 
I’m not sure I agree with you. 
Perhaps, but don’t you think that … 
I can see your point, but… 
I don’t think so. 
I can’t agree with that, because … 
Not necessarily … / Not really … 
You’re not seriously suggesting that …, 
are you? 
I’m afraid it will not work … 
I don’t think it’s a good idea to … 
Remember that … / Don’t forget that … 
I see what you mean, but … 
I’m afraid I don’t agree at all. 
I’m not convinced (about it). 
I’m of a totally different opinion. 
Yes, but … 
I’m not quite sure about that … 
What? You must be joking / kidding? 
More stronger disagreement 
I’m sorry, I think you’ve got the wrong 
end of the stick / you’re barking up the 
wrong tree. 
Excuse me, but what you’re saying 
amounts to nonsense.  

Asking for, giving and refusing permission 
Could I …? 
Do you think we could …? 
Would it be OK if we went there right now …? 
Will you let me …? 
Sure, go ahead! 
Yes, (of course) you may. 
That’s fine with me. 
No, I don’t think you could … 
I’m afraid it’s not possible … 
I can’t go along with that because … 
That’s absolutely out of the question. 

Reaching a 
compromise 

OK, so we can first 
…, and then … 
Let’s do it my way, 
OK? 
So let’s agree on … 
OK, if you insist, 
but … 
We need a 
compromise. 
Let’s meet in the 
middle. 
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Making, accepting and rejecting suggestions 

So instead of …, maybe we could … 
Why don’t we …? 
How about… (+ -ing)? 
Why (don’t )not (we) … (+ verb)? 
Could we please …? 
I think you should … 
If I were you, I would … 
All right, let’s do it! 
Let’s do as you suggested. 
I don’t think it’s the best thing to do … 
I think it’s not good enough. 
I don’t think it’s cheap enough. 
This might (not) be the best idea. 
It might be too late to do that. 
Maybe we should (+verb) … 
Maybe / Perhaps we could (+verb) … 
Couldn’t we (+verb) … 
Have you thought about (+ -ing) … 
We could always … 

Apologising and 
making excuses 
Sorry for being such 
a nuisance, but … 
That’s not what I 
wanted to say at all. 
That’s not what I 
meant. 
We do apologise for 
this problem. 
Sorry about that. 
I understand how 
you feel but … 

Expressing your feelings 
I am so disappointed! 
What a pity! 
Oh, that’s a shame! 
I must say I’m surprised. 
I just can’t believe it! 
I feel rather excited about it. 
It’s an unusual idea. 
Let’s hope it will turn out 
right. 
I can’t wait to start. 

Expressing doubt 
They may not like it. 
But what will you do if …? 
I’ve got some doubts about it. 
I’m not quite sure how to go 
about it… 
Are you sure it’ll be the right 
thing to do? 
To some extent you’re right, 
but … 
Well, I haven’t thought about 
that before. 

Finishing the 
conversation 
Thanks a lot! / 
Cheers! 
That was very kind 
of you! 
Not at all! 
You’re welcome! 
It’s been a pleasure. 
All right! / No 
problem! 

Asking about thoughts and feelings 
Are you OK?  
What’s on your mind?/Is something on your mind?  
What are you thinking about?  
You seem a little preoccupied with something.  
Is there anything you want to talk about?  
Is something bothering you? 

Making sure 
something is fine  
Is that OK/all right?  
Are you 
sure/positive? 

Asking for question to be 
repeated  
Could you repeat that 
please? 

Asking for explanation of an 
unknown phrase 
I’m afraid I don’t 
understand … 

Playing for time 
Well, I don’t know 
… / It’s hard to say, 
really … 
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Sorry, I didn’t hear that … 
Sorry?/Excuse me?/Pardon? 

I don’t know what it means … 
Could you explain this word 
to me? 
I’m not sure – does it mean …? 

There are many 
possible ways in 
which you can do it. 
One possible way  
is … 
For instance, … / For 
example, … 
May I think for a 
second? / Let me 
think for a moment. 
How shall I put it? 
It’s difficult to say, 
but … 
Let me see … 
Let me think … 
That’s a very 
interesting  
question … 

Interrupting in a polite way 
Excuse me, … 
Sorry for interrupting, but … 
May I interrupt? 
Can I say something? 
Sorry but there is something important 
I’d like to add. 
I’m sorry, I’d like to say something … 
Excuse me, I’d just like to say that … 
That reminds me that … 
If I can just make a point here please … 
Excuse me, but that isn’t quite right … 
Hang on, get your facts straight … 
I don’t think I agree with you there … 
Hold on a second, … 
Wait a minute, … 

Expressing interest  
Right! / Absolutely! / That’s true! 
And what happened next? 
Oh, really? That’s amazing! 
Go ahead, tell me what you think … 
That’s horrible! 
I think I can understand how it felt. 
I think I can understand your point of 
view. 
I can see your point. 
So what was it like? 
What is your opinion on this subject? 
What do you think about it? 
Would you agree with me? 
I see what you mean … 
That must have been really difficult … 
I must have been hard … 
I’d like to find out about … 
We’re interested in … 
What are you working on?  
How’s it coming along?  
I think you did a nice/great job 
with/on … .  
What’s going on with you? 

Showing interest (rising intonation) 
Oh?  
Oh yeah?  

Showing surprise (falling intonation) 
No!  
Wow!  
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Really?  
Oh really?  
Is that right? 

Amazing!  
Unbelievable!  
Get out of here! 

Expressing and justifying opinion 
I believe that … 
It seems to me that … 
In my opinion … 
If you ask me … 
Let me explain my point of view … 
To be honest, I don’t think that … 
From experience, I know that … 
That’s (the reason) why …  
I think so because … 
For example, … 
For instance, … 
In general, … 
What I mean is that … 
What I am trying to say is that … 
My opinion is that … 
The reason I think so is that … 
For the reason, I … 
Actually … 

In fact … 
As far as I am concerned … 
To the best of my knowledge … 
Bear in mind that … 
What you need to consider is … 
Another thing we have to mention is … 
As far as I know … 
Personally, I think / feel … 
I think we should … 
From my point of view, … 
As I see it, … 
What I’m actually saying is … 
OK, here’s the thinking behind it: … 
Here’s what I mean… 
The reason I say this is … 
If you … you will see that … 
Well, just look at the facts … 
Look, all I’m saying … 

 
 

Challenging someone to express their opinion  
You have a better idea? 
Let’s hear a suggestion from you, then? 
OK, then. Put something on the table. 
Why don’t you tell us what you have in mind, then? 

Summing up the discussion 
So, all things considered, … 
All in all, … 
We both agree that … 
To sum it up, … 
In conclusion, ... 
To wrap it all up, ... 
Finally, ... 
By and large ... 

It leads us to the conclusion that ... 
These arguments prove that ... 
All of this points to the fact that ... 
On balance ... 
In short ... 
Considering all this ... 
That brings me to the end of ... 
Thanks for listening. 
Are there any (more) questions? 

Describing the picture 
The picture shows … 
In this picture I can see … 
There is …in this picture. 
On the right there are … 
In the left hand corner … 
In the foreground, there is … 
There are ... in the background 

There are … in the top part of the picture. 
The people in the picture are … 
The people in the picture look happy because … 
The people in the picture seem sad because … 
The general atmosphere in the picture is positive 
because … 
The picture was taken in … 
The weather in the picture is … 
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In the bottom part of the picture 
there is … 

The atmosphere in the picture is depressing 
because… 

Comparing and contrasting 
Both photos show … 
In both pictures the people are … 
One similarity is that … 
What both these pictures have in 
common is … 
However, there are also some 
differences between the pictures. 
The picture on the left is more … than 
the other one. 

The situation shown in Picture A is more 
… than the situation in Picture B. 
The people in the first picture are less … 
than the people in the other one. 
This man looks …while the other one is 
rather … 
The main differences is (that)… 
Another important difference is that … 
I contrast, … 

Speculating about the situation  
It may be … 
They could be … 
Perhaps … 
It is probably … 
Another idea is that … 
It is also possible that … 
It seems to me that the people in the 
picture … 
I get the impression that the people are 
not very happy here … 
They don’t seem to be enjoying 
themselves … 

Expressing your opinion 
I think that … 
It’s quite obvious that … 
The situation in the picture is unusual 
because … 
I don’t think this situation is very 
common, because … 
In my opinion … 
It seems to me that … 
On the other hand / On the one hand … 
All in all, … 
I wouldn’t feel comfortable in this 
situation … 
I would love to be there! 
Personally, I’d prefer … 
I’d rather … 

Being understanding 
No problem.  
I understand.  
Take your time.  
There’s no rush.  
That’s not your fault.  
I’d be happy to … if you 
like. 

Expressing appreciation 
Thanks for all your help.  
Thanks for everything you’ve 
done.  
Thanks a million. I owe you 
big time.  
I really appreciate your help 
(with that).  
You’ve been very helpful.  
I couldn’t have done it 
without you. 

Responding to 
appreciation 
You’re welcome.  
(It was) My pleasure.  
Don’t mention it. 
Anytime.  
If you need … , just 
let me know.  
No problem.  
Not at all. 

 
Attempting to persuade  
But surely the best course of action would be… 
Surely the most sensible thing would be… 
It is essential / vital / extremely important that you … 
I really think it would be a pity if we … 

Respond to the 
persuasion positively 
You might have a 
point. 
OK, let me sleep on it. 
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We’d be making a mistake if we didn’t… 
If we don’t … now, we won’t be able to … later. 
Have you considered the consequences? 
You might regret it later if you don’t … 
You do realise that if … then … don’t you? 

Hmm … OK, let’s 
look at the facts 
again. 

Respond to the persuasion negatively 
There’s no point. 
My decision is final. 
My mind’s made up, I’m afraid. 
Believe me, there is no other way. 

Ending an attempt to persuade 
Well, I’ve tried. 
Don’t say I didn’t warn you. 
Not much left to say, then. 
Well, it’s your life. 

Asking about regret 
What would you have done differently if …? 
Do you (ever) regret …? 
Do you have any regrets about …? 
Are you glad you …? 
Do you ever wish you hadn’t …? 
Is there anything you would change 
about …? 

Expressing lack of regret 
I have no regrets  (about) … 
Looking back, I’m glad I … 
If I hadn’t (done) … , I wouldn’t have 
(been able to) … 
I’ve never regretted (doing) … 
I wouldn’t change a thing about … 
… was the best thing I ever did. 

Expressing regret 
In retrospective, I wish … 
With hindsight, I should / could / would … 
I really should have known better. 
I’ve only got myself to blame. 
It’s (such / quite) a pity that … 
If I could turn back the clock, I … 

If I could go back in time, I … 
If I knew then what I know now, I … 
I was too young to know any better. 
If only I … 
I’d like to have (done) … 
I regret not (doing) … 
I have to confess that I often wish I 
had(n’t) … 

Asking about the future 
What do you hope to …? 
Where do you see yourself in … years? 
What do you mean to do about …? 
Do you fancy giving … a try? 
Have you (ever) toyed with the idea of …? 
Would you (ever) consider …? 
What are your aims? 
Where do you go from here? 

Responding 
I hope … / I’m hoping … 
I’d like to have … in … years. 
I’m (quite) anxious / apprehensive 
about (the possibility of) … 
I mean to … 
I (don’t) intend to … 
I’ve got / I haven’t got a plan to … 
My top priority now is to … 

Brining up a difficult 
subject 
I realize you might not want 
to discuss this, but … 
I know this is hard for you, 
but could we discuss … 
I hate to have to have to 
mention this, but … 
I wouldn’t bother you with 
this if it was up to me, but … 

Avoiding responding 
I’m sorry, I can’t give you a 
definite answer right now. 
Can we talk about this later? 
I’m a bit pressed for time 
right now, can you get back 
to me? 
I really don’t think this is the 
time (or place) to discuss this. 
Yes, we must talk about it 

Backing down 
I’m sorry, you’re 
right. We’ll talk 
about it some other 
time. 
I’m sorry, I didn’t 
mean to sound 
insensitive. 
OK, but you can’t 
put it off / hide your 
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sometime. 
I’ll give you a ring at a more 
convenient time, OK? 

head in the sand for 
ever. 
We’ll have to discuss 
it sooner or later. 

Insisting  
I hate to have to insist, but … 
Forgive my persistence, but … 
I’m sorry to keep bringing this up, but … 
I understand, but I must once again stress 
that … 
You’ve got a point, but I still think that … 

Can we go back to what we were 
saying about …? 
I don’t mean to sound pushy, but … 
Yes, but you still haven’t answered 
my question (about) … 
I realise you might not want to discuss 
this. 

Hypothesising  
Let us imagine / consider / 
suppose / assume … 
What if …? Then … 
Supposing / Assuming that 
…, then … 
In the unlikely event that 
…, then … 
When … then it’s likely 
that … 
Imagine what would 
happen if … 

Personal response to 
hypotheses 
Positive: 
That’d be great / wonderful! 
That would make such a great 
difference! 
I’d be delighted if that 
happened during our lifetime. 
It would make life so much 
easier. 

Negative: 
I’d hate it / That’d be 
horrible. 
I’d look for 
somewhere else to 
live. 
I hope I don’t live to 
see it. 
I’m not sure it would 
make me happy. 

Evaluating possibility / potential 
There’s a good chance of this happening. 
It’s possible / likely that it will happen. 
There’s little doubt it will happen. 
I’ve no doubt it’ll happen. 
It’d bound to happen. 

It’s rather remote possibility. 
There’s little likelihood of this 
happening. 
It doesn’t sound probable / likely. 
It’s a bit far-fetched. 
I doubt whether it will happen. 
It’s highly unlikely that it will happen. 

Fillers  
Where was I? / Where were we? 
What was I / were we saying? 
Right, … 
OK, so …  
Hmmm … it’s not an easy question to answer. 

Interesting question … 
You know … 
It's like … 
That thing  … 
Actually … 
Basically … 
Well … 
I mean … 

Inviting a response 
What’s your feeling about 
this? 
Don’t you think? 
Don’t you agree? 
How do you feel about? 

Returning to the topic 
As I was saying … 
Anyway, going back to … 
Anyway, what I was going to 
say was … 
To return to my earlier point ... 

Instructions 
Before you …, you 
must / have to … 
You won’t be able to 
… until you have … 
You can’t … unless 
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you … 
… and you must 
also … 
Remember that … 
You mustn’t forget 
to … 
Whatever you do, 
don’t … 
Make sure you … 
Try (not) to … 

Getting someone’s attention 
Excuse me … 
Sorry to bother / trouble you … 
I wonder if you could help me … 

Stating purpose 
I’m looking for (information about) … 
I’d like to enquire about … 
I’d like / I need to speak to someone 
about … 

Asking a question  
I don’t suppose you happen 
to know …, do you? 
You don’t happen to know 
…, do you? 
Have you any idea …? 
Do you have any idea …? 
Could you tell me …? 

Responding negatively  
I’m sorry, I haven’t a clue. 
I’m afraid I’ve no idea. 
I’m not at all sure. 
Never heard of it, sorry. 
I haven’t the slightest / 
faintest idea, I’m afraid. 

Responding 
positively 
As far as I know / 
remember … 
I’m pretty sure … 
I’ve a feeling … 
Try the … 
Have a look in the … 

Making a suggestion 
The person to ask is … 
Have a word with … 
Go and see … 
Maybe you should talk to … 

Making a suggestion for the weekend 
Did you know … is on at the …? I 
quite fancy that. 
What would you say to …? 
Do you feel like going to …? 

Requesting more 
information 
What kind of music do they 
play? 
What kind of film / play is 
it? 
Who are they? / Do you 
know them? 
Are they any good? 
How much is it? 

Responding negatively 
I’m not sure I’d like that. 
Not really my cup of tea, I’m 
afraid. 
Sounds nice, but I don’t 
really feel like it. 
Sounds boring. 
Isn’t there anything else on? 
That’s a bit pricey, isn’t? / 
There is no way I can afford 
that.  

Responding 
positively 
Sounds brilliant! 
Great! Let’s go. 
 

Making an alternative suggestion 
I’d much rather … 
Wouldn’t you rather … 
Why don’t we … instead? 
I’ve got a better idea. 

Agreeing to a suggestion reluctantly 
Fine. I suppose there is nothing better to 
do. 
Well, OK, but next time I get to choose. 
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1. What expression would you choose in order to start the conversation? 

a. Are you enjoying yourself? 

b. Do you think I could? 

c. I must say I’m surprised. 

2. What expression would you choose in order to explain the problem? 

a. Go straight on. 

b. OK, if you insist, but … 

c. The thing is that … 

3. What expression would you choose in order to offer help? 

a. Is there a problem? 

b. Could I …? 

c. I just can’t believe it! 

4. What expression would you choose in order to ask for a question to be 

repeated? 

a. As far as I’m concerned… 

b. Sorry, I didn’t hear that… 

c. Can I say something? 

5. What expression would you choose in order to ask for explanation of an 

unknown phrase? 

a. I don’t know what it means… 

b. I just can’t believe it! 

c. It is still not clear to me… 

6. What expression would you choose in order to play for time? 

a. Personally, I’d prefer… 

b. I’m not sure – does it mean…? 

c. Let me think for a moment. 

7. What expression would you choose in order to interrupt in a polite way? 
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a. All in all,… 

b. Can I say something? 

c. Well, I haven’t thought about that before. 

8. What expression would you choose in order to express interest? 

a. So what was it like? 

b. It’s been a pleasure. 

c. It is also possible that… 

9. What expression would you choose in order to express and justify opinion? 

a. Considering all this… 

b. What I’m trying to say is that… 

c. One possible way is… 

10. What expression would you choose in order to ask for help and advice? 

a. What a pity! 

b. I’d like to know if … 

c. Are you sure it’ll be the right thing to do? 

11. What expression would you choose in order to ask for details? 

a. Do you happen to know …? 

b. I can’t really understand … 

c. Will you let me …? 

12. What expression would you choose in order to give advice? 

a. I’m afraid it’s not possible … 

b. I’ll sort it out for you. 

c. What you could do is … 

13. What expression would you choose in order to show the way? 

a. Take the second turning on your right. 

b. I can’t go along with that because … 

c. I can’t wait to start. 

14. What expression would you choose in order to agree with somebody? 

a. This might not be the best idea. 

b. I’m of a similar opinion. 
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c. I see what you mean … 

15. What expression would you choose in order to disagree with somebody? 

a. That’s absolutely out of question. 

b. I must say I’m surprised. 

c. I’m of a totally different opinion. 

16. What expression would you choose in order to ask for, give and refuse 

permission? 

a. How shall I put it? 

b. So let’s agree on … 

c. That’s fine with me. 

17. What expression would you choose in order to reach a compromise? 

a. Let’s meet in the middle. 

b. Let’s hope it will turn out right. 

c. I’d suggest … 

18. What expression would you choose in order to make, accept and reject 

suggestion? 

a. Well, I haven’t thought about that before. 

b. OK, so we can first …, and then … 

c. It might be too late to do that. 

19. What expression would you choose in order to apologise and make 

excuses? 

a. Will you let me …? 

b. Good idea! 

c. Sorry for being such a nuisance, but … 

20. What expression would you choose in order to express feeling? 

a. It must have been hard … 

b. Oh, that’s a shame! 

c. It’s been a pleasure. 

Keys: 1- A; 2- C; 3- A; 4-B; 5-A; 6-C; 7-B; 8-A; 9-B; 10-B; 11-B; 12-C; 13-

A; 14-B; 15-C; 16-C; 17-A; 18-C; 19-C; 20-B. 
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Read the task and the sample answer below. Complete gaps 1-12 with 

expressions from the box. 

Look at the list of factors which could influence one’s choice of career. Discuss 

their importance and choose the one that is the most important for you. 

! Job security; 

! self-development; 

! salary; 

! working conditions. 

all things considered     believe      if you ask me     In general     may I say 

something     My point is that seems     what was it like     That’s true     the 

reason why     To be honest      Would you agree 

 

A: Well, it 1________________ to me that all of these factors are important, so 

it might be hard to choose the most significant one. I 2________________ job 

security is actually very important, because if you have a family and bills to pay then 

you must have steady source of income. I am not sure if it is more important than the 

other factors, but that is 3________________ it is quite high on my list. 

B: 4________________, it is important for people who have families. 

However, I am still quite young and have no family, so I would say that self-

development might be more important for me. 

C: Excuse me, but 5________________? You are going to be a junior (a third-

year student) soon – what do you think about taking a part-time job while you are at 

university? 

A: It is a great idea, 6________________. In this way you can gain some 

professional experience which may be useful when you apply for a job after 

graduation. What do you think about it? 
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B: 7________________, I am not sure if we are going to have enough time to 

do both: study and work. I worked at a restaurant last summer while I was on an 

English course in London, and I can’t imagine working and studying full time. 

C: So 8________________? 

B: Studying was fun but work was very exhausting. 

A: Okay, let’s take a look at the next factor: money. 9 ________________, it is 

very essential, but for me it’s less important than self-development. 10 

________________, obviously, I would like to earn a lot of money, but I wouldn’t 

like to do a boring job even if it was well-paid. 11________________ with me? 

B: Well, for me money is the most momentous thing! Working conditions are 

of secondary importance. I wouldn’t mind working a nine-to-five job as long as my 

salary was good. So, 12 ________________, salary is on top of my list. 

 

Work with your partner. Do the task below and discuss the follow-up 

questions. 

Look at a list of things that young people should learn at university. Discuss 

their importance and choose the one that is the most important for you.  

! Creativity; 

! independent thinking; 

! responsibility; 

! practical skills; 

! how to get a good job. 

Follow-up questions: 

• Would you like to do postgraduate studies when you graduate from the 

university? What would you like to study? 

• Is it a good idea for students to spend some time studying abroad? 

• What subjects did you like at school? And what subjects do you like at 

university? 

• What will the school and university be like in the future? 

 



383 
0.3. 012&*$# 32476")":" 3.4*5+&43+126+,%$*7,":" 9$)#$,,5 

1. What expression would you choose in order to start the conversation? 

a. As far as I’m concerned… 

b. I love your dress. Can I ask where you got it? 

c. Do you think I could? 

2. What expression would you choose in order to explain the problem? 

a. I have no idea how to… 

b. How shall I put it? 

c. I’d suggest … 

3. What expression would you choose in order to offer help? 

a. I just can’t believe it! 

b. Go straight on. 

c. Don’t worry, it’s not so complicated! 

4. What expression would you choose in order to ask for a question to be 

repeated? 

a. Sorry? Could you repeat that, please? 

b. I must say I’m surprised. 

c. OK, if you insist, but … 

5. What expression would you choose in order to ask for explanation of an 

unknown phrase? 

a. Let me think for a moment. 

b. One possible way is… 

c. I’m not sure – does it mean? 

6. What expression would you choose in order to play for time? 

a. Well, I don’t know… / It’s hard to say, really… 

b. Let’s meet in the middle. 

c. It might be too late to do that. 

7. What expression would you choose in order to interrupt in a polite way? 

a. Excuse me, I’d just like to say that … 

b. It’s been a pleasure. 
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c. So, all things considered, … 

8. What expression would you choose in order to express interest? 

a. Let’s hope it will turn out right. 

b. Will you let me …? 

c. Do ahead, tell me what do you think … 

9. What expression would you choose in order to express and justify opinion? 

a. To the best of my knowledge … 

b. To some extent you’re right, but … 

c. As far as I know … 

10. What expression would you choose in order to ask for help and advice? 

a. Are you sure it’ll be the right thing to do? 

b. Do you think I could? 

c. Could you recommend …? 

11. What expression would you choose in order to ask for details? 

a. I need to know one more thing … 

b. Can I say something? 

c. I can’t go along with that because … 

12. What expression would you choose in order to give advice? 

a. It must have been hard … 

b. I’ll sort it out for you. 

c. I’d recommend … 

13. What expression would you choose in order to show the way? 

a. I can’t wait to start. 

b. Go straight on. 

c. My point is that … 

14. What expression would you choose in order to agree with somebody? 

a. Personally, I’d prefer… 

b. That’s fine with me. 

c. You’ve convinced me. 

15. What expression would you choose in order to disagree with somebody? 
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a. You’re nor seriously suggesting that …? 

b. What a pity! 

c. Take the second turning on your right. 

16. What expression would you choose in order to ask for, give and refuse 

permission? 

a. Sure, go ahead! 

b. This might not be the best idea. 

c. I’m of a similar opinion. 

17. What expression would you choose in order to reach a compromise? 

a. It is also possible that… 

b. I’d like to know if … 

c. OK, so we can first …, and then … 

18. What expression would you choose in order to make, accept and reject 

suggestion? 

a. So instead of …, maybe we could … 

b. Could I …? 

c. Considering all this… 

19. What expression would you choose in order to apologise and make 

excuses? 

a. Excuse me, … 

b. I understand how you feel but … 

c. I can’t really understand … 

20. What expression would you choose in order to express feeling? 

a. Can I say something? 

b. Well, I haven’t thought about that before. 

c. Let’s hope it will turn out right. 

Keys: 1-B ; 2-A ; 3-C ; 4-A; 5-C; 6-A; 7-A; 8-C; 9-A; 10-C; 11-A; 12-C; 

13-B; 14-C; 15-A; 16-A; 17-C; 18-A; 19-B; 20-C.!
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Read the task and the sample answer below. Complete gaps 1-8 with 

expressions below. 

Before doing the task look through the given situation and discuss with a 

partner the pieces of advices you would give your Irish friend. 

Your Irish friends are coming to stay with you for three days. They would like 

your advice about what they should do during their stay. Plan the arrangements, give 

details and explain your choice. Focus on their arrival, accommodation, cultural and 

free time activities, shopping and other details. 

Now complete the sample answer below with the expressions mat!h the 

beginnings 1-8 to the endings A-H to make them correct. 

1. Are you sure it 

2. How about 

3. Well, I haven’t thought 

4. I think 

5. That’s exactly 

6. The thing  

7. What will you 

8. You’re 

A. about that before 

B. definitely right 

C. do if 

D. doing something 

E. is that 

F. what I wanted to say 

G. will be the right thing 

H. you should  

Teacher: Well, I can see your Irish friends are coming to stay with you for a 

couple of days. Where are you going to meet them? 

Student:  They are coming on Saturday so I think I will ask my dad to give me 

a lift to the airport and we’ll pick them up from there. 1________________ I am not 

sure if my dad is off work on Saturday, if not, we’ll take a cab. They are going to stay 

with me, so we’re going to drive straight to my flat so they can relax and take a 

shower. 

T.: What are you going to do during their stay here? 

S.: Well, on Saturday we could go dancing at my favourite club. It’s really nice 

and not very expensive, so I think that would be the best idea.  

T.: OK, but 2 ________________ they don’t like dancing? 
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S.: Right, 3________________. Maybe we could stay at home and have a quiet 

party there? We could watch some DVDs, or maybe order pizza and just have a chat. 

T.: Don’t you think that they would like to do something typical for your 

country? 

S.: 4________________! I think a dinner at a traditional restaurant is a must, so 

we should also do that, maybe on Sunday. 

T.: And what if your friends turn out to be culture vultures? 
5________________ organize some cultural activities as well. 

S.: 6________________. I am sure they would like to learn more about our 

culture. I think we could go sightseeing and visit the Fine Arts Museum.  

T.: 7 ________________ to do? Would they enjoy a visit to the museum? 

S.: Well, they may find the museum a bit boring. Perhaps I should suggest 

doing some shopping in this new shopping mall instead – they could buy some 

souvenirs for their Irish friends. 

T.: Good choice. 8 ________________ more activities? 

S.: If the weather is good we can go on a trip out of town and visit my uncle 

who has a farm in the countryside. 

T.: That sounds like a very good plan! 

 

Now, work with your partner. Do the task below and discuss the follow-up 

questions. 

Look at a list of things that are important while visiting a new city or country. 

Discuss their importance and choose the one that is the most important for you.  

– Transport; 

– accommodation;  

– cultural activities; 

– free time activities; 

– shopping; 

– sightseeing. 

Follow-up questions: 



388 
• Which is the best way to travel? 

• Who do you prefer to travel with? 

• What would you recommend to visit in your native town?  

• What is the best way to look around a city? Number these options in order 

(1-4). 

On your own ___ 

with a friend ___ 

with a group of friends ___ 

on a guided tour ____. 
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7. A"-) P. 4 4 4 6 6 7 7 37 0,37 
8. A"-- R. 4 4 4 5 5 7 7 36 0,36 
9. A"-0" O. 3 3 3 5 5 6 6 30 0,30 
10. Q(--" ;. 4 4 4 5 5 7 7 35 0,35 
11. P-"--" P. 3 3 3 5 5 6 6 31 0,31 
12. J$-- B. 3 3 3 5 5 6 6 30 0,30 
13. !1--" O. 3 3 3 5 5 7 7 33 0,33 
14. !5-0" A. 4 4 4 6 6 8 8 38 0,38 
A"-%1#"2<+/ 
&$-"6+1-1 

10 10 10 15 15 20 20 100 1 

"#$#%&'() *#% $+,-( ./ 4 – 482 
01+12'3) *#% $+,-( ./ 4 – 34,42 
01+12'3) 45163738'9 '#:;1'5!93 $+,-( ./ 4 – 0,34 
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=> 4  
1. L+-+ Q.! 36 0,36 
2. K5-0" @.! 33 0,33 
3. M$-'" P.! 34 0,34 
4. M$-+ L.! 29 0,29 
5. ;0-- N. 32 0,32 
6. O$-.< N. 36 0,36 
7. A"-) P. 35 0,35 
8. A"-- R. 34 0,34 
9. A"-0" O. 28 0,28 
10. Q(--" ;. 33 0,33 
11. P-"--" P. 29 0,29 
12. J$-- B. 28 0,28 
13. !1--" O. 31 0,31 
14. !5-0" A. 36 0,36 

A"-%1#"2<+1: &$-"6+1- 100 1 
"#$#%&'() *#% $+,-( ./ 4 – 454 
01+12'3) *#% $+,-( ./ 4 – 32,42 
01+12'3) 45163738'9 '#:;1'5!93 $+,-( ./ 4 – 0,32 
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<.2. <+9;*7%$%2 3.4*5+&43+126+,%$*7,":" 91.9; 

1. !"#$%&$%'()(*(++, '" %"#$-$)(-./, 01%2$02(++, 02"%+$3 45#-1 '" 0#/++, 

-$#&(+%50"'1 +(6+"++, #$01; 

2. 7$6&/6+"0"++, '" )$6)/6+(++, &),#18 '" +(&),#18 %')"'(9/:; 

3. ;+410/45"2<+1: 01=/) / 6"%'$%50"++, +":=/2<> (?(-'10+18 %')"'(9/: 5 @A; 

4. B/4&$0/4+/%'< 0*10"++, %')"'(9/: 4$ &(0+$3 %1'5"./3 42, 4$%,9+(++, 

-$#5+/-"'10+$3 #('1 %&/2-50"++,; 

5. ;+/./"'10+/%'< -$#5+/-"+'/0 6" 4$&$#$9$C -$#5+/-"'10+18 %')"'(9/:;  

6. 7/6+$#"+/'+/%'< 01-$)1%'"++, #$02(++D018 -2/>$0"+18 ?)"6 42, 

(?(-'10+$9$ %&/2-50"++,;  

7. E"%'$%50"++, %')"'(9/: &)1 0(4(+/ 4/"2$9/0 )/6+18 ?5+-./$+"2<+18 '1&/0. 

*F%/ ="21 =52$ 6"$-)592(+$ 4$ ./218. 

G 
6/& 

H1?) 
5I"%+1-" 

(-%&()1#(+'5 

J$-"6+1-1 6" -)1'()/,#1 
;4,":" %+4%; E"9"2<+1: 

="2 

!()(4+/: -$(?/./D+' 
+"0I(+$%'/ 

1 2 3 4 5 6 7 
=> 1 

1. K5-+ A. 7 7 7 11 11 15 15 74 0,74 
2. B"--$ L. 7 7 7 11 11 14 14 71 0,71 
3. B$--$ L. 7 7 7 11 11 14 14 72 0,72 
4. M5--$ L. 7 7 7 10 10 13 13 67 0,67 
5. @"-- N. 7 7 7 11 11 14 14 70 0,70 
6. O)"--$ P. 7 7 7 11 11 15 15 74 0,74 
7. A$-4 @. 7 7 7 11 11 15 15 73 0,73 
8. J$--" L. 7 7 7 11 11 14 14 72 0,72 
9. 7,-.< Q. 7 7 7 10 10 13 13 66 0,66 
10
. 

!5--$ L. 
7 7 7 11 11 14 14 

71 0,71 

11
. 

R"--$ S. 
7 7 7 10 10 13 13 

67 0,67 

12
. 

H"--$ O. 
7 7 7 10 10 13 13 

66 0,66 

A"-%1#"2<+/ 
&$-"6+1-1 

10 10 10 15 15 20 20 100 1 

"#$#%&'() *#% $+,-( ./ 1 – 843 
01+12'3) *#% $+,-( ./ 1 – 70,25 
01+12'3) 45163738'9 '#:;1'5!93 $+,-( ./ 1 – 0,70 
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=> 1  
1. K5-+ A. 75 0,75 
2. B"--$ L. 72 0,72 
3. B$--$ L. 75 0,75 
4. M5--$ L. 68 0,68 
5. @"-- N. 69 0,69 
6. O)"--$ P. 75 0,75 
7. A$-4 @. 76 0,76 
8. J$--" L. 77 0,77 
9. 7,-.< Q. 67 0,67 
10. !5--$ L. 72 0,72 
11. R"--$ S. 68 0,68 
12. H"--$ O. 67 0,67 

A"-%1#"2<+1: &$-"6+1- 100 1 
"#$#%&'() *#% $+,-( ./ 1 – 861 
01+12'3) *#% $+,-( ./ 1 – 71,75 
01+12'3) 45163738'9 '#:;1'5!93 $+,-( ./ 1–  0,72 

 

G 
6/& 

H1?) 
5I"%+1-" 

(-%&()1#(+'5 

J$-"6+1-1 6" -)1'()/,#1 
;4,":" %+4%; E"9"2<+1: 

="2 

!()(4+/: -$(?/./D+' 
+"0I(+$%'/ 

1 2 3 4 5 6 7 
=> 2 

1. L+-2 S.  8 8 8 12 12 16 16 81 0,81 
2. M2-+ R. 8 8 8 12 12 16 16 82 0,82 
3. @6-+ P. 8 8 8 11 11 15 15 76 0,76 
4. ;0--$ R. 8 8 8 12 12 16 16 80 0,80 
5. O"-0" P. 8 8 8 12 12 16 16 78 0,78 
6. A"-8" P. 8 8 8 13 13 17 17 84 0,84 
7. A"--$ ;. 8 8 8 12 12 16 16 79 0,79 
8. A(-- L. 8 8 8 12 12 16 16 81 0,81 
9. A$-+ !. 8 8 8 11 11 15 15 76 0,76 
10. P+-- P. 8 8 8 13 13 17 17 84 0,84 
11. P%-0" Q. 8 8 8 12 12 15 15 77 0,77 
12. J$-+" @. 8 8 8 11 11 15 15 76 0,76 
13. !"--" N. 8 8 8 12 12 16 16 82 0,82 
14. T1--" L. 8 8 8 12 12 15 15 77 0,77 
A"-%1#"2<+/ 
&$-"6+1-1 

10 10 10 15 15 20 20 100 1 

"#$#%&'() *#% $+,-( ./ 2 – 1113 
01+12'3) *#% $+,-( ./ 2 – 79,5 
01+12'3) 45163738'9 '#:;1'5!93 $+,-( ./ 2 – 0,80 

!
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=> 2 
1. L+-2 S.! 80 0,80 
2. M2-+ R.! 79 0,79 
3. @6-+ P.! 74 0,74 
4. ;0--$ R.! 78 0,78 
5. O"-0" P.! 74 0,74 
6. A"-8" P.! 84 0,84 
7. A"--$ ;.! 78 0,78 
8. A(-- L.! 79 0,79 
9. A$-+ !.! 73 0,73 
10. P+-- P.! 83 0,83 
11. P%-0" Q.! 76 0,76 
12. J$-+" @.! 74 0,74 
13. !"--" N.! 80 0,80 
14. T1--" L.! 75 0,75 

A"-%1#"2<+1: &$-"6+1- 100 1 
"#$#%&'() *#% $+,-( ./ 2 – 1087 
01+12'3) *#% $+,-( ./ 2 – 77,64 
01+12'3) 45163738'9 '#:;1'5!93 $+,-( ./ 2 – 0,78 

 

G 
6/& 

H1?) 
5I"%+1-" 

(-%&()1#(+'5 

J$-"6+1-1 6" -)1'()/,#1 
;4,":" %+4%; E"9"2<+1: 

="2 

!()(4+/: -$(?/./D+' 
+"0I(+$%'/ 

1 2 3 4 5 6 7 
=> 3 

1. K"-- ;. 8 8 8 12 12 16 16 81 0,81 
2. K/-I ;. 8 8 8 12 12 16 16 79 0,79 
3. @5-- 7. 8 8 8 12 12 17 17 83 0,83 
4. E5-- N. 9 9 9 13 13 17 17 87 0,87 
5. O"-- ;. 8 8 8 13 13 17 17 84 0,84 
6. O$--" ;. 9 9 9 13 13 17 17 85 0,85 
7. U"--$ L. 8 8 8 13 13 17 17 84 0,84 
8. Q(-0" L. 9 9 9 13 13 17 17 87 0,87 
9. Q/-0" P. 8 8 8 12 12 16 16 80 0,80 
10. !'--$ B. 8 8 8 12 12 16 16 79 0,79 
11. R)-+" N. 8 8 8 12 12 17 17 83 0,83 
12. V/-- P. 8 8 8 12 12 16 16 79 0,79 
A"-%1#"2<+/ 
&$-"6+1-1 

10 10 10 15 15 20 20 100 1 

"#$#%&'() *#% $+,-( ./ 3 – 991 
01+12'3) *#% $+,-( ./ 3 – 82,58 
01+12'3) 45163738'9 '#:;1'5!93 $+,-( ./ 3 – 0,83 
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=> 3  
1. K"-- ;.! 78 0,78 
2. K/-I ;.! 77 0,77 
3. @5-- 7.! 85 0,85 
4. E5-- N.! 81 0,81 
5. O"-- ;.! 83 0,83 
6. O$--" ;.! 82 0,82 
7. U"--$ L.! 85 0,85 
8. Q(-0" L.! 82 0,82 
9. Q/-0" P.! 77 0,77 
10. !'--$ B.! 78 0,78 
11. R)-+" N.! 77 0,77 
12. V/-- P.! 81 0,81 

A"-%1#"2<+1: &$-"6+1- 100 1 
"#$#%&'() *#% $+,-( ./ 3 – 966 
01+12'3) *#% $+,-( ./ 3 – 80,5 
01+12'3) 45163738'9 '#:;1'5!93 $+,-( ./ 3 – 0,81 

 

G 
6/& 

H1?) 
5I"%+1-" 

(-%&()1#(+'5 

J$-"6+1-1 6" -)1'()/,#1 
;4,":" %+4%; E"9"2<+1: 

="2 

!()(4+/: 
-$(?/./D+' 
+"0I(+$%'/ 1 2 3 4 5 6 7 

=> 4 
1. L+-+ Q. 8 8 8 12 12 16 16 79 0,79 
2. K5-0" @. 9 9 9 13 13 17 17 87 0,87 
3. M$-'" P. 8 8 8 12 12 16 16 78 0,78 
4. M$-+ L. 8 8 8 12 12 17 17 83 0,83 
5. ;0-- N. 9 9 9 13 13 17 17 85 0,85 
6. O$-.< N. 8 8 8 12 12 17 17 83 0,83 
7. A"-) P. 9 9 9 13 13 17 17 85 0,85 
8. A"-- R. 8 8 8 12 12 16 16 78 0,78 
9. A"-0" O. 8 8 8 13 13 17 17 84 0,84 
10. Q(--" ;. 8 8 8 12 12 15 15 77 0,77 
11. P-"--" P. 9 9 9 13 13 18 18 88 0,88 
12. J$-- B. 8 8 8 12 12 16 16 78 0,78 
13. !1--" O. 8 8 8 12 12 16 16 79 0,79 
14. !5-0" A. 8 8 8 13 13 17 17 84 0,84 
A"-%1#"2<+/ 
&$-"6+1-1 

10 10 10 15 15 20 20 100 1 

"#$#%&'() *#% $+,-( ./ 4 – 1148 
01+12'3) *#% $+,-( ./ 4 – 82 
01+12'3) 45163738'9 '#:;1'5!93 $+,-( ./ 4 – 0,82 

!
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=> 4  
1. L+-+ Q.! 83 0,83 
2. K5-0" @.! 86 0,86 
3. M$-'" P.! 83 0,83 
4. M$-+ L.! 85 0,85 
5. ;0-- N. 84 0,84 
6. O$-.< N. 88 0,88 
7. A"-) P. 87 0,87 
8. A"-- R. 79 0,79 
9. A"-0" O. 86 0,86 
10. Q(--" ;. 79 0,79 
11. P-"--" P. 89 0,89 
12. J$-- B. 79 0,79 
13. !1--" O. 88 0,88 
14. !5-0" A. 85 0,85 

A"-%1#"2<+1: &$-"6+1- 100 1 
"#$#%&'() *#% $+,-( ./ 4 – 1181 
01+12'3) *#% $+,-( ./ 4 – 84,35 
01+12'3) 45163738'9 '#:;1'5!93 $+,-( ./ 4 – 0,84 
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!"#$%"& @ 

AB!C(C@DB 0<C E0<CFEGBH <=IJKLDEDBA !M@=<DEGBN 
 

!"#$%"& @.1 

@0M@CO 0JFKBOEGBP I!CFJAEQE IE D=(CH !M@=<DEGBN 
 

01$R., ) 5&28 "3;S*.&")$,. !"#!$#% ,$;&"). 1+9;*7%$%2 #24+1%$R.T: 

1. M541#", N. J. (2012a). J"#’,'-1 42, ?$)#50"++, 5 #":=5'+/8 5I1'(2/0 

"+92/:%<-$3 #$01 +"0I"2<+$-%')"'(9/I+$3 -$#&('(+'+$%'/ 0 4/"2$9/I+$#5 

#$02(++/. <#,45:3 =#-(!4(. 01+3>: ?!(@5%5$3> 3 -12#$5$34#, 19, 81-84. 

2. M541#", N. J. (2013a). J/4%1%'(#" 0&)"0 42, ?$)#50"++, 5 #":=5'+/8 

5I1'(2/0 +"0I"2<+$-%')"'(9/I+$3 -$#&('(+'+$%'/ 5 &)$.(%/ +"0I"++, 

"+92$#$0+$9$ 4/"2$9/I+$9$ #$02(++,. A3!'(4 B(C:!&45$5 '#735'#%&'5$5 

%3'$:3!9(;'5$5 ,'3:1+!(919,. 01+3>: ?12#$5$34# 9# -!(@5%5$3>, 22, 80-89. 

3. M541#", N. J. (2013b). A$4(2< ?$)#50"++, 5 #":=5'+/8 5I1'(2/0 

+"0I"2<+$-%')"'(9/I+$3 -$#&('(+'+$%'/ 0 4/"2$9/I+$#5 #$02(++/. ?+5*%1D( 

!,;#!'5C -12#$5$3;'5C 5!:39(. 01+3>: ?12#$5$34# 3 -!(@5%5$3>, 41(6), 135-142. 

4. M541#", N. J. (2014a). P)9"+/6"./, (-%&()1#(+'"2<+$3 &()(0/)-1 

(?(-'10+$%'/ #('$41-1 ?$)#50"++, 5 #":=5'+/8 5I1'(2/0 +"0I"2<+$-

%')"'(9/I+$3 -$#&('(+'+$%'/ 0 &)$.(%/ +"0I"++, "+92$#$0+$9$ 4/"2$9/I+$9$ 

#$02(++,. ?+5*%1D( !,;#!'5C -12#$5$3;'5C 5!:39(. 01+3>: ?12#$5$34# 3 

-!(@5%5$3>, 46(7), 45-52. 

5. M541#", N. J. (2014b). !5I"%+/ 4$%2/4*(++, ?$)#50"++, 5 #":=5'+/8 

5I1'(2/0 "+92/:%<-$3 #$01 +"0I"2<+$-%')"'(9/I+$3 -$#&('(+'+$%'/ 0 

4/"2$9/I+$#5 #$02(++/. <#,45:3 =#-(!4( E1+'5-3%&!&45$5 '#735'#%&'5$5 

,'3:1+!(919, 3D1'3 A5%52(D(+# /'#9F4#. 01+3>: -12#$5$34#, 1, 126-132. 

6. M541#", N. J. (2017). B&)"01 42, ?$)#50"++, 5 #":=5'+/8 5I1'(2/0 

+"0I"2<+$-%')"'(9/I+$3 -$#&('(+'+$%'/ 0 &)$.(%/ +"0I"++, "+92$#$0+$9$ 

4/"2$9/I+$9$ #$02(++,. <#,45:() G,+'#% «H5%52() :;1'()», 2(42), 470-475. 

7. Gudyma, Y. P. (2013a). Teaching content of the English language teacher 

trainees of learning strategic competence in the spoken interaction. Nauka i studia. 

Pedagogiczne nauki, 5(73), 59-67. 
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8. Gudyma, Y. P. (2013b). The Subsystem of Exercises of the Formation of 

Learning Strategic Competence in the Spoken Interaction. Nauka i studia. 

Pedagogiczne nauki, 39(107), 19-26. 

01$R., 5&. &!&'()!$! $%&!*+','-(. ,$;&"). 1+9;*7%$%2 #24+1%$R.T: 

9. M541#", N. J. (2012b). W'"&1 )$601'-5 +"0I"2<+$-%')"'(9/I+$3 

-$#&('(+'+$%'/ 0 &)$.(%/ +"0I"++, 4/"2$9/I+$9$ #$02(++,. B P. B. A"'0/D+-$ 

(M$2. )(4.), I4+#C'# 3 !:39: 23#%5$ D5: 9# 4,%&9,+. A"'()/"21 #/*+")$4+$3 

+"5-$0$-&)"-'1I+$3 -$+?()(+./3, 21-23 =()(6+, 2012 ). (%%. 468-470). O130, 

F-)"3+": B14"0+1I1: .(+') OQUF. 

10. M541#", N. J. (2012c). A('$41I+" -2"%1?/-"./, +"0I"2<+18 %')"'(9/: 

42, $&"+50"++, /+$6(#+$C #$0$C. B N. !. H(#>5I(+-$ (7(4.), 0,;#!'3 

-+5*%1D( $,D#'39#+(!9(4(: !:395$%>2'3 -5J,4(, 45D,'34#9(:'3 9# -12#$5$3;'3 

!9+#91$3C. E=/)+1- #"'()/"2/0 ;; B%(5-)"3+%<-$3 +"5-$0$-&)"-'1I+$3 -$+?()(+./3, 

6 9)54+, 2012 ). (%%. 248-249). 7/0+(, F-)"3+": 7; OFJ QLQ F-)"3+1. 

11. M541#", N. J. (2012d). J)$=2(#1 ?$)#50"++, 5 #":=5'+/8 5I1'(2/0 

"+92/:%<-$3 #$01 %')"'(9/I+$3 -$#&('(+'+$%'/ 5 4/"2$9/I+$#5 #$02(++/. B 

B. B. X5-$0%<-" / P. L. Y()+1> (7(4.), 0,;#!'3 '#-+>D4( %3'$:3!9(;'(@ 

25!%32G1'& D3G4,%&9,+'5C 45D,'34#73C 9# D1952(4( :(4%#2#''> 3'5=1D'(@ D5: 

(%%. 124-126). X1'$#1), F-)"3+": B14"0+1.'0$ X1'$#1)%<-$9$ 4()*"0+$9$ 

5+/0()%1'('5 /#(+/ ;0"+" V)"+-". 

12. M541#", N. J. (2013c). @(-2")"'10+/ '" &)$.(45)+/ 6+"++, ,- 

-$#&$+(+'1 +"0I"2<+$-%')"'(9/I+$3 -$#&('(+'+$%'/ 5 4/"2$9/I+$#5 #$02(++/ 

#":=5'+/8 5I1'(2/0 "+92/:%<-$3 #$01. B Q. J. B$2-$0" / P. K. R")+$&$2<%<-1: 

(B/4&. 6" 01&.), 0,;#!'# :(K# 5!:39#: -+5*%1D( 9# -1+!-149(:(. ; B%(5-)"3+%<-" 

-$+?()(+./, #$2$418 0I(+18 '" %'54(+'/0, 21 =()(6+, 2013 ). (%%. 29-33). 

@+/&)$&(')$0%<-, F-)"3+": @+/&)$&(')$0%<-1: 5+/0()%1'(' /#(+/ L2<?)(4" Q$=(2,. 

13. M541#", N. J. (2013d). A$02(++D0/ -2/>( ,- "%&(-' +"0I"++, 

-$#5+/-"'10+18 %')"'(9/: #":=5'+/8 5I1'(2/0 "+92/:%<-$3 #$01 5 4/"2$9/I+$#5 

#$02(++/. B P. B. A"'0/D+-$ (M$2. )(4.), I4+#C'# 3 !:39: 23#%5$ D5: 9# 4,%&9,+. 

A"'()/"21 #/*+")$4+$3 +"5-$0$-&)"-'1I+$3 -$+?()(+./3, 03-05 -0/'+, 2013 ). 

(%%. 525-527). O130, F-)"3+": B14"0+1I1: .(+') OQUF. 
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14. M541#", N. J. (2013e). 7$2< %$./"2<+$-"?(-'10+18 %')"'(9/: 5 

?$)#50"++/ 0 %'54(+'/0 #$0+18 %&(./"2<+$%'(: 4/"2$9/I+$9$ #$02(++,. B 

B. M. T/0"'1:, Q. L. H&"- / U. L. !$-$2$0%<-" (7(4.), L'5=1D'# D5:# 

-+561!3)'5$5 !-+>D,:#''> >4 !4%#25:# -32$595:4( 2(-%5D#93: 9# 6#@3:73: , 

!61+3 =5:'3J'3@ ='5!(' (%%. 100-102). O130, F-)"3+": @LF &)1 AE! F-)"3+1. 

15. M541#", N. J. (2014c). B1#$91 4$ 0&)"0 42, ?$)#50"++, 5 #":=5'+/8 

5I1'(2/0 +"0I"2<+$-%')"'(9/I+$3 -$#&('(+'+$%'/ 0 &)$.(%/ +"0I"++, 

"+92$#$0+$9$ 4/"2$9/I+$9$ #$02(++,. B P. B. A"'0/D+-$ (M$2. )(4.), I4+#C'# 3 

!:39: 23#%5$ D5: 9# 4,%&9,+. A"'()/"21 #/*+")$4+$3 +"5-$0$-&)"-'1I+$3 

-$+?()(+./3, 19-21 =()(6+, 2014 ). (%%. 549-551). O130, F-)"3+": B14"0+1I1: 

.(+') OQUF. 

16. M541#", N. J. (2014d). O$9+/'10+/ %')"'(9/3 ,- -$#&$+(+' +"0I"2<+$-

%')"'(9/I+$3 -$#&('(+'+$%'/ 0 "+92$#$0+$#5 4/"2$9/I+$#5 #$02(++/ #":=5'+/8 

5I1'(2/0. B M. L. R5)I1+$0", P. P. S)(#(+-$-M"%C- / A. P. H5'$0" (F-2"4.), 

<5:3 45'71-73C :(4%#2#''> 3'5=1D'5C D5:( : !:39%3 !,;#!'(@ :(D5$. A"'()/"21 

#/*+")$4+$3 +"5-$0$-#('$41I+$3 -$+?()(+./3, 5 21%'$&"4" 2014 ). (%%. 33-55). 
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H3G'#+52'3 '#,45:5--+#49(;'3 45'61+1'73C:  

– F-)"3+" / %0/': 4/"2$9 #$0 '" -52<'5) (O130%<-1: +"./$+"2<+1: 

2/+90/%'1I+1: 5+/0()%1'(', 21-23.03.2012 ).; 03.-05.04.2013 ).; 19-21.03.0214 ).; 

1-3.04.2015 )., $I+" ?$)#" 5I"%'/);  

– VI A/*+")$4+" +"5-$0$-&)"-'1I+" -$+?()(+./, «;+$6(#+" #$0" 

&)$?(%/:+$9$ %&),#50"++, ,- %-2"4$0" &/49$'$0-1 41&2$#"'/0 '" ?"8/0./0 5 

%?()/ 6$0+/>+/8 0/4+$%1+» (#. O130, @1&2$#"'1I+" "-"4(#/, F-)"3+1 &)1 AE! 

F-)"3+1, 31.05.2013 )., $I+" ?$)#" 5I"%'/);  

– Global English – Global Decisions. XVIII TESOL – Ukraine National 

Conference (!(0"%'$&$2<%<-1: /+%'1'5' ="+-/0%<-$3 %&)"01 F-)"3+%<-$3 "-"4(#/3 

="+-/0%<-$3 %&)"01 Q"./$+"2<+$9$ ="+-5 F-)"3+1, 12-13.04.2013 )., $I+" ?$)#" 

5I"%'/);  

– «Q$0/ -$+.(&./3 01-2"4"++, /+$6(#+$3 #$01 0 %0/'2/ %5I"%+18 01#$9» (#. 

O130, Q"./$+"2<+1: &(4"9$9/I+1: 5+/0()%1'(' /#(+/ A. J. @)"9$#"+$0", 

5.11.2014 )., $I+" ?$)#" 5I"%'/);  

– III International Scientific and Practical Conference «Modern Methodology 

of Science and Education» (Scientific and Educational Consulting Group “WORLD 

SCIENCE», Dubai, UAE, 31. 05.2017, 6"$I+" ?$)#" 5I"%'/);  
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A!1,4+#C'!&43 9# +1$35'#%&'3 45'61+1'73C: 

– !5I"%+/ +"&),#-1 2/+90/%'1I+18 4$%2/4*(+< #/*-52<'5)+$3 -$#5+/-"./3 

'" #('$41-1 01-2"4"++, /+$6(#+18 #$0 (X1'$#1)%<-1: 4()*"0+1: 5+/0()%1'(' 

/#(+/ ;0"+" V)"+-", 24.02.2012 )., $I+" ?$)#" 5I"%'/);  

– «!5I"%+/ &)$=2(#1 95#"+/'")1%'1-1: %0/'$92,4+/ &$>5-1, 

-$#5+/-"'10+/ '" &(4"9$9/I+/ %')"'(9/3» (#. 7/0+(, Q"./$+"2<+" "-"4(#/, +"5- 

F-)"3+1 O130%<-1: 5+/0()%1'(' &)"0" 7/0+(+%<-1: /+%'1'5', 6.12.2012 )., $I+" 

?$)#" 5I"%'/);  

– «!5I"%+" 01[" $%0/'": &)$=2(#1 '" &()%&(-'101» (@+/&)$&(')$0%<-1: 

5+/0()%1'(' /#(+/ L2<?)(4" Q$=(2,, 21.03.2013 )., $I+" ?$)#" 5I"%'/). 
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